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o [56501]-2001
S.Y. B.A. EXAMINATION, 2019
COMPULSORY ENGLISH
(2013 PATTERN)
(Text Prescribed : Literary Landscapes)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) () How did Gandhiji try to imitate the English Gentleman’s

lifestyle ?

(i1) Write a note on Phatik’s mischievous life in the village.

(B) () What traits of the son of Hazlitt do you get from his
letter to his son ?

(ii) How, according to Shashi Tharoor, are freedom of the

press and democracy essential for progress ?

2. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]
(A) () What is the central idea of the poem ‘The Quality of
Mercy’ ?

(i1) Describe the village schoolmaster in your own words.
(B) () How does William Wordsworth get influenced by the solitary
reaper’s song ?

(i) Discuss ‘O Captain ! My Captain ! as an elegy.

P.T.O.



Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A)

(B)

about 150

(A)

(B)
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(2)

(i7)

(2)

(11)

(2)

(i1)

(2)

(i1)

Attempt a character sketch of Rosemary Fell.

How does Behrman save the life of Johnsy in the story
‘The Last Leaf ?

Write a note on Kalpana Chawala’s efforts to become
a successful astronaut.

Comment on the use of humour and irony in ‘My Lost

Dollar’.

Attempt any one from (A) and one from (B) of the following in

words each : [16]
How does Masefield urge us to be cheerful in his poem
‘Laugh and Be Merry ?

How does the poet celebrate the spirit and endurance
of the Blacks in ‘Still I Rise’ ?

Describe the inhuman treatment that society gives to
women as depicted in ‘Another Woman’.

How does Kamala Das express her personal feelings in

the poem ‘My Grandmother’s House’ ?



5. (A) Attempt any six of the following : [6]

(1)

(2)

3)

(4)

(5)

(6)

(7)

(8)
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I am a doctor.

(Change into a negative sentence)

Turn the car.

(Change into a negative sentence)

The weather has improved.

(Rewrite the sentence adding a question tag)

They were going to the lake.

(Rewrite the sentence adding a question tag)

Cynthia looked pretty in the green dress, isn’t it ?
(Correct the sentence)

Kripa will stay in a hotel. Kripa will stay with friends

in the city.

(Combine the sentence using appropriate coordinating
conjunction)

All the flights have been cancelled owing to the bad weather.
(Identify whether it is simple, compound or complex
sentence)

Having finished work for the day, we left the office.

(Change into compound sentence)

3 P.T.O.



(B)
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Attempt any two of the following : [10]

(2)
(it)

(ii1)

Write a paragraph on ‘Advantages of Vegetarianism’.
Write a brief report on the Blood Donation Camp organized
in your college.

Imagine that you come across an advertisement in a
newspaper for the post of Assistant Manager. You

wish to apply for the post. Write a letter of

application.
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(1) Advertisement

(2) Basic pay
(3) Cheque
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(4) Daily allowance
(5) Editor

(6) Fine

(7)  Golden Jubilee
(8) Honorary

(9) Job

(10) Protocol

(11) Registration
(12) Magazine

(13) Text-book

(14) University

(1)

(2)
(3)
(4)

(5)
(6)
(7)

@loiiciieh] hI0CARl e 9=l S Tl 20 vseiqdd fasr : [10]
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(4)
(5)
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J&®h Tedia Wkl U SR 300 veaddd femr ;00 [24]
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(1) ‘wfed’ FRedd I Afeien ykees H.

(2) Y WA 9 ®iwU A=A gudir wRo forl

4. TEAds! YO TRRE SR TRl UTE W 150 veudd foe

[20]
() (1) ‘TeHYR’ ARHd STWUERT ddAdasdeal Ihifdedl ol
feter.
(2) ‘49 dedd die Td 9U qEEEl 9 o% 4 HIEH  AmEEid
gfaared TIse &
(@) (1) ‘Efaeg QU HIOEET eSOl WUl Wik A faummEn
WYY =L

(2) ‘wfEq’ FREAUdd ST Yhom=El 9igwR ==l .

5. Wiicis! &% TR Wkl Yee S 300 v=iadd fawt ;0 [30]
() (1) ‘TFemyrR’ AR oF fUeaidial genie Wey dfaw) fovre &
(2) ‘euure’ Wt S UEmEl UiEd hed @
() (1) ‘wfey’ FRaiqd Iufed, dfeads=t @ AU 9% G A HIM
JhR I@ee 3TRd ?

(2) 'wEN FREIAA U@ AfFREE W S
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S.Y. B.A. EXAMINATION, 2019
FRENCH (GENERAL) G-2
(Language Skills)
(2013 PATTERN)
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(Text : Jumelage)

Q.1] A) Traduisez le texte suivant en anglais: (10)

Interrogés sur leur avenir personnel, les jeunes répondants sont preés des deux tiers a se déclarer
plutdt ou trés optimistes. En revanche, le regard qu'ils portent sur le destin de leur génération est
extrémement sombre. Vingt ans n'est pas le plus bel age de la vie, pensent-ils majoritairement
(51 %). Les mots-clés librement choisis pour définir leur génération sont surprenants :

« sacrifiée », «perdue ». Et encore : « Gen Y », « Internet », « connectée », « dégus»
«malheureux », « difficile »...

« Autant sacrifiée” est un terme qui a pu étre remarqué par le discours des médias, analysent
Cécile Van de Velde et Camille Peugny, « autant perdue » semble un choix spontané.

B) Traduisez le texte suivant en francais. : (10)

Jacqueline is doing her graduation. She is interested more in sports. Hence she studies rarely and
not seriously. Her parents are worried about her future. They speak to her patiently and advise her
how to behave. But there is no change in her behavior. They are thinking of taking her to the
counselor. It is necessary that she studies seriously. It is very important for her to improve her
marks and change her attitude. Everyone is helping her but unfortunately she lacks the maturity.
Life is hard without regular efforts.

Q.2] Répondez aux questions suivantes en 50 -60 mots : (3 au choix) [15]
1. Quels sont les avantages et les inconvénients de la famille conjointe ?
2. Quelles sont les nouvelles tendances dans le domaine du tourisme ?
3. Les sorties sont importantes pour I’équilibre mental. Justifiez votre réponse.
4. Selon vous, quel rdle joue le sport dans notre vie?

5. Mobiliser d’une ville a I’autre pour enrichir, qu’en pensez — vous ?

P.T.O.



Q.3] A)Traitez UN de sujets suivants : ‘ [10]
Rédigez un dialogue entre deux ami(e)s parlant de leur randonnée dans la montagne, il y a un an.
(019}
Rédigez une composition en 100 mots sur << pour ou contre les jeux vidéos >>
B) Préparez une affiche d’un club de musique avec ses activités. [5]
Q.4] La grammaire et le vocabulaire : [30]
a)Mettez les verbes suivants aux temps qui conviennent. (5)

(PR-Passe récent FP-Futur proche F-Futur)

Guillaume et moi ( finir-PR) nos études de psychologie. Nous

(vouloir-F) voyager avant de travailler. Alors nous (prendre-FP) une année
sabbatique.

Dans six mois, Guillaume (obtenir-F) son boulot préféré et il (ne pas

avoir-F) de temps a voyager pendant une telle période.

b)Mettez les verbes suivants au passé simple : )
1. Nous__ (passer) les vacances en Provence.
2. LesRomains  (étre) plus puissants que les Gaulois.
c¢) Remplacez les mots soulignés par les pronoms qui conviennent. 3)

1. Henri ne donne pas le stylo a Marec.
2. Elle boit de I’eau.
3. Cette boutique est tres chere mais cette boutique-1a est moins chere.

d) Mettez les pronoms relatifs : simple ou composé : (4)

1. Nantes est une ville vous séduit immédiatement.
2. L’entreprise travaillait ton grand-pére existe toujours. Aujourd’hui, ¢’est Unilux.
3. Les enfants me posent des questions J’ai posé a mon pere quand j’étais petit.
4. Allons au restaurant chinois se trouve le cinéma Rex.
¢) Mettez les verbes entre parenthése au subjonctif ou a I’indicatif : 4)
1. Je garderai les enfants pourque vous __ (pouvoir) aller au cinéma.
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2. Il pratique le yoga parce que il (avoir) mal au dos.
3. Elle doit rentrer chez elle avant que son mari ne (venir) a la maison.
4. Le garcon met des assiettes si bien qu’elles (ne pas casser).

f) Mettez les verbes entre parenthése au conditionnel : 2)
1. Sivousavez de I’argent, la vie (&tre) facile.
2. Si M. Lamartine avait visité cette ville, on (I’accueillir) chez nous.
g) Mettez les phrases suivantes a la voix passive : (2)
1. Un marchand d’ceuvres d’art avait acheté une esquisse de Picasso.

2. On varenouveler son contrat.

h) Complétez les phrases suivantes avec les expressions entre parenthéses : (avant de,

avant, aprés avoir / étre) 3)
1. Tu dois laver tes mains manger.
2. devenu membre de ce club, on aura I’occasion de voyager en France.
3. I’examen, il faut bien préparer.

i) Dites autrement : 2)

1. Boite de nuit :

2. Lekiné:
j) Reliez les colonnes :  (3)
A B
1 L’Inde a fait un essai nucléaire,sans que Il y ait une guerre nucléaire
2 | Aucun pays ne déclarait qu’il possede la Les pays ont signé les traités pour
bombe nucléaire, de peur que s’abstenir de I’utiliser pendant la guerre.
3 | Tout le monde vit sous une terreur bien le monde le sache.

que

Les pays soient membres de RCTM
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S.Y. B.A. EXAMINATION, 2019
FRENCH (SPECIAL) S-1
FRANCE IN THE WORLD
La France Dans Le Monde
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

Q1A) Donnez les dates qui correspondent aux événements suivants: [6]
1) La Journée de I'EU est fétée le
2) est une célébre entreprise agroalimentaire dont la marque se trouve en Inde.
3) Christophe Colombe a découvert I'Amérique en .
4)En __, le géographe frangais Reclus a inventé le terme <<la francophonie>>.
5) L'Euro est mis en circulation le
6) La Déclaration des Droits de 'Homme et des Citoyens a été rédigée en

B) Complétez (4 au choix) (4]
1) L'hymne européen de 1'Union Européenne est la neuviéme symphonie de .
2) Le Cour de la Justice de L'Union Européenne se trouve a
3) La nouvelle secrétaire générale de la Francophonie s'appelle

4) est le dernier roi de la France,
5) et sont les deux chambres du Parlement frangais.
C) Dites vrai ou faux (4]

1) Xénophobie veut dire la peur des juifs.

2) Laicité veut dire laséparation dans I'Etat, de la société civile et la société religieuse.
3) Les clandestins ont les papiers nécessaires pour résider dans un pays.

4) Le drapeau OIF créé en 1987 représente les cinq continents.

D) Expliquez en frangais simple (5 au choix) [10]

1) Que veut dire le terme " Frangais de souche"?

2) Expliquez le secteur tertiaire de France.

3) Expliquez le drapeau de 1'Union Européenne et sa signification.

4) Expliquez le mouvement de la Renaissance.

5) Que veut dire pour vous, le terme "La pauvreté"

6) Qui est un chdmeur? Comment peut-on expliquer le concept de chémage? Quels sont
les causes et les conséquences du chomage.

P.T.O.



Q2) Expliquez en bref (3 au choix) [30]
1) ANPE/ SDF/RMI/SMIC
2) La Premiere Guerre Mondiale.
3) I'espace Schengen et la zone euro.
4) Qu'est ce que I’OIF et a quoi sert-elle? Quelle est sa mission?
5) L'économie de France-un apergu.

Q3) Répondez en détail. (2 au choix) [26]

1) Pourquoi 1'Union Européenne a- t- elle était créée? Expliquez a travers les
différentes étapes, les traités, 'objectif et les symboles variés.

2) L'Immigration: expliquez le terme. Quelles sont les raisons des migrations? Quels
sont les problémes associés a l'immigration, et a I'intégration.

3) La France est une république constitutionnelle parlementaire a régime présidentiel.
Expliquez le systéme politique frangais.

4) Les causes et les conséquences de la Révolution frangaise.
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S.Y. B.A. EXAMINATION, 2019
FRENCH (SPECIAL) S-2
(Business French/French Literature)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
Q1) A) Traduisez en anglais [10]
L'arrivée de l'informatique a partir des années quatre-vingt a bouleversé beaucoup de métiers
et l'organisation du monde de travail. D'une part, 'emploi a augmenté dans les secteurs liés
aux nouvelles technologies, avec des conséquences majeures : l'apparition de nouveaux
métiers(webmestre, concepteur et animateur de sites informatiques par exemple) et la
difficulté, pour les personnes moins qualifiés, a trouvé le travail dans le secteur tertiaire.
D'autre part, la possibilit¢ de travailler a distance et de fagon autonome, a changé les
entreprises. Aujourd’hui, en France presque 450.000 salariés travaillent chez eux sur leur
ordinateur.

B) Traduisez en francais. [10]

In 1999, I was in France for my first 14* July. I had arrived in Paris 15 days before and
had been trying to find a job in order to remain in France for a year. But, being young and
naive, I had arrived without a visa of long duration, believing apparently that all would be in
order like magic. At the end of two weeks, I had neither a job nor much money and evidently
less of hope. But, when I heard the explosions of the fireworks, and I saw the beautiful
illumination in the sky, I felt better and all my doubts disappeared.

Q2) [10]

Destinataire:
M. Pierre LEGRAND(06 28 67 99 01 33)
Date: 4MAl  Heure: 8h30

En votre absence
Mme Marie DUPONT
Société: PHOSPHORE
Tel: 06 31 56 08 25 66

D est venu ‘ ' voudrait un entretien
@atéléphoné [:] rappeler D urgent

obj: SOUhaite parler a propos de rendez-vous le 5 mai
a 16h30 dans son entreprise. Elle voudrait reporter
le RV pour samedi, la semaine prochaine a méme
heure a cause d'un empéchement. Elle voudrait
discuter le projet demain au téléphone. Merci de
bien lui joindre au téléphone PTO.




Véronique , la secrétaire de M Legrand n'arrive pas a lui transmettre le message. Donc,
elle décide de laisser le message sur le répondeur.
a)Rédigez le message sur le répondeur de M Legrand.
b) reconfirmer sur le répondeur de Mme Dupont.
(2 messages a rédiger. N'oubliez pas d' écrire les numéros de téléphone et le nom
de la personne )

Q3) Vous(PDG) recevez une délégation dans votre entreprise. Vous voulez clore une  [15]
collaboration avec eux. Vous présentez votre entreprise. Vous leur expliquez
l'organigramme-le fonctionnement des sections de votre entreprise, leurs rdles,
les services/les produits, le chiffre d'affaires, l'effectif, les codes et les réglements
de 'entreprise. Rédigez un dialogue.

Q4) a) Répondez i cette annonce donnée ci-dessous. 120]
Vous créez votre propre CV (imaginez le parcours)
et
b) vous écrivez une lettre de motivation qui répond a cet offre d'emploi.

STS
Leader mondial des séjours linguistiques
recherche
STAGIAIRE
(pour développer/gérer les séjours des étudiants étrangers)

préférence: titulaire d'un diplome/excellent connaissance de I'anglais / maitrise de Ms Office
prét/e a apprendre et a se déplacer en mission
Adresser CV manuscrit, et prétentions a

www .sts-ecoles.com tel: Annie LEROUX-01 40 03 15 23.

Q5) A) Associez

1) les candidats n’ont pas été recrutés.

2)  les emploés continueront la gréve.

3) 1Ils ont réussi a fixer un rendez-vous.

4)  Nousirons a Madrid pour visiter notre filiale.
a) bien que leursentretiens sesoient bien passés.
b) méme s’ils obtiennent une légére augmentation salariale.
c¢) Dbien qu’on prévoie des gréves de transport.
d) malgré leur agenda chargg.

B) Expliquer les termes suivantes

1)  entreprise

2)  vedette

3) expéditeur

4)  annuaire

5) SMIC

6) salarie NET
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Total No. of Frages—4] [Total No. of Printed Pages—3

Seat

No. [5501]-2008

S.Y. B.A. EXAMINATION, 2019
GERMAN
General Paper II
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Note :— All questions are compulsory.
10 marks are for Listening Comprehension and 10 marks for
Oral exam.
Use of dictionary is allowed.

Frage I: Ubersetzen Sie. [10]
(A) Ubersetzen Sie ins Englische oder Marathi! (05)

Herbert Pensler fragt: ,,Ich habe oft Halsschmerzen, und dann nehme ich immer ein
Penizillin. Ich will aber kein Penizillin nehmen. Was soll ich tun?*
Doktor Braun antwortet: ,,Sie wollen keine Antibiotika nehmen, das verstehe ich.
Seien Sie dann aber vorsichtig! Gehen Sie nicht oft schwimmen, trinken Sie Tee.
Sie konnen auch ein Medikament aus Pflanzen kaufen, zum Beispiel ,Echinacea“.
Das bekommen Sie bestimmt ohne Verschreibung in der Apotheke.*

(B) Ubersetzen Sie ins Deutsche. (05)
There are three main meals in Germany, breakfast, lunch and dinner. The breakfast
and the dinner are mostly cold meals, but the lunch is a warm meal. Some
Germans cook at home in the afternoons. Many of the Germans who work, only
get time to cook in the evenings.

Frage II: Beantworten Sie FUNF der folgenden Fragen. [10]
1. Wozu benutzen Sie Ihr Handy?

Sie suchen eine Wohnung. Was ist fiir Sie bei der Wohnungssuche am wichtigsten?

Beschreiben Sie das Schulsystem in Deutschland.

Ihre deutsche Brieffreundin wiirde gerne nach Indien fahren. Wann ist die beste Relsezelt

und wie ist das Wetter?

Warum kaufte die Redakteurin Elke Widder einen Heimtrainer?

Beschreiben Sie die Merkmale der Konkreten Poesie?

Analysieren Sie das Gedicht ,,empfindungsworter!

Wie und durch welche Grammatikeinheit beschreibt der Dichter die Lage der heutigen

Gesellschaft in dem Gedicht , fiir Sorge*?

9. Fassen Sie den Inhalt des Gedichts ,,Erziechung* zusammen!

B

i S

P.T.O.



Frage III: Grammatik und Wortschatz [30]

(A)Bilden Sie Nebensiitze. (Nur 3) (03)
(weil, wenn, dass, um...zu, zu + Infinitiv, damit)
1. Klaus soll regelméBig Sport treiben. Dann kann er fit bleiben.
2. Familie Miiller ist nach Frankfurt umgezogen. Frau Miiller hat in Frankfurt eine neue
Stelle gefunden.
3. Es werden bald MaBnahmen getroffen. Die Lage verbessert sich .
4. Lena und Hans heiraten bald. Ich finde es einfach super.
5. Meine Freundin macht Uberstunden. Sie will ihr eigenes Auto kaufen.

(B) Ergiinzen Sie die Adjektive (im Komparativ und Superlativ). (Nur 3) (03)
(gut, gern, billig, schon)
1. Julia Roberts ist die Schauspielerin der Welt.
2. Maria trinkt Rotwein.
3. Das Volkswagen Polo ist als das Volkswagen Beetle.
4. Der Film war doch , als ich gedacht habe.
(C) Welche Priiposition passt? (Nur 3) (03)
1. Wir interessieren uns den deutschen Film.
2. Die Polizei hat sich dem Fall erkundigt.
3. Ich freue mich sehr deinen Besuch im Oktober.
4 Die Reisenden warten den Zug.
(D) Schreiben Sie die Sitze im Priteritum. (Nur 4) (04)

1. Wir helfen einander immer.
2. Die Einladung meiner Chefin freut mich.
3. Das Miédchen steigt aus dem Bus aus.
4. Der Kranke muss drei Tage im Bett bleiben.
5. Im Sommer fliegt er nach Japan.
(E) Bilden Sie Relativsitze. (Nur 4) (04)
1. Die Englénderin trigt ein Abendkleid. Jochen fotografiert sie.
2. Das ist der Automechaniker. Seine Tochter sind vier und sechs Jahre alt.
3. Das Médchen heift Steffi. Ich habe ihr gerade gewinkt.
4. Anitas Freunde sind wirklich nett. Sie kommen alle aus Frankreich.
5. Wo sind die Zeitungen? Die Quittung liegt auf den Zeitungen.
(F) Bilden Sie den Konjunktiv II. (Nur 4) (04)
1. Der Kleiderschrank ist zu teuer. (Wunschsatz)
2. Ich habe Gefliigel. Ich fliege wie ein Vogel. (Bedingungssatz)
3. Sie sollen bitte morgen meine Glédser mitbringen. (Hoéfliche Bitte)
4. Georg trinkt zu viel Alkohol. (Wunschsatz)
5. Ich brauche Hilfe von Thnen. (Hofliche Bitte)
(G)Was passt nicht? ( Nur 3) (03)
1. Gliick ---- einen Mechaniker ---- die Polizei ---- Hilfe : holen
2. einen Umweg ---- ein Examen ---- einen Beruf ---- einen Job : machen
3. Kartoffeln ---- Zwiebeln ----- Gurken ---- Salat ---- Erbsen : schiilen
4. Brot ---- Schinken ---- Sahne ---- Kuchen ---- Kartoffeln : schneiden
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(H)Ergiinzen Sie das richtige Wort. (Nur 3) (03)

1. Sie‘mdchte einen Spaziergang machen. Das bedeutet, sie hat .

einen Spaziergang zu machen.
2. Erverdient genug. Das bedeutet, er hat ein gutes
3. Im Sommer fahren viele Deutsche an den Bodensee. Der Bodensee ist ein sehr bekanntes
in Deutschland.

4, Das Friihstiick, das Mittagessen und das Abendessen sind die drei .
(I) Bilden Sie das Passiv. (Nur3) (03)

1. Die Firma lieferte dic Waren rechtzeitig.

2. Die Regierung hat die Grenze gedffnet.

3. Alle feiern bis spét in die Nacht.

4, Mein Vater repariert den Schreibtisch.

Frage IV: Lesen Sie den folgenden Text und beantworten Sie die Fragen. [10]

In der Nacht zum 6. Dezember stellen die Kinder ihre Stiefel vor die Haustiir. Sie hoffen, dass
sie am néchsten Tag ein Geschenk vom Nikolaus darin finden: Schokoladen, Apfel, Orangen,
Niisse, Bonbons. Wer ist dieser Nikolaus? Im 4. Jahrhundert lebte in Kleinasien ein Mann mit
diesem Namen. Er war Bischof und tat viel Gutes. Er half den Menschen und besonders den
Kindern. Die Leute achteten ihn sehr hoch. Seine Taten wurden in den Kirchen erzihlt. Auch in
Deutschland hérte man vom Nikolaus. Er wurde populédr. In den verschiedenen Regionen
Deutschlands entstanden unterschiedliche Nikolausbréuche.

Der Nikolaustag ist tiberall kurz vor Weihnachten. Oft am 6. Dezember. Der Nikolaus erscheint
dann in einem Bischofsgewand. Das ist meist ein roter Mantel. Er hat auch immer einen langen
weiBen Bart. Oft trigt er den Bischofsstab. In Osterreich und Bayern wird er von seinem Knecht
Ruprecht begleitet. Der trdgt den Sack mit den Geschenken. In der Schweiz trégt ein Esel den
Sack. Der Nikolaus poltert an der Haustlir. Die Kinder singen ein Lied oder sagen einen Spruch
auf. Der Nikolaus 6ffnet dann ein grofles Buch. Er tadelt die Kinder oder lobt sie. Die bdsen
Kinder erhalten eine Rute, die lieben Kinder Siiigkeiten.

In der Familie ist der Nikolaus meist ein verkleideter Verwandter. In den Schulen und
Kindergérten spielt oft der Hausmeister den Nikolaus. In den Warenhéusern sind es Studenten
oder Rentner, die sich etwas Geld verdienen wollen.

(A) Beantworten Sie die folgenden Fragen. (06)
1. Wie entstanden Nikolausbrduche?
2. Wie sieht der Nikolaus aus?
3. Was sagt der Nikolaus den Kindern? Was gibt er ihnen?

(B) Richtig oder falsch? (02)
1. Im 4. Jahrhundert lebte wirklich ein Bischof namens Nikolaus.
2. Der Nikolaus dgerte immer die Menschen und Kinder.
3. Alle Kinder werden von dem Nikolaus gelobt.
4, Ein Familienmitglied spielt oft den Nikolaus fiir die Kinder der Familie. -

(C)Suchen Sie Synonyme im Text. (02)
1. respektieren
2. Sitten
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Seat

No. [5501]-2009

S.Y. B.A. EXAMINATION, 2019
GERMAN
Special Paper I
(History and Literature in 20th Century)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Note :— All questions are compulsory.

Frage I: A)Ergiinzen Sie! (Nur 10) [10]

1. Der Konflikt zwischen den Westméachten und der Sowjetunion entbrannte {iber das
besiegte Land wegen Unterschiede.

2. Am wurde eine Mauer zwischen Ost- und Westberlin gebaut.

3. Im Mai 1945 waren auf deutschem Boden nur noch Ruinen zu sehen. Deutschland litt
unter und .

4. Willy Brandt, der von 1969-1974, fiihrte eine , wodurch
ein Dialog zwischen Ost- und Westdeutschland begann.

5. In den 50er Jahren erlebte die einen raschen wirtschaftlichen
Aufschwung aud Grund des Marschall-Plans.

6. Die APO und die Studentenbewegung waren gegen die von 1968.

7. Michael Gorbatschow war der Generalsekretér der .

8. Nachdem die beiden Staaten am 3. Oktober wiedervereinigt wurden, hat das vereinigte
Land den Namen, die , die , die und das
Wirtschaftssystem der Bundesrepublik bzw. Westdeutschlands tibernommen.

9. Das Positive an der freien Marktwirtschaft ist, dass allen Biirgern jetzt
erméglicht wurde. '

B) Ordnen Sie bitte zu! [06]
a. 17. Juni 1953 1. Internationale Pressekonferenz
b. 7. Oktober 1949 ii. Meinungsfreiheit
¢. Gunter Schabowski ii1. Die ersten freien Wahlen in der DDR
d. Glasnost iv. Reform-Ara
e. Die 70er Jahre v. Arbeiteraufstand
f. 8. Mirz 1990s vi. Griindung der DDR
Frage 1I: Beantworten Sie VIER der folgenden Fragen! [16]

1. In welchen Besatzungszonen wurde Deutschland eingeteilt?
P.T.O.



Was bedeutet die Berliner Blockade?

Welche Probleme gab es in der Erziehungssystem nach der Wende?

Warum spricht man von der Mauer in den Képfen?

Was bedeutet Wirtschaftswunder?

Wie war das Leben in der DDR in den 60er Jahren?

Wie kam es zu den Aufstinden gegen die sozialistischen Regierungen, z.B. in Polen,
Ungarn, CSSR u.a.?

8. Was bedeuten die ,,Zwei-plus-vier-Gespriche*?

No v R e

Frage III: A) Beantworten Sie VIER der folgenden Fragen! [16]
1. Welche Mittel benutzt eine Fabel, um eine Lehre zu vermitteln?

Vergleichen Sie die Genres Ode und Hymne!

Wie unterscheidet man Kurzepik von Groepik?
Was bedeutet ein Lyrisches Ich?

Was sind die Merkmale einer Schwank?

Wie unerscheidet sich eine Legende von einer Sage?
Was ist ein Lied?

Wie ist die Handlung in einem Drama?

O NS RN

B) Was bedeutet schongeistige Literatur? Welche Merkmale hat ein literarischer [08]
Text?
Oder
Welche Merkmale hat die Gattung Epik?

Frage IV: A) Beantworten Sie SECHS der folgenden Fragen! [24]
1. Was erzéhlt der Wolf Rotkdppchen? Warum?

Was belehrt uns die Fabel ,‘Die junge Schwalbe?

Warum kam der Rattenfinger wieder am 26. Juni nach Hammel?

Woriiber spricht ,die Stasi Ballade * von Wolf Biermann?

Woriiber und wie sprechen die zwei Ménner in dem Gedicht ,Gesprdch ?

Worum geht es in dem Gedicht ,Adieu Land‘ von Gabriele Eckart?

Worum geht es in der Kurzgeschichte ,Das Brot ‘ von Wolfgang Borchert?

Warum heif3t das Gedicht ,Markierung einer Wende ?

Wasflir eine Rolle spielt die Kiichenuhr in dem Leben des Protagonisten von der

XL E W

Kurzgeschichte ,Die Kiichenuhr?
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S.Y. B.A. EXAMINATION, 2019
GERMAN
S[l)ecial Paper 11
(Study of Culture and Literary Works)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Note :— All questions are compulsory.

Frage 1 [32]
A) Beantworten Sie zwei der folgenden Fragen ! (16)

1. Welche Rolle spielen die Kuscheltiere in dem Leben der Kinder aus dem Theaterstiick
,Max und Milli‘?

2. Woriiber streiten sich Max und Milli, wenn Milli von der Oma zuriickkommt? Fassen Sie
das Lied ,Oben und unten® zusammen!

3. Inwiefern schildert das Stlick ,die Kinderwelt* ?

4. Wie unterscheidet sich die Erziehungsweise von Max und Millis Mutter von der von
Peters Vater?

B ) Beantworten Sie vier der folgenden Fragen ! (16)
1. Warum will Max nicht schlafen ?
2. Wovor haben Max und Milli Angst ? Wie versuchen sie, diese Angst zu iiberwinden ?
3. Was sagt die Mutter, wenn sie erfihrt, dass Max Peter geholfen hat?
4. Charakterisieren Sie Peter!
5. Wie hat Thnen das Stiick gefallen? Was haben Sie dadurch mitbekommen/gelernt?
6. Wie versuchen die Kinder das verlorene Geld zuriickzubekommen? Was alles machen sie
dafiir?
Frage 2 [16]
A) Erginzen Sie ! (nur 8) (08)
1. Man darf nicht in normale Miilleimer werfen,
2. Der Bundesprésident von Deutschland wird fiir Jahre gewihlt,
3. Seit 2007 diirfen alle Osterreicher ab Jahren wihlen.
4. Offiziell heift die Schweizerische Eidgenossenschaft.
5. Die Osterreicher essen das Mittagessen lieber
6. Der ist das deutsche Parlament.
7. Frauenkirche mit zwei Tiirmen ist eine beriihmte Sehenswiirdigkeit in
8. In Deutschland schenken die Eltern ihrem Kind mit Stifigkeiten.
9. Die Berliner Mauer wurde am gestiirmt.
10. Wien liegt an dem Fluss '

P.T.O.



B) Ordnen Siezu! (08)

1. Vier Amtssprachen Osterreich

2. Konsens Rhein

3. Parlament Museum

4. Habsburgermonarchie Berlin

5. Loreley Die Schweiz

6. Checkpoint Charlie Wien

7. Einsteinhaus Eine Ubereinstimmung der Meinungen

8. Schloss Belvedere Bundestag
Frage 3 [32]
A) Beantworten Sie vier die Fragen ! (16)

1. Mit welchen Sprachproblemen werden die Migranten in Deutschland konfrontiert?
Erldutern Sie das anhand eines von [hnen gelesenen Gedichten?

Womit assoziert die Dichterin Ilse Kleberger den Sommer?

Was bedauert der Dichter Reinhard Mey in seinem Gedicht ,Poor Old Germany* ?

Was bedeutet Bioprodukte? Welche Rolle spielen sie in den DACH Léndern?

Wie wird die Beziehung zwischen Oliver und seinem Opa in der Geschichte ,Kein Platz
fiir Opa“ dargestellt ?

6. Was wird durch das Gedicht ,Autos Uberall‘ ausgedriickt ?

7. Fassen Sie das Gedicht ‘Herbstlied®* zusammen!

bl o

B) Schreiben Sie kurz iiber vier folgende Themen ! ‘ (16)

Wien

Hochdeutsch und Dialekte
Auszubildende

Bodensee _

Jahreszeiten in den DACH Léndern
Okologischer Fupabdruck

Das neue Familienleben in Deutschland

el A Sl ol
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S.Y. B.A. EXAMINATION, 2019
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S.Y. B.A. EXAMINATION, 2019
URDU
(General Paper II)
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N.B. :— (1) Attempt All questions.
(2) Figures to the left indicate full marks.
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S.Y. B.A. EXAMINATION, 2019
URDU
(Special Paper 1)
[History of Urdu Literature (Prose and Poetry)]
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Time : Three Hours Maximum Marks : 80

N.B. :— (1) Attempt All questions.
(2) Figures to the left indicate full marks.
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S.Y. B.A. EXAMINATION, 2019
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N.B. :— (1) Attempt All questions.
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S.Y. B.A. EXAMINATION, 2019
HINDI GENERAL-2
(S am=r ww-2)
(FErl, ®A TE @)
(2013 PATTERN)
g : dF He quTish : 80
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el Eek  Ygayd
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1. f=fafem § & ffdl &1 ool & sw fafew . [16]

(1) ‘“‘eafag Tevfd iR ufad U9 1 SwH Udie §—'SEN whel o’
FEHl H YR W T HifWT |
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2, frAfafea & 4 f&=l & vl & s fafew . [16]
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feomd s=dt @ S €
Y o9 W gl

[5501]-2018 2



4., () feAfated # ¥ fodl w W fouof fafew [8]
(1) foR§ =t =
(2) ‘g ® qal T HEHl H IREA |
(3) ‘Hrw A’ hEHl HI ASHI
(a1) frfafea # @ fodt e w ool fafew (8]
(1) ‘Ug’ <hfadl w1 3eA|
(2) ‘A’ wfgar &1 wmEned |
(3) ‘S wferdi & @SE’ wfaar & IitE w1 Hrefdwa
5. (31) ffafed § 4 fFel o) I=-FH &1 1Y dae 9o § JEm
A [8]

(1) -39
(2) Tog-G<®
(3) AYh-3IThY

4) fea-g
(5) ¥g-9g
(6) efe-eel |

(am) fr=fafed & & fodt Wk foo@ @@ @ag@R &1 T dAOR
AN [8]
(1) ‘Ol ®RSYE’ & U@ FHR @M U HEThR |
2) ‘w0 A W R & Ged # AR ¥ TiemehRR |

[5501]-2018 3 P.T.O.



[56501]-2018
FUNCTIONAL HINDI

G2 : & : warrgees B (Sefeue)
I ;. dF He quTih : 80
oA :—() Wt g st ¥
(i) Tfedt ok fera o weai & Yo €1

1. frafafes § & &< 8 uwdl & S "aw § fafew [12]
1) wEergas & = g2
2) @A s # f& w1 w@m &y fem S ®2?
(3) fewu o1 I TR
(4) Yg@ SMEER WeE & 9 fafewd
(5) IO & UHE TSR DA T2
(6) fammgm wt SEvERAT F T ?
(7) Yed Tt d@E wI o9n RA T =T ?
(8) SfRT THER w1 Hed w1 T?
2. (1) frfafea # @ frdl o wmafe wgfaal & & ' fafew @ (8]
(1) Needful has been done.
(2) The proposal is quite in order.

3) A draft sanction letter is put up for approval.
(4) With respects.
(5) Matter is dropped.

(6) Action has already been taken in the matter.
(sm) famfafea @ @ fed = 9 qrraw & fet wafw
fafew . [8]

(1) Easy come easy go.
(2) To clear the air.
(3) Out of frying pan into the fire.

[5501]-2018 4



(®)

3. (39)

(am)

[5501]-2018

(4) Face turned flue.

(5) When there is a will there is a way.

(6) To have cold feet.

freafafed & 9 fodl 9R wss-gmi & Y odel ARl g H

RIS 8]

(1) <hed-<hcd

(2) -

(3) 3TUH-3THY

(4) <E-<wE

(5) RS-

(6) aRoTH-afEHTT |

frafafead & @ fedt ek o9 &1 TY@ @R FINT [5]

(1) s+t e foe, ¥R f9. g0 9Rda WEfaaw, & <™, T
oot & 9 it U wH & e # u fawn ¥ T
TR wif |

(2) WR g Yew fa. a@ =k, TR (F9-%vHR) ¥ THas
iy feqt & yauw # fhdhe & amE & e A A ferea
S—TA TR ST

frafafeq & ¥ fodt e 99 &1 W®Y IR HifwC [5]

(1) st Hred auf, yaush, ¥ e, faas g, [0 F wREIfEsERl,
g% Ak HeRTe, faoe g, Y0 F M dF Yo T AW d
FRO R H YAH 1 & T § o5 faed §—ued TR
IS |

5 P.T.O.



(®)

[5501]-2018

(2) 9 YWEH HUST ¥SR, dRN & YeUdh S Sk S, o
® TMEMURR ¥ AEEigsh &8 & fau 95 faed §1
frefafed # 9 fFdl W 9= &1 fedl § eIfae IS : (6]

The Mumbai Police on Saturday arrested a 28-year old man

from Pune for allegedly siphoning off Rs. 3 Lakh from the
bank account of a South Mumbai based doctor. According to
Police accused Bipin Mahato called the doctor on November,
21 last year, posing as a bank executive. He asked for the
ten-digit account number of the complainants bank account. Gamdevi
Police have registered the case of cheating under relevant section
of the Indian Penal Code and Information Technology Act.
SO

AR JAIArEl foaR id ST9aH Juuarel Sl 71 81 WRdd

JAIET Fesdeed IUMd TSN THARA UF ITAGhS  SMdl. I= R

Ul JAUSATAl Sfagrad St SemEe Heed W TR, THh

W T FEen Hafd Hed =l 2 ™A herhdl 499 Bl WRAr=
qiy=m foRaramER Wen 49 it 4o fohAramer smeme fafesm=a sngem
foeraa ®E 9 S, YA qfidien sfaema Cfefes WEe’ w

JOUATEl SoorE URMT el WAl A1 SUSH Tlgshral Ufeell 37
29 SHERt, 1870 drelt Yfag e, W YR gRusi-t holell AR,
FelEE ST @A Feddidial e ARRM foard odl Rt Sioee
AU GE HOIEl qH TS AHARA AT ARSIl

6



4. Tfafed 4 @ f6=dl =X gwi & S fafew [16]
(1) wEeFges & ygfm ®t Goheddn e sifsg |
(2) oM & U W HiN|
(3) 9= WeAHI &I AN W YERE Sl

(4) fogmma =1 g iR wW&Y T Hifwu
(5) YA WA wEd w faRoEad T &S
6) W IR &7 § et & W W YERT S|
5. Trefafea # @ fe<l d9 w fewfmt fafeg [12]
(1) i@ &l ||
(2) HEMl @A |
(3) WfRT THER ® W
(4) e aml el
(5) HFHI THHIE |

[5501]-2018 7



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat
No. [56501]-2019
S.Y. BAA. EXAMINATION, 2019
& . o1
(Hindi Special I)
(& v @ o)
(2013 PATTERN)
g ;. diF He quTich : 80

el :— () |t T efEd g
(i) e R fo@ o wed & Ui ¥

1. (3) ffafeq geai & 9 &= 8 Ul & SN TH-Usk o H
fafem [6]
(1) 91 & i3 Tk qRwmn fafew |
(2) oNgd Siel % AW w SER W ¥ 2
3) f&&t fea@ a0 wAm@m S ® 2
(4) 9w giEmn fofer |
(5) W R W H USHk T FM T ?
(6) fesi won =t fafa ===t § 2
(7) =I9A fed &gad § 2

8) o1 famr & @ | fafeuw)

P.T.O.



(3m) frafafed & & fodl e wodl & SW "aw # fafew - [10]
(1) ufvedt fét =t aifeal & 9w fafed
2) foeft o=kl & eEw s
(3) et fod FROT ¥ 9™ SAG T2
4) @d G fed wed § 2
(5) aF & fafd= R fafed |
6) ‘=R’ fFG Fd T ?

(7) Tay dd & W YR fafeu|

2., fmafafed & @ fosi @ W fewfomr fafew . [10]
(1) =1 fowr
(2) TeeuTT YeR wfifq gl

(8) 9 H USHHA

3. fTrafafed & @ f6<l @ vl & S fafEw [18]
(1) ‘oor guiew ¥ wifees oRg ¥ OGAY A T wiferd
(2) ‘ot w1 gm i e
(3) T & R H MR R T ?
(4) HAACY H &R GHIAET |
(5) o & fafw= ger fafed

4, frfafeq & ¥ fodl wh 799 &1 SR fowr 9 fafew [12]
(1) ST i YRY™T IR 9o hi faEasli wW yww Sifdu |
(2) Ul o & SifaE o uREd SifSu

[5501]-2019 2



(1)
(2)
(3)
(4)

[5501]-2019

frafafes & @ fol @ 9w & s fawr 9 fafew [24]

qonfae™ @ g TR 9TeifaeE & S W Wl Eifeid |
WM IR YIE & SMUR W el 1 iR Hifer |
AT AEH, 1976 &1 T HiftWC |

sefufads = foumd s € 7?7 wfawr dwemud




Total No. of Questions—5] [Total No. of Printed Pages—3

Seat
No. [55011-2020
S.Y. B.A. EXAMINATION, 2019
HINDI
(Special Paper II)
(Refi-fawie 10)

(U=, Wk q9T g et wre)
(2013 PATTERN)
g ;A He U;UTTT:E : 80
qeaUEeh — () 5 H @i Il SIEH—FHHATeR |

(ii) ‘gH-ga whifd —fos gaER|

(iii) AAgTH & Fa—guces el Wi TWER|
o :—() |t v st ¥

(i) Tfet iR fea of yoi & Yo T

1. (31) f=fafed g § § ol 8 ool & SW Uk a | fafew @ [6]
(1) ‘995 ® @™ gl ARH’ Iy § fata &=t 9 & AW
fafeT
(2) FHERX DA WU & HiG T ?
(3) T@R ®A & Y@ W HEG T ?
(4) IEE HF9 W & Hfd AN A ¥ 2
(5) TREel & TEAHR HH T 2
6) ‘F-FA wifa' ek H fha wewe w1 oo T2

(7) if=ar feaw foame &t & 2

(8) ‘Wz W WA §IM SMCH' SUE & AGE HT AW FN T ?

P.T.O.



(em)

frefafes woai # @ & uwre & dfem s fafew @ [10]
(1) ‘disew’ & @ fosmad fafew

(2) A HW hHl Dk TSR H H AW g ?

(3) foua vRer ¥ Fi faa® w1 A@w@ a1 ?

(4) HER H 9o w1 I fowmand fafew

(5) WH HEH HAYM & Hfa F 2

6) ‘F-F wifs' Tes § faba o uel & Am fafew
(7) ¥R & @Asi & AW fafew)

8) faerl & we # HHAY W & YUHAl § ? TR HifWC|

2. (3 f=fafed sEami § 9 fRfdl Wk & qUSH A hitwT @ [5]
(1) ‘T gew q fedt off 99 # 1 1@ 81 Sue iR wEH
g, SE& wdsr ot gum
(2) ‘d9 VRSN &I 9 Hed I g8 o RO S| T AeHe |
@ qu freeg & wdd & smom’
(am) fr=fafea oo # & fodt weh &1 9" =men &ifvie (5]
(1) ‘S W™ 3U9 YPfd, &I, HR Thd HATI
¥cd fou = w6, @9 wd e’
2) ‘O 98 YR WY, €] ®HEY T R
™ & = Sfa 5, foa odt wF= a0’
3. fmfafem wwdi # & fodl d= & wiea sw fatag . [18]

(1)
(2)
3)
(4)
(5)
(6)

[5501]-2020

‘FA-g HIfA' ARed B AW-IE T Hife |
T & ' 9 W AREr & fefd w1 wmw wifvu)
EERE It 1
qEE & & H fafa arcde ave ' wifsa)
‘FI-g HIfa' Aew & fagioad T wifs
foert & @ & fovan fafew)

2



4, fmAfatem g § 9 fodt e w99 &1 fomga sw fafew [12]
(1) ‘"z # @ 3ol ARH’ IT9U™ & Ahe IHA Sl Are- e
RIS |
(2) wHATR w1 Afwdd R FHfaw T wifgu

5. fTmafafea et & & &= & wwl &1 fowga sw fafew [24]
(1) ‘go-gh wifd’ "es # fafta gaeEd fafew)
(2) ‘gI-gh wifd' Aes # fata wme w1 =wfE-faem s
(3) WH & wa & faviad fafew|
4) foedl & w3 4 fofa dicdue o wifsm

[5501]-2020 3



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat
No. [56501]-2021
S.Y. B.A. EXAMINATION, 2019
PERSIAN
General Paper II
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. .—(1) Attempt all questions.

(2) Figures to the right side indicate full marks.

1. Discuss the poetic art of Umar Khayyam. [15]
Or

IMlustrate the ethical aspects of the poetry of Umar Khayyam.

2. Write in your own Persian the views of Umar Khayyam on any three of the
following : [15]
Jﬁ‘/r‘j @))
Siresl (P
b, Y ()
s> ()
J/:U/?. <8 (o)

P.T.O.



Mention the evidence that Hafiz was a Sufi. [20]
Or

Comment on the style of Hafiz.

Write in your own Persian the views of Hafiz on any three of the

following : [15]
AT
Los (P
K;} 55 (M)
dUT=& ()
L1y B (o)

Explain in Persian or translate any five of the following couplets in English or

Urdu or Marathi : [15]
s g S e FP0T ()
Chs g JB Ukt
P F e om0
Folegae i
("‘,ﬂﬁu,cz,m,f‘m/éf (*)
VIR PN P
kel ()
Ao blza A

2 [56501]-2021



(if‘"”u:;/?’;

72’ w,c/'r/:“/@
YISt £%
iUy es 2L
Eel flnds AEi Fry
@u:uu‘c/,ff@.bﬁ/ I

(o)

Q)

(2)

[56501]-2021



Total No. of Questions—35] [Total No. of Printed Pages—4

Seat
No. [5501]-2022
S.Y. B.A. EXAMINATION, 2019
SANSKRIT (G-2)
(Gadya and Padya)
(Samskrtarnavah)
(Heproiar)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
9@ @ dF A THUT TUT : 80

ol :— () I TRA ORISR
All questions are compulsory.
(ii) IEhele ek YU IO SFifAw.
Figures to the right indicate full marks.

1. ‘e enfor ‘F' fourTqd TRt RIVEE! EEd SUSia feRam TS TSR
ETUIE [20]
Translate any two each from Sections ‘A’ and ‘B’ into Marathi or
English :

faemr ‘et
Section ‘A’

(i) <CURUY THh: geyedT: Madfd ™1 THal §: EA: HyeW: W
ufagd sfd, “ A Urel: 38 GoulhemUl TEudE | Tdl elHiEtH
HATATFIAT Iy, qraHdETard | fe afer-areces ygfad fasan =a:

sifeerfeseandsfs 7 wfasf=aa g1am)
T foogarisyd derfy god |
P.T.O.



(11)

(ii1)

(2)

(i1)

(ii1)

[6501]-2022

TR&aR  Staqamaed 43 fuam wei: faga-af<x a1 st
TR TR A9 ARsEr | W 1YW A 99 fafes: egya:

T W | ST qd: VR Serehete SuR wsshardn: i ere
9: YT<E |
I TA TRHUT: GARH: | g STIET: Il ST UH&M: il Al
d dY S qer 9 Fden: | T AR I T SYSY: || TS SRIafe |
TAEIUNE || TIUIHaea || Ty SagureE |

faam ‘=’

Section ‘B’
Yot geafashlem wel o= FisEHa |
QUEiaueaey  sioeerd a7g T o
I weh RSt fayfyarem fafad=a o)
G fergforugHieds  sArmE IR0 gue

JERATEITTE @I I
Uaafe  fauevesgaydauia-
TREgee o Hum fafy: @)

mefie s furdihd Wewshdlereg
grafd o A SEE: fews faumeta

2



2. ‘s’ enfor ‘e AW faWETiqY YO UeRTd GeWiEE WS & ;o [10]
Explain with reference to context any one each from Section ‘A’
and Section ‘B’ :

faam ‘et

Section ‘A’

(i) SUE =g Herwm=a fassfa)
(i) Wod: Al SUN gEUgHhered el 3 oW [l AT |
faum ‘o’

Section ‘B’

(i) ATRIHY GoSeHaTuSI RS ged fow@n|

(i) g&@ y=fg foma wH @ T9: &

3. dHlax® W fag (FIUEAE TewR) [15]
Write a long answer to any one :
(i) ‘onfaed Sfgdusma’ WeM IR HA
Appreciate a lesson ‘oTfaed Sffaaugm=’.
(Gi) =T\ oo fm AR frey fom

Write an essay on I9 and f7am.

4., DR Tehrd Hiowr I fo@r [15]
Write a long answer to any one of the following :
(i) Tharsy: |
(ii) HAfESTYHE TR |

[5501]-2022 3 P.T.O.



5. (A foo=s =R fag (fo@ g@q) [10]
Write critical notes (any two) :
(1) qUEEIH|
(ii) weIha: |
(iii) ARSI |
(B) UWhaummed I fa@r (Fvd urer) [10]

Answer in Sanskrit (any five) :

(i) SANEAY TH: UE8: RN T Wiehd: ?
(i) FneEE: AW feH ?

(iii) dREaes Wfaar & ?
(jv) @R F& wa: A ?
(v) TECHAE F: TSORuisAE:, q& AW feq 2

(vi) REISIUETH TaE Uew W&fEar &: ?
(vii) fedeewe w@fa@ &: ?

[6501]-2022 4



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5501]-2023

S.Y. B.A. EXAMINATION, 2019
SANSKRIT
Special Paper I
(Kavyasastravimarsa, Vrttavichara and Kautiliya Arthasastra)
(Adhikarna 1st and 6th)

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
T :— (i) WA YT STERIE IR
All questions are compulsory.
(i) IAtRerd Ak qul U geifodrd.
Figures to the right indicate full marks.

1. Give reference to context any two of the following : [10]
Ereffeiien] IRl gEie wEed TR w4
(i) Faxmetaw FHfoIRyd aRdt wastard |
(i) FE: WEAGT HAEHATAIGITS |
({ii) el vedl WOTeeigdl YA Fana|

2. (A) Define any one 3@®R along with examples : [5]
FHIVART Tl STARRE A0 FRE T HJ
(i) WrH
(i) afEeEn
(B) Define any one 9x along with examples : [5]
HIUAE Tkl o€ &0 HIGERT T H{
(@) TS
(11) VSTgIATTH

P.T.O.



(®)

Fill in the blanks (any five) :
frmn S W (Rt ure)

(l) ............................ T[UﬁqidWS’\”‘i 0"45’\”} g’ 'l:[%'q'lzl'lz[\l
(LL) ........................... s-ﬁ_{ Wl

(f77) e TR S TUseAfEag T

(lU) msgﬁ a&qﬁ Jd] ag\:l-u-l-l-af\q—cn ........................... |
(U) q-q-i‘-a-u-[ m ........................... parcill

(Vi) SR oo & W e oY TeumH|
(UI,I,)WW ........................... |

Write critical notes on (any fwo) :

faoas di=eg faml (FUedl qraier)

3.
()
(i1)
(i11)
4. (A)
(B)

[5501]-2023

Saropa Laksana (FRIUT T&ToM)

Kavyahetuh (&/deq:)
Upama (39H1).

Write with reference to the context (any fwo) :

Taed TR W (U SRi)
(i) TEAYHSHAMWA odd @Y HHY |
(ii) TS TEFT gyed foR "8
({ii) o9 Ul o SeaHid S |
Match the following (any five) :
Siel el (AR UTe)

(i) fommageen: (@) HEIE:
(ii) TEITEIUI: (b) RESTRT
(iii) SF5asa: (c) eATfarht
(fv) 1 (d) SARTSIIETT:
(v) STHSAETHERH (e) HASIIHK:
(vi) e () T HISAY
(vii) gidehTH (g) hTeR:
2

[10]

[10]

[10]

[5]



5. Write a long answer (any one) : [20]

Hla&R SW = (AR TehTH)
(i) Explain ‘sfsas@:’.

‘sfeae:’ W &AL

(i1) Explain Mantri Purohitotpattih

o Nes N fa

qf=rqufgdicaie:’ s %

[56501]-2023 3



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat
No. [5501]-2024
S.Y. B.A. EXAMINATION, 2019
SANSKRIT
(Special Paper II)
(Vedasaurabha)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
1. Weiiciis! SR Q@i 93d JOoia & [10]

Translate any two of the following with notes :
() 9 doudl T efifewd a 6fd wew: ?_[flé' W |
Wﬂ@ﬂﬁfﬂﬂ%@ﬁﬁﬁﬂwm@ﬁn
(ii) gda'u-n-i ggcﬁlia—'l ey A |
T et 9 fom mfafse
(i) TRfE =R 3|9 T 6|

Fas 1 A A& Hfa kAl

2. Eades! HIOAR Tehrd HiowR SW fo@r [20]

Write a long answer to any one of the following :

() ISR (R 5.83)
(1) AHTEgEH (9. 3.30)

P.T.O.



3. DUIRI CEY FEeH TREO R [10]
Write reference to context to any two of the following :
() g wal =g Mumd 3fd) dogde g
(i) Rl g |
(i) ST U0 Ag: # TN S|

4, GMYEEUY A URET IR fera. [20]
Write a summary of HHIAZUH.
Or
FEAfahagaE T .
Explain IHAfashagars.
5. H&havwsh SW fa@ (FUCE €@ [20]

Write answers in the Sanskrit (any ten) :

(1) HOc™ Hfd HISANT #i< ?

@) ‘o7’ 3fd v @l & 2

(Gii) ‘SRR’ AW feq ?

(v) fgda-dvea@ =fH: &: ?

(v) THHE IRAI-IREERE AW foed |
(vi) AT FHH Th W o |

[5501]-2024 2



(vii) UYUSTIEHRY, HEAW &M ?

(viii) TS SIS THEd fey ?

(ix) VUSRIV 30 T HE OKH AR 7
(x) SRIVIFY-Afqeafa: dgd: wfa qf< ?

(xi) SmETEteE 3 TeE o= Tmdem fem 2

(xii) ‘Ydecl’ wE1: IJUMEE: ARl ?

[5501]-2024 3



Total No. of Questions—4+4] [Total No. of Printed Pages—4

Seat
No. [5501]-2026
S.Y. B.A. EXAMINATION, 2019
PALI
General Paper II : Pali Kusumanjali
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Note :(— (a) Attempt All questions.
(b) Answers of long questions should be given in 400 to 500
words each.
(c) Answers of short questions should be given in 200 to 250
words each.
(d) Answers of short notes should be given in 100 to 150 words
each.
PART-A
Prose Section - ¥R’ faaim
Q.1 Translate into English or Marathi. (Any Two) | (14)
T fohaT ARSI AR . (FUTEY 3) |

2) T, ¥, I A e T Rver qRewR | oTee TR, T aReiee
ST, SEERAN SR A a1 STl River arwh, T af s e et
R, A ST TR 1 SR, ST 71 I SRR & ST G, T
QR SRR, ST SRR, sl A 9 e T A R
1 T A R G0 & g wee A e, et g sTamien seafiogi
g, 7 & e, e, AT R |

b) & f 7 SATHSTEERT TR fo, TosRy Al AT | 3R, ST, oiegd, sl
wawm%aﬂmﬁawﬂmmwﬁqqaﬁawmﬂﬁgﬁamﬂﬂm

P.T.O.



AR I YRl S SRR Goeenl SR, 3 STaeT SR v

GER, S UIEIIEAE, qElT ST JERT o, SRR ST SRETHRT goY, 3 W

ST EYT SHH SRR, T IS fl

c) PrerRgy T=ivTed Tifc Sl FaTEHIN I, WIoT T, e SH=swis, T

a@,@ﬁﬁwﬁwﬁwﬁﬁrﬁlwﬁ'a@wmﬁwnﬁQ'wﬁﬁ'm

AT 9 Ahaedl o Giw=d W sl ol 6, Wdfa? Fareahi e I<g o

- PR w9 YiEEHieH FEdl e e Wet |

Q.2 Expl;iin with reference to context (Any Two) (10)
deiafid TS F. (FUAE 3F)

a) TEIES et 7 =0’ 3§ vl sTeron S geEmte)

b) SR & FERIS LA Arafeeal Hidhet ST STegiER fof 2

) i o, aE, STee i AR SR wTaRE i 3 s wfrafEt R 2

Q.3 Give critical note on any one. (06)
R TR faa=w i fosa,
2) WIIGEMAT b) Sl IR I
Q.4 Answer in detail of the following question (any one) (10)
Wi v Tl IR foe. @md @)

a) YR STHIER TR ATET=AT U AT Fe HEAT TSIy 8 B 2
b) qUNTAI THTHA I GRS B ITHT TG 7 1 2
15501]-2026 2



PART - B
Poetry Section — 9 {311

Q.1 Translate into English or Marathi. (Any Two) (14)

3Tl e ARSI TSI’ 0. (FITdEt )
a) TUEFEAIEE, R Jaal
o STEagee, T i et
e T ooy, aearaoed RERgAl
FeH TSl Al FUNd A =N
A 91 THEA], AT A T
T &1 TE |e], I FE1 < Haa1

b) FeEREHAE SRaehT, WY W 9L 79|
ol S ST, TaaTeaDd sl
FE GEHN 991 Ul A gAnHieHEd|
d SRl 4 G, TEETeaTe SFEEe
QUEGRHIGH! = ARTHT, Wd g 1w gf|
| S Iugiosdn o, T=anida=d el

¢) SRR IS, Gl BTt e
a9 A, T T I
QI A faswfyy, 9 @ grafeq s
el AT, g # T w0
A H AEFEHYOR, IR Srgeeal
w1 | i wreT, et foge et

[5501]-2026 3 P.T.O.



Q. 2 Explain with reference to context. (Any Two)

HeniaRd TSI H. (RURd 39)

a) Al FTeh TR STYRETH THT AT W1 Toxl WIUEgIstd 91
b) G H HHATT 141 TAHAER | M S Sl Yeaiored gagg |

c) g T TG T STHEH TE| T g Serg! TUil GoReedt T

Q.3 Give critical note on any one.

RTE R faws A fom
a) WAV b) deIy 9ot witg Rmsaadaet

Q.4 Answer in detail of the following question (any one)

WS qeAtt latr) I foeT, (Rl o)
a) IEEX TSI IRAN
b) HTes & ALY AT A HalS

[6501]-2026 4
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Total No. of Questions—5]

Seat
No.

Time : Three Hours

[Total No. of Printed Pages—5

[6501]-2027

S.Y. B.A. EXAMINATION, 2019

ARABIC
General Paper II
(2013 PATTERN)

Maximum Marks : 80

1. Translate into English or Urdu or Marathi any two of the following

passages :

]

[16]

<@ 7 we o PR TN 4 . s w2 7 > - P
:;5-:’.9\-345‘ cg;) LS'L'GJ‘ d)i;:a < Cj..i J.f _:;L,J» csjj\_‘p :5,».&.9

SISV

-

P

£ O

N

-

155 AT _bst e 53005

Yo >

Lal) Ao 0 p Ll B2 G 8551 051 Sl oA B (2

R T
e Lo )il

@ - _ 2 L _ - é@ _
S A s (‘L'“}“CJ"' S3be s

RS R 5 1 PR
.:.>=M c;’.& j..b :9)’\.:41.4 ./X._>.=_A.M.»._3\ LS’Si 4._‘;.— j._':'j

PR
2

-

2

-

j J }&;;sij{ ;L_;- - C_::;j ‘

- .2 . e > ooz 2 @ P <. . £
allay O s 30 saklad) a8l )l i d3 0 JIS5 8350

P.T.O.



g 2 8

] 3 O ekl i (LD G aliy) LD _as s -y Juy o

P

P P I R I ST - LI & - & s 3 s -
OVl el ol Skl () aly) as 5 e leddliagy ol i
“o0 R LIN DU Gyl EGaSdl a0 s g 1 S

=z
Z.,

J>35 by astay oo mady ag S CaSs LA

N

gié\ii :o.ﬂ\} szl QLL@M g;.;f} :$:;§_2 é\._;{ U/M._L_‘»j A5 o >

\ - -

- >

L8 T
&2 P -

P T PR T
{.g c.:\..b ;/)J'hj“gsl"p &45‘ 3
w2 82 s

azh Sl IV by WV L Sl 155 0l 35305

“ (~7%

(@)

2. (A)  Explain with reference to the context any four of the following

Verses :
1Y 515 55 fl
¢ (ol el OGS
J;}$J$532J19L§;;§
[EVAINER eI e
slosl) 235 2l 55

08 87 )

- 2 L oy
13500 a5 ke SLo

8]

QY

(V)

)

[5501]-2027



3.

P.T.O.

AP W/ N ES ]
s 35 60 06
ol (a5 el o
AV 2 Sa A
e R a0 5
Gzl deidTs3 81

< 1{ B /G.;:

Summarise any two of the following lessons :

-

}/] /5\
2, oo w T

Explain any two of the following Surahas :

()

(°)

V)

Y

8]
Q)
(V)
()
(%)

[16]
(V)
(V)
(™)

[5501]-2027



Define and illustrate with examples any two of the following topics :

(A)

};‘:‘M‘/}J;y‘ /’)T
(O 5 0lej) 2 LTI

i3l sy

¢ ghmali e Sl Jaall

Translate into English any four of the following sentences :

s _ _ - /)} s .
o R )
~el eI sy elas e szi 23]

- }/J.

- - PP
Sl S Al Frhs O o

-~

O Bt R g T i I
_LL./L;& LS% 4.;.; J.&M gt,.lg; 9 | J..a.; J.Jb

I FRC VeSO PN P WA P

z
z -~
-2

. P _ B P s g 2 -2
-8 b Allas CaST)y Sal) ST )

.

2

> 1 % . Lo 2 PR
_g;,..:..:.j\ RS- LS% i:/— Lo uimgy

- 2 P

e B -
- : 55 ) Vo

-

QP

(M)

(")

($)

QP

(V)

(")

()

(°)

QY

QP

[16]

[8]

[5501]-2027



(B)  Translate into Arabic any four of the following sentences :  [8]
(1) Don’t play in the street.
(2)  Where is your office situated ?
(3)  Write your name on the new note-book.
(4)  The teacher has written the lesson.
(5)  Ayesha sits on that chair
(6) Do you read and write the Arabic ?

(7)  Please put the letter in an envelope.

5 [5501]-2027



Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
No. [5501]-2028
S.Y. B.A. EXAMINATION, 2019
ECONOMICS
(G-2 : Modern Banking)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

()
(it)
(i)
(iv)
()
(vi)

Explain
Explain
Explain
Explain
Explain
Explain

the concept of Bank.

the principle of security.

the Non-Resident Indian Account (NRI).
the types of crossing.

the concept of RTGS.

the concept of Cash Reserve Ratio.

2. Answer the following questions in 200 words each (any two) : [20]

(2)
(it)

Explain
Explain

the evolution of Banking in India.

the primary functions of Commercial Banks.

(ii1) Explain the meaning and features of Bill of Exchange.

(tv)

Explain

the functions of NABARD.

P.T.O.



3. Answer any one of the following questions in 400 words :

(i) Explain the structure of Indian Banking System.

(ii) Explain the functions of the Reserve Bank of India.

4, Write short notes on (any four) :
(i) Regional Rural Banks
(i1) Process of Closure of Account
(iii) Balance Sheet of Commercial Bank
(tv) Endorsement
(v) Core Banking
(vi) Challenges before Co-operative Banking.

(WSt ®aia)
aas:?ﬂ?am ThUT TOT

1. WTPe WAEt YAw! 100 I SWw fowr (gl |w)

(G) ‘d&’ Heheddl W &L

(Gi) ‘guaar’ d@ TR HA

(iii) ‘SAFERN YRdA' |4 T &

(jv) YEHE YHR TR H.

(v) RTGS Wehead G

(i) ‘@ TEa [dE’ gE gwedd W &

[6501]-2028 2

[20]

[20]

: 80

[20]



2. WHOURI WA FAR! 200 IR SW fowr (FUME @F) ;o [20]
(i) YRAA o FSEETE! Schidl T
(i) SR Sl WAHE HE TR H
(i) fafma womn a1 enfor Sfyrey o= &

Gv) ‘TEEST ®wE W S

3. WOGUR HIUARI TRl WA= IW 400 I fomr [20]

() URAdIA Seh  SHaEEEl WAl TS &

(i) YR @ dh=l & W .

4. wigw fao fegr (Fv@@E @w®) [20]
(i) TRk wH dE
(i) @d 98 HOA Tl
({ii) UK Fhd dAESIAR
(lv) Ys3hA
(v) HIBR HfRT

(vi) UEHR FRTYEA SARM.

[5501]-2028 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

S.Y. B.A. EXAMINATION, 2019
ECONOMICS
Special Paper I

(Micro Economics)

(2013 PATTERN)

Time : Three Hours Maximum Marks :

N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iiz) Draw neat diagrams wherever necessary.

1. Answer the following questions in 100 words each (any four)
(1) Explain the importance of Micro-Economics.
(2) Explain the law of demand.
(3) Discuss the characteristics of perfect competition.
(4) Private cost and social cost.
(6) Explain the demand for money motive.

(6) Explain the social welfare function.

2. Answer the following questions in 200 words each (any two)
(1) Explain basic economic problems.
(2) Discuss the law of diminishing marginal utility.
(3) State the determinants of supply.
(4) Risk and uncertainty theory of profit.

No. [5501]-2029

80

. [20]

: [20]

P.T.O.



3. Answer the following questions in 400 words each (any one) : [20]
(1) State the meaning of Micro-Economics ? Explain the nature
and scope of Micro-Economics.

(2) Discuss the lonable funds theory of interest.

4, Write short notes on (any four) : [20]
(1) Tools of Economic analysis
(2)  Oligopoly
(3) Concept of Economic Welfare
(4) Opportunity cost
(5) Limitations of Micro-Economics

(6) Quasi rent.

(TS wUIa)
q% : || A THUT TUT : 80
oAl :— (i) | Uvd wiefau ofewds S
(ii) 3ERelS ek YA qUl 0 Seifedm.
(iii) 3TEvdgsh d9 Yok SThHcAl HIal
(jv) USHHE T TUSH UYFUAH] TeMEl

1. Ted JeEr S Tdwt 100 vSid faw (FUhE |R) [20]
(1) AvrcAel S1efvmee Wecd T A
(2) HEviEn W s 6L
(3) qoi wi=h Afvrser @i
(4) WS TE-gHiSe " TR &
(5) Temen mEie fafay ¥/ TR w0

(6) qIfSTeh ool Tl .

[5501]-2029 2



2. Weld Yl W YAR! 200 vssd foRl (FiveEr @F) [20]
(1) Hagd smfde ged T .
2) weon foum SwEfar fagia T &
(3) T Ui wedh T &

(4) TR e snfon sAtfyeda fagia fom

3. Weliad YEAEl S YS! 400 VL[ el (FIUMEl Ueh) [20]
(1) 3TwTctelt TAIMCAT TehoUdl TIE . STUTIell 1efome @&y o
AT T Hh
(2) AN &eis Wedwr fOgh afaaR e &

4. dieHE fow fagr (HivE \w) [20]
(1) snfefer faworsom=t  @red
(2) STeufashariaehR=l  dfdrse
(3) onfYfeh HoAT Tehedl
(4) G @ wd
(5) geq srefemeTen wafd

(6) ITYH Te.

[5501]-2029 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-2030

S.Y. B.A. EXAMINATION, 2019
ECONOMICS
(Special Paper-II)
(Macro-Economics)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iiz) Draw neat diagrams wherever necessary.

1. Answer the following questions in 100 words each (any four) : [20]
(i) Write the importance of Macro-economics.
(ii) State the primary functions of money.
(iiz) Explain the Fisher’s equation.
(iv) Explain the average propensity to consume.
(v) What is Gross National Product ?
(vi) Write the features of trade cycle.

2. Answer the following questions in 200 words each (any two) : [20]
(i) Write the types of investment.
(ii) Write the methods of National Income Measurement.
(iiz) Write the factors influencing consumption function.
(iv) Explain the phases of trade cycle.

3. Answer the following questions in 400 words (any one) : [20]
(i) What is inflation ? Write the causes and effects of inflation.

(i1) Explain Say’s law of market with its critical appraisal.

P.T.O.



4, Write short notes on (any four) : [20]
(i) Investment multiplier
(it) Per capita income
(itzz) Difference between micro and macro-economics
(iv) Marginal propensity to save
(v) Instruments of monetary policy
(vi) Objectives of macro-economic policy.

(WS ®|UTa)
9% : 9 a™ THUT TOT : 80
oAl :— (i) | U Orefau oTeaved o).
(ii) 3Iihele 3k U U SRIfadm.
(iii) STEvIsh d9 Yook 3ThHcAl Il
(lv) TIHEIE Yoo TUSH YYAULIRT Teral.

1. Tefd Yt Y&l 100 IS Sw fael (Fvd wmw) [20]
() A AAASTE Hed  forRl
(i) U= wafges & @
(Gii) Teera fafma e T &3
(jv) IUEA 3UHRT Yl T H.
(v) @ TEE IART B|UNS ®E ?
(vi) YR =T afvre o

2. Weid YTl Yds! 200 VsSid W fa@l (FURE @) [20]
(i) T YR foE.
(i) TS I HUAEl Ugdt ferarn
(iii) SYHNTREAER GRoM HIOM =k foral
(fv) AAUR FhM=AT ALY W G

3. w@oid Y 400 v SW @l (FI0MEl Tw) [20]
(1) gl WUS %™ ? daqdderdl sRul g giomy  fdwrn
Gi) /' I 9eEn fem feemfega W &AL

[5501]-2030 2



4.

g fear fagr (FvEmE |w)
(i) TAYEw TR

(i) <IEE A

(fii) G&H 9 A A Bh
(jv) HHE F=d EER]

(v) FCHIYTES RO e

(vi) TIEs omfde 3fesed

[5501]-2030 3
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Total No. of Questions—4+4] [Total No. of Printed Pages—5

Seat
No.

[5501]-2031

Time :

N.B. :—

S.Y. B.A. EXAMINATION, 2019
POLITICAL SCIENCE
General Paper-I1
(Government and Politics of UK, USA)
(2013 PATTERN)
Three Hours Maximum Marks : 80
(i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]

(1)
(2)
(3)
(4)
(5)
(6)

Origin and the development of the Constitution of America
Party System in America

Functions of the British Cabinet

District Court in America

Human Rights Movement in England

Philadelphia Conference of 1787

2. Attempt any two questions (in 200 words each) : [20]

(1)
(2)
3)
(4)

Discuss the powers and position of the British King.
Give the performance of Women’s Movement in America.
Explain the power and functions of the President of America.

Trace the origin and development of the Constitution in England.

3. Attempt any one question (in 400 words : [20]

(1)
(2)

Explain the salient features of the Constitution of America.

Explain the salient features of the Party System in England.

P.T.O.



4, Write short notes on (any four) : [20]
(1) Senate : The Most Powerful Chamber
(2) Women’s Movement in England
(3) Ethnic Movement in America
(4) Role of Interest Groups in America
(6) Local Government Structure in England

(6) Nature of England Judiciary.

(& wuiav)
9% : i a™ THUT T : 80
Al :— () Td WA GEfau sTeRTd SR
(i) ISAIhSle 3k TEAE YU U SFifdar.
(iii) WeHEd HB TUSH WeAUfAHT TR,

1. Teiads! HIvae | U9 Gredl (Ye! 100 V) [20]
(1) oAReA TsI"e=n 3¢g oo fasm
(2) TAfhdla deragd
(3) foemefia whfemed

(4) THRChda fefew =i

(5) TTASHHIA UGl BRh HGBdw

6) 1787=t Trareferean uReg

2. Gtk hIUdE! S 931 Eiedl (Il 200 V<) [20]
(1) fodis e sfyer sufor w9 =m=i == &

o n

(2) oMAfehdla ToEE F@dd=n seEn =i

(3) oHfCh=N U™ AYUER d & T H.

(4) TASS TSI IgA M0 foepramn  SAe@r =
[6501]-2031 2




3. WAy VAR Teh Y9 Geal (YS! 400 IE[)
(1) oTAfRch=a Togee =l 3% dfyses e &
(2) TASHA UNUGAEl SBh AN TR

4, diewa fowr fag (HOERED =R)
(1) T2 . wdgss 9urE

(2) Toeuttd Siart T@da@

(8) STHfiehdlal ¥k TBdes
(4) M
(5) TASHYA TNfieh  IMEATET AT

(6) IdeHd —EHeod WEU.

fRerdtar fequaielt et ofien

[5501]-2031 3

[20]

[20]

P.T.O.



[56501]-2031
POLITICAL THEORY AND CONCEPTS
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]
(1) Meaning of Political Theory
(2) What is the meaning of state ?
(3)  Political Justice
(4) Nature of Liberty
(56) The concept of Democracy
(6) State the meaning of Globalization

2. Attempt any two questions (in 200 words each) : [20]
(1)  State difference between liberal and conservative view of Political
Theory.
(2) Explain the concept of Hegemony.
(3) Explain different types of Rights.
(4) Explain merits and demerits of Democracy.

3. Attempt any one question (in 400 words) : [20]
(1) Define equality and explain the types of equality.

(2) Explain the positive and negative impacts of Globalization.

4, Write short notes on (any four) : [20]
(1) Essential elements of the state
(2)  Characteristics of Authority
(3) Nature of Sovereignty
(4) Indirect Democracy
(5)  Political Liberty
(6) Social Justice

[6501]-2031 4



(WS ®qiay)

e : diF 9| THUT TOT ¢

el :— () §d WA Gefau oeRas ST
(i) 3SVEhele % TRAE YO AU SFifHa.
({ii) VRUEE Hed TUSH AR T,

1,  Teliddel HIvdE W) YR digdl (Y& 100 V)
(1) T fagramEn std
(2) TsEmEr 31w AR ?
(3) TS =
(4) WEA™ WEY
(5) TARIMEE HHheuH

(6) SIMfdehisheom=n 319 9Em

2. Telidisl ®HE g Y Gedl (IS 200 IR)
(1) g ewfor it TS fagradial ®e 9.
(2) YOUEl Hheddl W H.
(3) TFp fafay ywR W= FA
(4) RYMENE U ST e TR WA

3, WAyl ®UAE Tk YT Hieal (400 IEM@)
(1) 9Hd=1 A 90 STfol §HdY YR TS .
(2) SINfAehiome HhRcHeh  AMU FhRIcHe YuTd T2 .

4, odigwm fowr fawr (FoRE =w)
(1) TR AETIH 9<h
(2) AfuEmEr Sfyme
(3) wHEVHE™ ey
(4) SUAY TR
(5) T @A
(6) GHIfSh

[56501]-2031 5

80

[20]

[20]

[20]

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-2032

S.Y. B.A. EXAMINATION, 2019
POLITICAL SCIENCE
Special Paper-I
(Western Political Thought)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]
(i)  State Plato’s views on Philosopher King.
(i1) Fundamental features of John Locke’s Social Contract.
(iit) Explain Thomas Hobbes views on Human Nature.
(iv) State two types of Morality given by Machiavelli.
(v) State the meaning of Rousseau’s General Will.

(vi) J.S. Mill's views about Representative Qualification.

2. Attempt any two questions (in 200 words each) : [20]
(i) Explain the theory of surplus value by Karl Marx.
(ii) Explain Rousseau’s Social Contract Theory.
(iiz) Explain Machiavelli’s suggestions to the king.

(fv) Discuss Hobbes’ views on sovereignty.

3. Attempt any one question (400 words) : [20]
(i) Explain Plato’s theory of Justice.
(ii) Discuss Aristotle’s views on classification of state.

P.T.O.



4, Write short notes on any four :
(i) Plato’s Ideal state
(i1) Write Locke’s views on Natural Rights
(ii1) State two different Aristotle’s views on property
(fv) Marx’s views on base and superstructure
(v) Rousseau’s views on Government

(vi) Thomas Hobbe’s state of Nature.

(WS wUial)

g% : diF A THUT TOT ¢

1. HIUAE AR T Greal (YAl 100 IEE)
(j) doF T HaH W foer @

(i) S dfe=a gmEfsies SOeEr oty
(iii) o9 Teod HAMGl WYEEEHEl faar W &

(jv) WhgdH Hidaed Afdehdd 9 YR G

(v) ®E=A FHfesk ToaT Hd W
(vi) S.um. fhem gfafafy dEaued foemw.

2.  HIUMEl M YT Gedl (Ydh! 200 M)
(i) e Afde qea fagia = w3

(i) ®HU=T 9SSR faga W &9

(a¥aN

(1il) Hehogeld TSl hoddl ITSY TR H.

(jv) Tlestoa HredTcelid foam=t ==t .

[6501]-2032 2

[20]

80

[20]

[20]



3. HhiUME Tk UvH Hedl (400 ¥KM) : [20]

() ™o = fagd e w.

(ii) SREfea shoic Tar=al aishiom=l ==l .

4, HIUIRI AR diedda feur fowr e [20]
() W ey T
(i) <lha "Efifr TormeE™ foar faw

(iii) ofECleads dud= < fafay yerR 9
(Gv) WEET URT 9 SHANGYIS fa=R
(v) ®O IMEAfaTIER =R

(vi) o9 Besat fAgTew.

[5501]-2032 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [5501]-2033
S.Y. B.A. EXAMINATION, 2019
POLITICAL SCIENCE
(Special Paper II)
(Political Sociology)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]

(2)

Features of behavioural approach

(it) State the process of political socialization
(iit) Meaning of political change
(fv) Causes of political participation
(v)  Origin of legitimacy
(vi) Importance of political culture.

2. Attempt any fwo questions (in 200 words each) : [20]
(i) Explain nature and scope of Political Sociology.
(ii) Describe types of political cultures by Almond and Verba.
(ii1) Explain meaning and nature of Political Sociology.
(iv) Explain the concept of political development.

3. Attempt any one question (in 400 words) : [20]
(i) Explain the contribution of Karl Marx in Political Sociology.
(i1) Explain the levels of political participation.

P.T.O.



4, Write short notes on (any four) : [20]
(i) Meaning of legitimacy
(it) Nature of political culture
(ii1) Importance of political recruitment
(iv) Agencies of political socialization
(v) Meaning of Influence

(vi) Political Development.

(TS T UTR)
9% : 9 q™ THUT TOT : 80
oAl :— (i) |d U Hiedu TevEd AR
(i) SoEiwele 3 qul U gRifdr.
(iii)) USHHS Hed TUSH UIAUARI UgE.

[a)

1. WicUs! HUE | 99 diedl. (Y&@T 100 T=Ei[) [20]
(i) adqaEl gitewArET  afdme
(i) TSIfhd  GTETSHRIom=T  Yfshan @
({ii) TSIfhd ocamar 37d
(jv) TSIhT FEHNET SR
(v) SYHRIdE T

(vi) TSR FEHAE Hed.

2. EelicUs! HIvdel M ¥ digal (YAs! 200 @) : [20]
(1) USfhT FHEETE @&y 9 Al W 6.
(i) ScAS 9 H&l I Aridad TShd T&hdid YR fasg &
(Gii) TSIfpa faamuomef=n s1d 9 W&EY W &

Gv) USfhd fahmEm=T Hheddl W H.

3. Wil HIUAE Wk Y99 diedl (400 IE@) [20]
() USfhd HHSRMETd Hidd HEEd AFeM TS .
((i) USIlhd HEUNT=AT Udeddl W& &l

[5501]-2033 2



4. deHa faor fagr (FoE@E A9w)
()  erfmreraEn o7ef

(i) SIhd T&hdd E&Y

(Gii) TSRA Wl T

(fv) TSR FATHSIRIOMTH  HIEAH
(v) gHETET AY

(vi) USfRA fasmm.

[5501]-2033 3

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [5501]-2034
S.Y. B.A. EXAMINATION, 2019
HISTORY
General Paper (G-2)
[Modern India (1857-1950)]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(i1)
(ii1)
(v)
(v)
(vi)

Explain the concept of ‘Nationalism’.

State the proclamation of Queen Victoria in year 1858.
Explain the philosophy of extremists.

Explain the Gandhi-Irwin Pact of 1931.

Write the nature of Khilafat Movement.

Explain ‘Mountbatten Plan’.

2. Answer the following questions in 200 words each (any two) : [20]

(@)
(i1)
(111)
(iv)

Explain the causes of failure of the rising of 1857.

State the nature of ‘Kayamdhara System’.

State the importance of the Quit India Movement.
Discuss the consequences of the partition of India in 1947.

3. Answer the following questions in 400 words (any one) : [20]

(@)

(11)

Explain the contribution of Prarthana Samaj in Social Reform
Movement.
Give an account of Dalit Movement in India under the leadership

of Dr. Babasaheb Ambedkar.

P.T.O.



4, Write short notes on (any four) : [20]
(i) Modernity
(it) Dr. Annie Besant
(iii) Filtration Theory
(fv) Dandi Satyagrah
(v) Mohammad Igbal

(vi) Razakar.

9% : W q™ THUT TUT : 80

1, Weld YEAEl SW TS 100 VIS foel (el |w) [20]
() ‘UsgarR’ d Gdheudl TR H
(i) ¥ 1858 =1 TogaRrfien U= e ¥ .
({ii) SR doH TR .
(fv) T 1931 = We-sEfET TR fave A
(v) ‘TodMd F@Bas @Wey ol

(vi) WIS IS T .

2. Tl YIAEl W Ul 200 veSid forRl (FUhd de) [20]
(I) TF 1857 3IIETAT UIAIM= RO fovg &

(i) HEHYN USdid WEY W H.

(1i])) el YRd Jodoiid Heed W& .

Gv) 9T 1947 W\t YRAA ®lesvit=an gfomar=l == .

[6501]-2034 2



3. Wi YAl SW 400 VW ol (FIVERD Ueh) [20]
(i) ISR FURUT Fdceidid WAl FHNTE IreH fove .

(i) i SEERd APEH A AqErEeiiad YRA Sfad dedesdl Juid

2B

4, gewmE foo fagr (docE = w) [20]
(i)  eYfeRal
(Gi) . 3 SEE
(iii) Teguarn fag@
(iv) TIE HAWE

(v) THEHAS IHAA

(vi) TR

[5501]-2034 3



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5501]-2035

S.Y. B.A. EXAMINATION, 2019
HISTORY
Special Paper-S-1
(S-1 : Diplomatic History of Marathas : 1707-1818)

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) Explain the concept of ‘Sardeshmukhi.
(i1) Discuss the archaeological sources of the Maratha History.
(iii) Explain the importance of the Treaty of Mungishevgaon.
(iv) Write a short note on Raghuji Bhosale.
(v) Explain the importance of the Battle of Rakshabhuvan.
(vi) Explain the Judicial Administration during the Peshwa period.

2. Answer the following questions in 200 words each (any two) : [20]
(i) Explain the origin and growth of Maratha Mandal.
(ii) Write the effects of Third Battle of Panipat.
(ii1) Discuss the relation between Maratha and Mysore.

(fv) Discuss the provincial administration of Marathas.

3. Answer any one of the following questions in 400 words : [20]
(i) Discuss the expansion of Maratha power in the North.

(i1) State the causes of decline of Maratha power.

P.T.O.



4, Write short notes on (any four) : [20]
(z)  Victory of Khed
(i) Peshwa Madhavrao-I
(iizi) Barbhai Council
(fv) Ahilyabai Holkar
(v) Haider Ali
(vi) Local Judicial System during the Peshwa period.

(WS ®aial)
9% : A9 A Tehut ToT : 80

1. Eeid geEl W YESR 100 TR[ foel (Fivde | ) [20]
() ‘ORIMEl’ Gheddl WK &
(i) TSN sfagErEl qUdcd WA ==l .

(iii) HM-Verma der "ee fovg &

(fv) TS ¥ IR deda 2 foEn

(v) THIYIA @™ Hed [avG &

(vi) URARIEE =IF YeTEATE wifedt fave &L

2, @efid el SW Ydd! 200 vE[ foml (Fivdd  m) [20]
(i) TS Hed™ 37 9 fgwE W= &
(i) fao=n uriva gs= uRomg ferern
({ii) WS- HaHTE T W
(jv) TSI Y WRMEATEl ==l

[6501]-2035 2




3. Woiiadsh! SR TRl Y W 400 ¥I=M fofer [20]
(1) THhed TS To=AT fomrmt ==t .
Gi) WU "a=Ar foAmm=l sRol "|rm.

4, dieqd few fa@ (FUEE W®) [20]
(i) wTEw fas=
(i) UvEr qfgen HigeRE
(iii)) 9RYE HEB
(iv) Sifgeares Blesht
(v)  BeReTEl

(vi) TUIAHR TR AT,

[5501]-2035 3 P.T.O.



[6501]-2035
(Ancient India : 3000 BC to 1200 AD.)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(@)
(11)
(ii1)
(iv)
()
(vi)

Explain the concept of °‘Alvars-Naynars’.

Describe the religious life during later Vedic period.

Write a note on status of women during the Gupta period.
Discuss the religious policy during the Harshvardhan period.
Write a note on Sanyam literature.

Explain the cultural contribution of Rashtrakutas.

2. Answer the following questions in 200 words each (any two) : [20]

(2)

(i1)
(ii1)
(tv)

Give in detail account of the religious life in the Indus Valley
Civilization.

Discuss the life and teaching of Vardhaman Mahavir.
Examine the cultural contribution of the Satvahanas.

Evaluate the achievement of Harshvardhan.

3. Answer any one of the following questions in 400 words : [20]

(@)
(i1)

[6501]-2035

Explain the scope and features of the Harappan civilization.

Discuss the achievements of Chandragupta Maurya.

4



4, Write short notes on (any four) : [20]
(i)  Sacrificial system in Early Vedic period
(iz) Political work of Satvahanas
(iiz) Samudragupta
(tv) Pulkeshi-II
(v) Sangam Age
(vi) Temples during the Chalukya period.

(TS ®qial)
9% : A9 A Tehut ToT : 80

1. @id JEAE S Yhl 100 I[ ol (Fuad \R) e [20]
(i) STEEOR-TIAR I Fheqdl WL F.
(i) IW dicew @A HfHE SfeAr guE .
(iii) Twehlei @ csfer fequr fo@r
(jv) THAYTEREIA e ROm=t == &
(v) WY Gfecfaut ATfedl <=

(vi) USEHIE HERIdE IFQH W .

2, @efid el SW Ydd! 200 vE[ foml (Fivdd  m) [20]
(i) Toy vepdida oiffe  SteAmetr afawR wifedt <
(i) THAM TRERM Stad 9 e gt == &
({ii) WaRA=N GRhfae  ANEHT UdeT .
(iv) TEAHAEN FMAOE  JEIEET 6.

[5501]-2035 5 P.T.O.




3. Cicushl @R Tk J9E W 400 VKM@ fo@r [20]
(i) eo/fay uepdEt S onfor afime wse @

o NN

(i) =« HEten smEidEr ==t &

4, e few foer (U \w) [20]
(i) gddfGh Hlediadl ATdG
(i) WqaTEAEl TSR AR
(iii) TS
(iv) THEU Yerehel
(v) WM I
(vi) <IHIFRE AR

[6501]-2035 6



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5501]-2036

S.Y. B.A. EXAMINATION, 2019
HISTORY
Special Paper II
[History of Modern Maharashtra (1818 to 1960)]

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the concept of ‘Nationalism’.
(2) Bombay Association.
(3) State the principles of Prarthana Samaj.
(4)  Discuss in brief the educational contribution of Maharshi Dhondo
Keshav Karve.
(6) State the Philosophy of Moderates.
(6) Write a brief note on Vasudev Balwant Phadake.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the social impact of the British Rule in Maharashtra.

(2)  Explain the contribution of Arya Samaj in Socio-Religious Reform
Movement.

(3)  Discuss the contribution of Rajarshi Chhatrapati Shahu Maharaj.

(4) Explain the development of peasants movement in Maharashtra.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Review the contribution of Mahatma Phule to Socio-religious
reform movement.

(2) Give an account of Civil Disobedience movement in Maharashtra.

4, Write short notes on (any four) : [20]
(1) Four Points Programme of Lokmanya Tilak
(2)  Industrialization
(3) Balshastree Jambhekar
(4) Paramahansa Sabha
(5)  Write a short note on ‘Dr. Babasaheb Ambedkar and Education
Work’.
(6) Razakar.

(AE wuiav)
q% : || dE THUT TUT : 80
o :— (i) ¥d WA Hiefau feRas o,
(ii) ISAIhSle 3k TEAE YU O SFifaar.

1. J@d UeAEl W Y@ 100 V[ foRl (FveE | ) [20]
(1) ‘UgaR’ Hheu TR HA.
(2) a9 sTEIfquEm.

(8) Wie HHSET I 9L
(4) HEST 9ISl ohyd whd Il U i ANeET=r 9=l R
(5) Hdlsd deolM EI.

(6) dTMed deedd e AR dfea feu fewrn
[5501]-2036 9




2. Y@ WAl ST Ul 200 VS fetel (HIUEE g [20]
(1) fafesr AN ARRIRER @il @S 9RO T .
(2) GHiSeR STfUr eMfHer YR Fedcdidial 3T HHNTE AeH TS
F.

(3) TS BAYG TG HERSl AT wratel Hiow® ==

(4) UM IAhd Fddcsidl dedld TS .

3, Woiads! HIUEE Tl J9= SW 400 ¥k fagr [20]
(1) He Fol AT e 9 oifie GUROT Fesddiidial ANTEHTET SATera
=0

(2) HENSIA Tfadd HEQYT SISl gid <l

4, dieRE few fa@r (FoEEl Aw®) [20]
(1) T wA fea®wE a9q:@ ®ERA W H.
(2)  3TENfieRteRTo

(3) B SHHT

(4) THEH W

(5) ‘Tl demERd seewl oy s wR’ AR wihw few fomn
(6) SR

[5501]-2036 3 P.T.O.



[56501]-2036
MEDIEVAL INDIA (1206 TO 1707)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the concept of ‘Sulah-i-Kul’.
(2) Give information about ‘First Battle of Tarain’.
(3) Describe the skill of ‘Tulighna’.
(4) Give information about ‘Nurjahan Junta’.
(6) Explain the Zabti or Todarmal’s Bandobast.
(6) Explain the relations between Chhatrapati Sambhaji and Prince
Akbar.

2. Answer the following questions in 200 words each (any two) : [20]
(1) Explain the achievements of Sultan Razia.
(2)  Elaborate the development of Trade and Industry during the
Delhi Sultanate.
(3) Review the socio-economic life under the Yadavas.

(4) Discuss the relations between Maharana Pratap and Emperor
Akbar.

3. Answer any one of the following questions in 400 words : [20]
(1) Evaluate the experiments of Muhammad-Bin-Tughlagq.
(2) Review the Mughal Administration in detail.

4, Write short notes on (any four) : [20]
(1)  Architecture during the reign of Allauddin Khilji
(2) Dev Raya II
(3) Battle of Khanua

[6501]-2036 4



(4)

Trade Industry during the Mughals

(5) Paintings during Jahangir
(6) Relations between Mughals-Adilshahi.
(W& TUTE)
9% : i q™ THUT T : 80

o — (i) §d W diefau TeRTs IR

(i) SSElhele ok T qO YU SFifadn.

({ii) TSUHAIS B TUSH WIAUIhT Tl

1. e YAl SW OSSR 100 VSid fa@ (e W\mw) e [20]
(1) ‘gee-3-Fd’ & FheUdl TR H.
(2) TUEToN dfeed G Hifed! &
(3) ‘'TormEr’ gE Usdd duH .
(4) IWRE SR/ Ao wifed <=
(5) =it fopen dretHeEl SO TS H.
(6) TAYN HUSH RS W0 TGS FheR AAWA WS FaY W

h .

2, YA WAl W YASI 200 Vi@ ferwr (@@ @) [20]
(1) Yoad Weash F@EART T F:.
(2) fToooll goaamemel e MR oo Ium A= fowm= auiFe &
(3) ACA®ICH TSR -A(dE  SieqTen  3TeEn =41
(4) TERION W9 oTfO1 9Ule {FheR ATATE Taem=i == H.

3, YIAUH! AR Tl U SW 400 V=M fam [20]
(1) TeErR-Ta -goader=n T« Jea|dd &
(2) HuA YRMEAT HioER®  3TEEr Al

[6501]-2036 5



4, diewE fou fagr (FvemE Ew)

(1)
(2)
(3)
(4)
(5)
(6)

[6501]-2036

HACARGE M TEreTsiishleild  Terqedehall
TET SN
LeIRE I Pt

eI AR IS

STRIfReRTel  fasteha

ea-AMfqasel  dae.

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [5501]-2037
S.Y. B.A. EXAMINATION, 2019
ANTHROPOLOGY
(G-ITI : Indian Tribes and Tribal Development)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each :[20]

(1)
(2)
3)
(4)
5)
(6)

Explain the tribal movements after independence.
Describe the concept of Tribal Development.

Explain the fieldwork tradition in Anthropology.

State in brief the Cultural Classification of Indian Tribes.
What is Report Writing ?

Explain the participation of tribes in freedom movement.

2. Answer any two of the following in 200 words each : [20]

(1)
(2)

(3)
(4)

Explain the various problems of Indian Tribes.

Describe the economic and geographical classification of Indian
Tribes.

Explain the various types of observation techniques.
Explain the policy of protective discrimination for scheduled

tribes.

3. Answer any one of the following in 400 words : [20]

(1)
(2)

Explain the structure and functions of youth dormitories.

What are the various approaches to tribal welfare ?

P.T.O.



4, Write short notes on any four of the following : [20]

(1)  Ghotul
(2) Nomadic Tribes
(3)  School dropouts
(4) Tribal subplan
(6) Integrated Tribal Development Project
(6) Data Collection.
(& wuiav)
9% : W q™ THUT TUT : 80

1.  WeldUsh! IR = I9ET W Yt 100 ved fogr [20]

(1)
(2)
3)
(4)
(5)
(6)

AN hledldial SATfeardl Foddedl T .

anfcar faem™ & dhcdT T &

AFERTEdE &5 & Wy fave &

IR smfardia dipfas aiffetor digea formt.
A e U hid ?

affeamdi=n @A Fedcidicl Wedl T .

2. WEAUshl HIER B el S ! 200 VS foer [20]

(1)
(2)
3)

(4)

[6501]-2037

TR Alfcardi=n fafay g@en T &
O eAifeardi= anféfer omfor Yriifeies  oFfiehdol TaC .

fafay g O Ugdt TS HA.

Sgfad SHEEl 3ol GREUTcHe J&ud 8RU T .

2



3. Woiads! HIEE TRl TR IW 400 veaiuda ferer : [20]
(1) JgarErEr @ snfn % fase &
(2) eAifqarel fowmama fafay gfewm s &

4, EAeR! HUAR ARR dewd foar famr [20]
(1) Tige
(2) W S
(3) TMeid ekt

(4) enfgard IudsH
(5) TWehllcAeh 3Tfgardt fasrd Fehed
(6) TIfedl Haher.

[5501]-2037 3



Total No. of Questions—4+4]

Seat
No.

(Gg-210 :

Time : Three

N.B. :—

@)
(i1)
(iii)
(iv)

1. Answer in

(1)
(2)
(3)
(4)
(5)
(6)

(7)
(8)
9)
(10)
(11)
(12)
(13)
(14)
(15)

What
Write
State
What
State

S.Y. B.A. EXAMINATION, 2019
GEOGRAPHY (G-2)

(2013 PATTERN)

[Total No. of Printed Pages—6

[5501]-2038

Geography of Disaster Management)

Hours Maximum Marks : 80

All questions are compulsory.

Figures to the right indicate full marks.

Draw neat diagrams wherever necessary.

Use of map stencils is allowed.

about 20 words each (any ten) :

is natural hazard ?

[20]

any two examples of manmade disaster.

any two stages of post-disaster management.

is management ?

any two name of Media.

Write any two functions of police department in disaster

management.

State
Write
State
Write
State
State
Write
What
What

any two causes of floods.
any two causes of droughts.
any two types of landslides.

any two causes of Earthquakes.

any two effects of over use of Resources.

any two effects of Deforestation.
any two causes of Global warming.
is CFCs ?

is ‘Hail Storm’ ?

P.T.O.



Answer in about 50 words each (any two) : [10]
(1) Aims and objectives of Disaster Management.

(2)  Flood Management.

(3) Water Management.

(4) Effects of ‘Hail Storm’ on Agriculture.

Answer in about 150 words each (any two) : [20]
(1) Explain the stages of pre-disaster management.

(2) Explain the causes of cyclone formation.

(3) Elaborate the causes of Deforestation.

(4) Write an account on ‘T'sunami in Indian Ocean-2004’.

Answer in about 300 words each (any two) : [30]

(1) Define a disaster and explain the classification of disaster in
detail.

(2) Describe the standard operating procedure of disaster
management at Government level.

(3) Give an account of ‘landslide as disaster’ in detail.

(4) Explain ‘a ozone depletion as disaster’ in detail.

(WISt ®aia)

% : W q™ THUT TUT : 80
ol :— () ¥ WA @A Sed.

(i) ISAIhSle 3k TEAE YU O SFifaar.
(iii) STevIsh d9 Yook 3ThHcAl Il
(fv) THENT Lfacw IRoIE WaET 2R

YR GUR 20 V= IW ferer (R @) [20]
(1) F9fifs The =UN &9 ?

(2) HAHAfHG STUxi=l HIvE S Seredel fora.

(8) SAURIHATAl AT hivdel & <9 9T

[6501]-2038 2



(4) AU WIS 6 ?

(5) PR TN YHROEAHIER AT G

(6) oAU HATAMUAM Uil WA=l Hiodiel M & foran
(7) QU= UGS P B0 G

(8) STEHUMET hHIVE & wRul foral

(9) ofiurde HIUGEl EF YRR WAL

(10) YHUTE ®UCE W HRY - forEr

(11) GeFEu=n  IfqaD &Ioagl e 9iRomg  9rm.
(12) feieome ®IUCE &9 9Rom @i

(13) wmifdesr qUHFEEE HivEl aF SRo fom
(14) CFC (WM. THh.H.) ®=uSl &E 2

(15) ‘TR g’ WUS ®E 2

2. YI® 50 VA S fael (FumE M) o [10]
(1) 3O<il FaeAqmoEret 2 F s 3fEse.
2) T oA
(3) S HILIMYA.

4) TREEE Feiede gRom.

3.  UdHl 150 Vi SW fowl (e dF) [20]
(1) STUHIYe e T ¥ &l
(2) omEd A= #RO TS &AL
(38) o=t wRO fave &
(4) &t veErRE 2004 = AT Seden gwid o

4, Y&l 300 vEd S fowr (FuE [ [30]

(1) U=l =edl 9F[d A<= aifihio dfaw) T

(2) ‘IMEA EWERA AU Sererq e YHIfU  hrEYgdl oA .
(3) ‘yqHiud TH o’ wWfaw® gu@

(4) ‘olEF &9 TH ANl HiaER W R

[5501]-2038 3 P.T.O.




[5501]-2038

(Gg-210 : Elements of Climatology and Oceanography)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iiz) Draw neat diagrams wherever necessary.

(fv) Use of map stencils is allowed.

1. Answer in about 20 words each (any ten) : [20]

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)

Distinguish between weather and climate.

What is insolation ?

Explain the Lapse rate of temperature.

Give two causes of Global Warming.

What is Albedo ?

Define Cyclone.

Give two types of Clouds.

Name the four gases present in the atmosphere.
What is humidity ?

(10) Give any two names of cold currents.
(11) Give two examples of oceanic resources.
(12) What is ocean water salinity ?
(13) Give two effects of Tsunamis.
(14) Give any two names of ocean.
(15) State any two types of Rainfall.
2. Answer in about 50 words each (any fwo) : [10]

(1)
(2)
3)
(4)

[6501]-2038

Characteristics of stratosphere.
Local winds.
Importance of ocean currents.

Density of ocean water.

4



3. Answer in about 150 words each (any two) : [20]
(1) Describe the Heat budget of the earth.
(2) Give the effects of ocean currents.
(3) Explain in brief the types of clouds.

(4) Explain in detail the characteristics of sea waves.

4, Answer in about 300 words each (any two) : [30]
(1) Explain the causes and effects of cyclones.
(2) Give an account of composition and structure of atmosphere.
(3) Describe the general idea of ocean relief and explain the relief
of Indian ocean with diagram.
(4) What is salinity ? Explain the factors affecting salinity of ocean

water.

(WISt ®|UTa)
9% : || AW TeRUT TOT : 80
o :— (i) Wd WA grefau oeRas ewRd.
(ii) 3SElhel® &% UeAE qU U SFifaan.
(iii) SAEIHR A9 Ak AR I
(fv) RN Lfaed aTREE WarTl 3R

1. Oeld UeEl g9 gAR 20 IM SW ol (Rl €@ ;o [20]
(1) = oTfUl gamdH Al Wik TS .
(2) ¥R & WIS wF?
(3) dIUHMMNET WUel T h.
(4) SIfdeh dYHMOTEET S ROl =L
(5)  Y-ydAd WIS HMA?
(6) afhdagerdl ATEAT .
(7) @= g9 YeRE A o
(8) dERUMd &R o=t A fosl

(9) ITEdl WIS T ?

[5501]-2038 5 P.T.O.




(10)
(11)
(12)
(13)
(14)
(15)

9 GrIREUTEl SSE A
AR &R RS 6 ?
A= @9 9Remd @
Y WEErEE e fermn

(1)
(2)
3)
(4)

Tl JAs! AR 50 ¥ SR forel (Fvemt &) [10]

e aR.
5 YR T,
U STeAT=l S

(1)
(2)
3)
(4)

(1)
(2)
(3)
(4)

[6501]-2038

Trelldl g g gAR 150 Ve[ IW fael (FoemEl gF) ¢ [20]

‘yg-siiftors dqem’ auH L
T fafay yeR diewm  fom

R et T[uratiTee.

et Yl Yokl 300 vSid S foel (FveEt @ ) [30]

Tfoharceerel  (STEdEl) ROl Afor gfomy |

JIAeRuT=t Tl (W) oMo HXEe fave &

ARG T@-d guF ®ed fEdl HeMRE deadl SAldhdide T &
PR SAARAl US| $F? PRl &RdaX GRUMH IR =2h
oed h.




Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat
No.

[5501]-2039

S.Y. B.A. EXAMINATION, 2019
GEOGRAPHY
(Gg-220 : Economic Geography)—S-1
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in 20 words each (any 10) : [20]

(1)
(2)
3)
(4)
5)

(6)
(7)
(8)
9)
(10)

(11
(12)
(13)
(14)
(15)

Which activities are included in tertiary economic activities ?
What do you mean by natural resources ?

Write the names of mica-producing countries.

Give any four examples of coal producing countries.

State the examples of iron and steel manufacturing centres
in India.

What do you mean by conservation of resources ?

What is meant by Solid Waste Management ?

Give the names of atomic power stations in India.

Give the names of rice producing major countries.

State the major countries which have developed plantation
agriculture.

What do you mean by market oriented agriculture ?
What are the factors influencing international trade ?
Which countries developed dense network of roads ?
What is liberalisation ?

Write the advantages of waterways.
P.T.O.



2. Answer in 50 words each (any two) : [10]
(1) Explain the regional approach to the study of economic geography.
(2) Distinguish between renewable and non-renewable energy
resources.
(3) Give the world distribution of automobile industry.
(4) Explain the importance of market oriented agriculture.

3. Answer in 150 words each (any fwo) : [20]
(1) Describe the secondary activities with examples.
(2) Give the importance of natural resources.
(3) Write the world distribution of ship building industry.
(4) Give an account of the rail routes in the world.

4, Answer in 300 words each (any two) : [30]
(1) Define economic geography and explain its nature and scope.
(2) Describe the factors affecting agriculture.
(3)  Explain the factors influencing the development of transportation.
(4) Describe the importance and world distribution of hydel power
with map.

(TS BUIaR)
9% : 9 a™ THRUT TTOT : 80
o :— (i) ¥d WA Hefoan e #Rd.
(ii) 3Itele 3k T qU T SFifddm.
(Gii) RN Vi AT UEr oTE.
(fv) 3STE¥Iw dA gosh 3THAl Th1El HIal.

1. W& 20 V=@ SN o (Foad 10) [20]
(1) qd ==E@™d Joid o offds fean gaifase sea 2
(2) HEfife WETEIRT TS HE ?
(3) AY® IARH e A femn
(4) HUERE WX HIGE Scgeh el e foE
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(5) YRANE TRUIAE ScGh  harel IS0 Sl
(6) TUT HaHd WUNS w7
(7) TFFEIU I BN h ?
(8) WRATASl STUNTRI ehgret A G
(9) U@ TG 3Rk oum=l A fora.
(10) Womr=t Tt faerfad wholedl Y@ QM= A G
(11) IeNgE I US| 61 ?
(12) SATTSET YNGR HIUA  Hh  YROM  HLTd ?
(13) IV MG &A™ T e 38 2
(14) SRR WIS &M ?
(15) 9rHrT= e for.
2. YIHl 50 UM SW ol (HE @F) [10]
(1) onfdfer o=l URf¥res  sa™ugdl aviE .
(2) YA F SAYAAGIRONT el e e W S
(3) AR ITAMN  wTfaes  faaxor fewr
(4) dFNIATE A 7ed W H
3,  YIH! 150 vigid Sw ferel (PueEl | [20]
(1) fgdm gofidia snfde =Iaa™e SSRIMEE 9uid .
(2) Tofife weEweE 7@ fave &
(3) RN eyt IUrme Srifae faaeor e
(4) A 9 AW G <
4, YW 300 VKM SW forEl (PR A) [30]
(1) omfeder o=l =aredl Qo Wed o oAl T .
(2) IdeR YRUM SO HEHhA FUH - A
(3) TE(H fashEER RO HOM HEh W H.
(4) SAfgE[ IR e WA Sfde oo TeRmndg guiF W

3 P.T.O.



[56501]-2039
(Gg-220 : Tourism Geography)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iizr) Draw neat diagrams and sketches wherever necessary.

(fv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any ten) : [20]

(1)
(2)
3)
(4)
(5)
(6)
(7)
(8)
9)
(10)
(11
(12)
(13)
(14)
(15)

What is Tourist ?

Give any two tourist places in Maharashtra.

What is Eco-Tourism ?

Give two types of tourism based on nationality.

How does climate attract tourists from various places ?
Give any names of two hill stations in India.

State names of two ideal villages in Maharashtra.

Give two characteristics of heritage tourism.

Give two advantages of air transport in tourism activity.
State any two characteristics of tourist guide.

Give two important features of motels.

Give any two types of accommodation.

What is health tourism ?

Write two advantages of Local tourism.

State two characteristics of lonar lake.

2. Write notes on the following in about 50 words each (any two) : [10]

(1)
(2)
(3)
4)
[5501]-2039

Importance of religious tourism.
Diveagar beach resort.
Manali resort.

Sport tourism.



3. Answer the following questions in about 150 words each (any two) : [20]

(1)

(2)
3)

(4)

How physical factors relief and waterbodies encourage tourism
activity ?

Write the importance of national parks and sanctuaries in India.
Explain the effects of socio-cultural factors in tourism poteintial
assessment.

Explain the role of MTDC in tourism.

4, Answer the following questions in about 300 words each (any two) : [30]

(1) How tourism activity encourages transport and communication ?
(2) Explain in detail economic impact of tourism.
(3) Explain various concepts in tourism.
(4) Classify and explain various accommodation types in detail with
examples.
(W& waia?)
% : W a™ THUT T : 80

oAl :— (i) §d WA diefau oTeRds SR

(i) 3SVARele ® TRAE YO U SFIfFQ.
(iii) STEvdI®h d9 Yo SMhHcAl el
(jv) RN VBf9d augE qEH 3.

1. Eeid YeAEl Yol gER 20 Y[ S forel (IO &) [20]

(1)
(2)
3)
(4)
(5)
(6)
(7)
(8)

[5501]-2039

ek US| 1Y ?

TERTSIASl hIUATEl @M Uded  T¥er=n A1d ferarn
o o ®|oN & ?

T FEEaEd T S YR 9.

fafay fowmor=n wewM TamE ®Y  AhitR L 2
IRARYS e gM afdrsew @

5 P.T.O.



(9) Tid FEEENE TR dRgh™ &M ®mEe 9.
(10) wed TrieyeME (MEE) TN Afyrse 9.
(11) weeq=t <= afyrse 9.

(12) FaEeFE FER &9 YRR 9.

(13) g Uded US| &F ?

(14) Tifie W& €9 wEe  fof

(15) <UR SeRm= <9 dfyrsesl @i,

2, YRl gUR 50 ¥=@ feur @ (FowE gF) [10]
(1) oifHe wEHea™ w7,
2) fEATR-Yeu (Ffw) T
(3) HACA-THS 3.
4) fwer wde.

3. @oia YRRl e gAR 150 VR SW faw (FOE gF) ;o [20]
(1) T FAURER Wifde & & Ui § e hd UROMW Ha| 2
(2) YRAdE TS STM S0 AR 9 Hewd @i
(3) WA &Wd™ ToIHIYd HIAMT WHISh o WRfdeh Heehidal URUMH
Ol TA d TR B

(4) T M.T.D.C. =i Yfsh1 T &

4, Eeid YA YRl AR 300 VI S fagl (FUdE g9) ;o [30]
(1) Wi HAUEATe aRgeHh S TR0l del el fHesd ?
(2) wheAE MY HRNER BIUR YRUMH HiowR W .
(3) wdearen fafgy daheum TR HA
(4) YIS arReME oAU wEA  ISELUdied TR

[6501]-2039 6



Total No. of Questions—7+5+5] [Total No. of Printed Pages—4

Seat

No. [5501]-2040

S.Y. BAA. EXAMINATION, 2019
MUSIC (&) (G-2)
(2013 PATTERN)
(foge gemm :— o1 Herdiel IWEIG TEE, 96, JaX 91 dedenl qEeE
fomrart wIvHE Tw gedten |@iga)
AT A
9% : 1 aw 30 fufe THUT TUT : 20
AT — (i) ufgenm uvd Hiefou sifer oTR.
(i) ARG YTAMRI HIOAE o9 S THU AR Y9 Hiedl
(i) ¥d YA YAR! 5 A1 YHO THM U R4

1. 31 o= ST v TahT WM Bl S (HEed/gaed)

e .

2. g<Ed WRY fShar Aeiehd AUS! HIVEl WehT I AfosX IS Aifedr
ferat.

3. YdaU®! HIUAR & diet YU Ineia mifedt faga drarn 3w femn

(1) AT

(2) 9¥HR

(3) fodifea wwa
(4) o=

P.T.O.



4, GeldYs! SR U A fag

(1) &
(2) dHed
(3) i
(4)  SgaEn
(5) TH&
6) =™
(7) dm.

5. four fas (Fo@@@ dF)
(1) e fagid
(2) TEIAR S ARAE 32 ot @A
(3) AR
(4) qHE TER.

6. Ty fae (FoEE Tw)
(1) dfra sufor smyfies Sefeh ST
(2) wREd
(3) Tild 9u ST

7. O IO SIVIEHANG BV Ukl Tiilawra =l foar.

[6501]-2040 2
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9% : 1 am 30 fufe THUT TUT : 20
ot :— () ufeem A defaw st R
(i) ARG UL HIUE W S THU WX YA Gredn
(iii) | YA Y&H 5 A YHAN TEM IO ST

1. tll\ll\l %T X l":l‘ﬁl ‘I: LI | T TN Tt “\Elr \ll\lltll ?:-U&Uf NN q-!%?ﬂ‘ I\I\é\l

dier=l Sl Thueld o gudid fomsl

2. HUAIHE hIVER! Sl Tk hEgl 9 AR Gole forml.

3. four fomr (v M)
(1) THheR, Thel
(2) 9SH, THA THAYHR
(3) YRdE Wida fafv= @@= dacarl  3ugwhd
(4) = S

4. IAUHR! FIUEE Tl fowaerR dfow faar
(1) daan @ SrErer 9t sfaem fosn
(2) dHdrermd ‘eifd gRAET A dieTel Wek kAl STV Ut Told for.

5. VAR Tkl gUHg dodEcs =i fo@.

[5501]-2040 3 P.T.O.



[56501]-2040
AR
d% : 1 @\ 30 fufve TRUT TOT : 20
IO :— () ufeenm A defan e &R
(i) 3ENG ULAhl FIVGE dF S THU IR Y e
({ii) @& UTAM YS! 5 A YU THH IO 3R

o~

1. 31 JO=A1 SAVAEHRAGA IO Tehl I S Td WRiAaag .

2. A IS FAAHEHANA HIUAEl ekl WM §q0 vt wifedt forgd
e feter.

3. four fomr (woEmE @F)
(1) wfgdert T«
(2) dEE TR
(3) THH T AMH YHKR
(4) AT SR Thue 9 gwe forEl

4., A T SEUFRANE HIUAR Tehl Wiaae @rfifae dreH fave &

5. il HvEE e foamaer dfewR fam
(1) YIT=A 9 S
(2) HH ot #fva
(3)  wrehgi.

[6501]-2040 4



Total No. of Questions—7+7+7] [Total No. of Printed Pages—5

Seat
No.

[5501]-2041

S.Y. B.AA. EXAMINATION, 2019
MUSIC
wifta fagtsr =@ (T@-1)
(2013 PATTERN)

(fafdre g1 :— =1 Hordiel WETT TEE, d9e, §a 9r dede

T foroEmell IUTdE T WeateRT drge)
TG TrEe

9% : 1 aw 30 fufe THUT TUT : 20

Bkl

— (i) ufgew v Gefan sifred TR

(i) 3ENG FEUHR! HOAE G TH THO FR YT Giedl
({ii) |d YTAA YABl 5 AYHT HHM TOT 3R

1. e, TR, IE AR AHI HIAR Tehl Wa facifad @@ (de

) W AEd H.

2. BEMe, S, Hoamn Aie! SHIE Tant W GfasR InEs mifedr o

3. E

dlel, Tehdlal AUt HIVCATE! UehT dlcll O, W€, 2, Hid AT9Hm ored

.

qresrd foel (Fvad g )

(1) =a W
(1) EA W
(iii) GO9SR W
(v) oTEIfad =R

P.T.O.



5. < fagr (e 9F)

() 9o
(Gi) =a
(i) <3t wa

(fv) ot @R faymem.

6. fEu fag (FEE )
(i) VRN T
(i) 3 TEA

(1ii) T IR0 TGl

7. G fa@ (FUER Te)

(i) Y. SISHIEA TAARISIRT
(i) @ SHRE

(iii)) SHTE STl

[6501]-2041



[5501]-2041

d% : 1 @\ 30 fufve TRUT TOT : 20
o :— () ufeem A Gefau st o1R.
(i) 39RG WEU®! FUME W9 T THY IR YT Hied
({ii) WA YA YAK! 5 AYH HHM TOT 3R

1. 9, o, dish At SIvEel TRt W TEaer Tq @ fadteg &

2.  @eR, WY, T IR DI Tehl W IfaeR MG Arfedt o

3. UOR, Jdel AR HIER TenT diem OHl, ©E, 2, & AYHN e
<h .

4. deFE@ fa@ (FoAE @)
(i) afagsEr
(i) EHIU T[T
(iii) Sie T
(fv) 2w

5. 3Jm fa@ (SvE@ gM)
(i) STTEE W YR
(i) gt WR faueH
(iii) =T

(Gv) .

[5501]-2041 3 P.T.O.



6. fEu fagr (FvER ww)
(i) TR @R

i) Tonm Agc

(1i)) TaE 3fare WEd.

7. @A fa@ (FUEEl TeR)
(G) 49 =W SoSm
(i) oT=gun <&

(jii) SHE AR

[6501]-2041



[5501]-2041

a% : 1 a™ 30 fufe THUT TUT : 20
ot :— () ufeem A defaw st ewR.
(i) 39RG WEU®! FUME A9 T THY IR YT Hied
({ii) T YA YAR! 5 ATHTO AW IO ST,

1. Usdaa fo=rn

2. U d o

3. AN oed &

4, U9l da fomrn

5. HAl 9N W H

6. fEy fa (FEE =)
(1) A drErEn gide
(i) g
(iir) ATl

7. QUM AGSH HIUAE Tk wHdlbd A for.

[5501]-2041 5



Total No. of Questions—7+7+7] [Total No. of Printed Pages—5

Seat
No. [6501]-2042
S.Y. B.A. EXAMINATION, 2019
MUSIC (")
favie w@ (TE-2)

(2013 PATTERN)
fagrsr gerr :— 91 Hurde W TEE, 9T, 9a 91 deuehl qae
faoar=it FIUTAE TR GYUBeRT |isdn)
IAEI A
9% : 1% q™ TRUT TUT : 20
ol :— ;) ufgem wvd diefaw siftard e
(i) ARG TRIUH! FUGE @9 S THU IR YA Gredn
({ii) WA YA YAS! 5 A YHTO HHM O AT

1. ansht, S5id, SRa AUHT B Teht Wk focfad e (€1 &)

e H.

2. A IAEHANIA DIUAE Teht T HiOER ISR difedt ol

3. TUHA, ¥AR, 3TN YHIG AUH! DIUARI Tehl diam= AH, ©E, A,
A I YA @ed S

4, deFE faw (FUEE ge)
(1)  9emEA
(2) ¥HR
(3) RIS TR
(4) THAEA Ygdel St emfor gaier

P.T.O.



5. Jw fagr (@t  F)

(1) 995
(2) i e wifec

(3) <Y
(4) FeHhd AR Hed

6. fEu fagr (FvEAR TH)
(1 g

(2) VIIYE WA
(3) gmM wia el

7. Gf@ fag (A ww)
(1) #imdt 9| 3T
(2) SHE 9 AW el @i
(3) U oftmdE Sieh

[6501]-2042
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AR
9% : 1% d™ THUT TUT : 20
o :— (i) ufgem yvA gefawn siftamd e
(i) 3HNd GRSl HIUME @9 3 THU IR Y39 Gredn
({ii) | YA Y&HI 5 A YA GHHE U SR

1. I SAIERAMNIA AR TRl WM AFd@ Td  SRfedisig .

2.  HaEd, IE TR, SIAYA ATUR! HIVART TRt W= AR I difedt
fea.

3. U%dW, godad, e Aamel Rt Ter de e, T, 26, S
T YUY @ H.

4. dieHE@ fa@ (FERN EE)
(1) IR o sfae™
(2) TERMSMIA o gt
(3) W enfor wfe

(4) S G T8

5. < fa@ (+veRl gF)
(1) @ frgome @&
(2) Tq A WhR
3) YU
(4) Y¥HR

[5501]-2042 3 P.T.O.



6. fEu fagr (FvER ww)
(1) wfa TEqgel fa=n
2) fEs™ 95
(3) wia a eMyfiws doifes Sy

7. =f@ fa@ (SRl Th)
(1) 3= fafoeen @i
(2) studt o ST
(3) WK ST STt @

[6501]-2042 4
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LEK
9% : 1% d™ THUT TUT : 20
o :— (i) ufgenm gvd wefau sferd e
(i) NG TRUHI HIVEE @9 3 THU IR Y9 e
(iii) €& YA YAHR 5 A YA FEM IO AT

1. gada ferr

2. YAR d« foen

3. wUF dod @9 o gu faeR fomn

4, 9 dom@ @9 9 wq faeR femn

5. 205 b ro S 1 < M T A

6. Ty fagr (FVEAR TH)

(1) hoEldlg oS

(2) doIEl IfdeM™
(3) I«

7. QU HAESH HIUAE THT FHAlhNd AT forl.

[5501]-2042 5



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [5501]1-2043
S.Y. B.A. EXAMINATION, 2019
PUBLIC ADMINISTRATION
(G-2 : Indian Administration)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(@)
(i1)
(iii)
(iv)
()
(vt)

Significance of 1935 Act

Welfare State

Composition of Election Commission
Lokayukta

Role of Governor

Planning Commission.

2. Answer the following questions in 200 words each (any two) : [20]

(@)
(i1)

Cantonment Board.

Functions of Block Development Officer.

(iti) Composition of High Court.
(iv) Functions of Gram Panchayat.
3. Answer any one of the following questions in 400 words : [20]

(@)
(i1)

Explain the powers and functions of Prime Minister of India.

Explain the composition, power and functions of Zilla Parishad.

P.T.O.



4, Write short notes on (any four) : [20]
(i)  Vice-President
(ii) Powers of Rajya Sabha
(ii1) National Human Rights Commission
(iv) Functions of Municipal Council
(v) Right to Information
(vi) The State Secretariat.

(WS wUial)
9% : 9 a™ TRUT TTOT : 80

1.  Wefd YeEl W Y@ 100 Vssid foel (FIURE W) [20]
(i)  1935%A1 hFAE HEA
(ii) HAURE T
(iii) THeeu® SARNT= A
(fv) AR

(v) TS e

(vi) THEE dew.

2.  Welid Yl W el 200 V=@ foer (e 9F) [20]
(i) DA HEw.
(i) Tefawmm AfueTar=l .

({il)) =9 FEEET =L

(Gv) UHIERECET SHE.

[6501]-2043 2



3. Woiadsh! IR TRl Y W 400 ¥ foar . [20]

(1) RArEA Yauerre MR eTfor R T R
(i) foog ufoe=t @A, sifusr ofon & T &

4, dGiew@ feor fo@r (Fivdd =wX) [20]
@) 39T
(i) THE9d YRR
({ii) TSR HHEEt BFh ST

(jv) TRUTCAh=ET hrd
(v) TIfedt AfPR

(vi) TSI Ffearaa.

[56501]-2043 3



Total No. of Questions—4]

Seat
No.

Time :

N.B. :—

S.Y. B.A. EXAMINATION, 2019
PUBLIC ADMINISTRATION

S-1 : Personnel Administration

(2013 PATTERN)

[Total No. of Printed Pages—3

[5501]-2044

Three Howurs Maximum Marks : 80

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
3)
(4)
(5)
(6)

Accountability

Spoil system

Meaning of Retirement
Performance of civil servants
Right to form Association

Administrative Tribunal

2. Answer the following questions in 200 words each (any two) :[20]

(1)
(2)
3)
(4)

Explain the meaning of Personnel Administration.

Describe the objectives of training.
Describe the features of civil service.

Explain the merits of Recruitment.

3. Answer any one of the following questions in 400 words : [20]

(1)
(2)

Explain the meaning and functions of civil services.

Explain the needs and benefits of Retirement.

P.T.O.



4. Write short notes on (any four) : [20]

(1)
(2)
3)
(4)
(5)
(6)

Importance of Personnel Administration
Corruption

Whitley Council

Meaning of Training

Functions of Personnel Administration

Motivation.

(WS ®aial)

9% : || AW TeRUT TOT : 80
oAl :— () §d WA grefau sited e
(ii) ISAIhSle 3k TEAE YU U SFifaar.

1. Wedys! HIvhel IR 999 Gedl (Y6 100 <) [20]

(1)
(2)
3)
(4)
5)
(6)

SR

dd Usd

Hafgdan  a1ef

Tl Yaehi=t SRR
AT TquarEl  SAfHHR
ERIEEICEES I BlIEE T

2. @AYl HIAel 9 937 TEal (Y&t 200 I d) [20]

(1)
(2)
3)
(4)

[5501]-2044

Yo Al Y fave &
gfgreom=t 3fese T wAL

T ot Afvre e &
qedll gfsha= o fowrg .

2




GIcdeh! R Ueh Y99 Argal (400 I&M) :
(1) A Go=n a1ed o7for & fove .

(2) arfg<i=l RS U EwES TR HA
qrerra fear o (FiveEl =mw) -

(1) Ya% YRMEATE HE

(2) Y™ER

(3) e DI

(4) wfveom=n e

(5) Yok YA wE

(6) WU

[5501]-2044

[20]

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-2045

S.Y. B.A. EXAMINATION, 2019
PUBLIC ADMINISTRATION
(S-2 : Local Self-Government of Maharashtra)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) Explain the composition and function of ‘Gram Sabha’.
(it) Describe the problems of ‘Slums’.
(iiz) Explain the importance of ‘Mahila Bachatgat Mohim’.
(iv) Explain the problem of political interference in rural
administration.
(v) Explain the importance of Local Self-Government.
(vi) Explain the powers of ‘Nagaradhyaksha’.

2. Answer the following questions in 200 words each (any two) : [20]
(i) Explain the powers and functions of Zilla Parishad President.
(ii) Explain the provisions of 73rd Amendment Act.
(ii1) Explain the ‘Balwantrai Mehata’ Committee.

(iv) Explain the functions of ‘Cantonment Boards’.

3. Answer any one of the following questions in 400 words : [20]
(i) Explain the meaning and nature of Local Self-Government.

(ii) Describe the composition and function of Zilla Parishad.

P.T.O.



4, Write short notes on (any four) : [20]
(i) Block Development Officer of Panchayat Samiti (B.D.O.)
(ii) Gharkul Yojana
(iii) Corruption problem in rural and urban administration
(iv) Gramsevak
(v) Vasantrao Naik Committee

(vi) Chairman of Panchayat Samiti.

(W& i)

= £ THUT T : 80
ol :— (i) wd uvd defan sifad e
(i) SERel® 3% qu IO Feifodm.

1. Weicads! HdE AR 99T diedl (TAhi 100 =) ¢ [20]
() umEa=t’ AfyeR 9 ™ TR &L
(i) ‘FUeugidia’ TSR 9uid
({ii) ‘TRl d9d e HEE"’ Hed 9.
(fv) UHIU YRMEAGE USTohid gEasiar=l’ IHe W 6.
(v) TOHF wWeT TEE Hed W .
(vi) TR ATYHR T

2. EcUs! HIvdel M ¥ Wiear (YAs! 200 @) : [20]
(i) Tooer iR sreasr= sifyeR & @@ 4.
({i) 73 HSAGEK HFSAMIA qGal  HA.
(i) IAIE BEdl HHAD FOE HA.
(Gv) ‘& deEl wE T FH

3. WCiiclush! ARl Tk U9 Weal (400 &M) [20]
() e Weg gEEr 31 9 WeY W .
(i) foog ufe=n AfYer o wE=T 9vika &

[65601]-2045 2



4.

derma feqr for (el =w)
() Y[ gffdre mefaw™ situert (B.D.O.)

(i) ERA ANl

(i) UH 9 IR YIEAE YRR T
(jv) UHIES

(v) TEAUI ATeh  GiHdl

(vi) U9Ed GEd FHY |

[5501]-2045 3

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [56501]-2046
S.Y. B.A. EXAMINATION, 2019
PSYCHOLOGY
General Paper-I1
(Social Psychology)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
3)
(4)
5)
(6)

What is Conformity ?

What is Discrimination ?

What is Premarital Counselling ?
Define pro-social behaviour.

Explain the components of attitudes.
What is Self ?

2. Answer the following questions in 200 words each (any two) : [20]

(1)
(2)
3)

(4)

Explain the research areas of Social Psychology.

Describe the theories of love.

Explain the internal and external factors influencing pro-social
behaviour.

Explain the communication skills.

3. Answer any one of the following questions in 400 words : [20]

(1)

(2)

What is self-concepts ? Explain the concepts related to
self.

Define Aggression. Explain forms of aggression.

P.T.O.



4, Write short notes in 50 words each (any four) :
(1) Internet
(2)  Group Decision-making
(3) Bystander effect.
(4) Healthy Communication
(5) Leadership
(6) Prejudice.
(TS E®UIa)
q% : o aE

ol :— (i) Td WA dAERas  STed.

1. Wi Y3t S 9de! 100 vsSid fa@l (HIvEl | m)

(1)
(2)
3)
(4)
(5)
(6)

2,  Eield YeaEl W OUAd! 200 v foRl (Fvd ed)

(1)
(2)
(3)

(4)

[6501]-2046

(ii) ISAhSle 3k TEAE YU O SFifaar.
(iii) WSHHEIS HeB TUSH WYAUCART BTl

SR BN *wE ?

A WU w1 ?
foqareqd wqueYH WU FwE 2
TN E 94 ®BUS & 7
AR Heh T Hh.
‘|’ wIN sE ?

TS HHERRSTE E9eieE 89 T &
Juren fagare o= %L

RC AL

TANTYIE dd-eR YH[E UK STdReh o &l 9edh hivd 7

U I T .

[20]

80

[20]

[20]



3. Woiads! IR TRl M W 400 vI=W foar . [20]
(1) @-Gheddl WIS HE? W-HAHd Fheddl T .

(2) SThHGdd A gl shHmde Al T .

4, YIH 50 V=A@ ded@ fowr faw (FUEmE w@w) [20]
(1) S
2) wqe frofagfsan
(3) TaEefl Wafier
(4) ATF HeE/Evn
(5) g
(vi) YaTE.

[5501]-2046 3



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5501]-2047

S.Y. B.A. EXAMINATION, 2019
PSYCHOLOGY

(S-1 : Abnormal Psychology)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) State brief history of ‘DSM’.
(2)  What is dysthymia ?
(3) State panic disorder.
(4) What is identity disorder ?
(6) What is fetishism ?

(6) State the problems of classification of personality disorders.

2. Answer the following questions in 200 words each (any two) : [20]
(1) Explain behaviouristic and humanistic perspectives of abnormal
behaviour.
(2) Illustrate obsessive-compulsive disorder (OCD).
(3) Discuss dissociative amnesia and fugue disorders.

(4) Describe cluster-C personality disorders.

3. Answer the following question in 400 words (any one) : [20]
(1) Describe schizoaffective disorder and delusional disorders.
(2) Explain various eating disorders.

P.T.O.



4, Write short notes on (any four) : [20]
(1)  Statistical criteria of abnormal behaviour
(2) Bipolar-II
(3) Acute stress disorder
(4) Munchausen’s syndrome
(6) Hyperactivity disorder

(6) Antisocial personality disorder.

(TS wuie)
q% : || A THUT TUT : 80
oAl :— (i) W U¥T AEvIE ST
(i) wodREte si% o o g,
({ii) USHMEIS! YB3 TUSH ULTUFART TR

1. el SIU@E FR GeEl SW Tdsl 100 = fagr o [20]
(1) <Siwgwm. =1 gfya sfae @
(2) T fadE WIS & 2

(3) omdfea fasrdl @

(4) W-3eeE famdl =S ®E ?
(5) Yfdheh™ SR WUS *HF ?
(6) AR fagd oEfiwIondial GHET T
2. GAus! HER G YR SW U@ 200 v faw ;o [20]

N [ (o

(1) wfaehdi=T odAcHes ST HHedER! goeichld T .

(2) four-Fdt AfErda faed! AR @ H.
(3) fodifsa gty onfor faogedt vamem fasdi=t == &
(4) SAfkga fagd=n ‘&®-1e’ FoF *:

[5501]-2047 2



3. Wicis! HIVAR Tl T SR 400 @ fo@r
ferumaras  wAifafad  enfor gyt fadi= o &

o Gevidia fafay fagdt T &

(1)
(2)

4, EAURl HIOERI TR diedd dqr fogr

(1)
(2)
3)
(4)
5)
(6)

[6501]-2047

AT oAl GRSty ey
fggeta-1I

[a o n
dlddi¥l  Idendl

TgEd  AHUEY

SHldlsh AIRMIcAdl  Tdlendl

o o n

SHIslAE[den odladHe  [dendl.

[20]

[20]

P.T.O.



[5501]-2047

(S-1 : Psychology of Adjustment)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) What is co-habitation ?
(2) Why are gender roles changing ?
(3) What is work-holism ?
(4) State narcissistic personality disorders.
(6) State the emotional responses to stress.

(6) What is blaming yourself ?

2. Answer the following questions in 200 words each (any two) : [20]
(1) What is divorce ? Discuss the causes of divorce.
(2) Discuss biological and environmental origins of gender
differences.
(3) Explain the types of schizophrenic disorders.

(4) Define stress. Explain the nature of stress.

3. Answer the following question in 400 words (any one) : [20]
(1) Discuss the behavioural perspectives of adjustment psychology.
(2) What is health psychology ? Illustrate the mind-body

connection.

[5501]-2047 4



4, Write short notes on (any four) : [20]
(1) Remaining single
(2) A gender free society
(3)  Unemployment
(4) Schizoid personality disorder
(56)  Conflicts

(6) Emotion focused constructive coping.

(WS wA)
9@ @ dF ™ THUT TUT : 80
ol :— (i) WA YT STORId A
(i) 3ISEthetd e qui U eRifed.
(iii) WU s TUSH URAULIRI T,

1. Welicds! SR TR UvEE W Ydsl 100 v ferwr ;0 [20]
(1) Tesftad ®Usl &E ?
(2) fam 9gfakms w1 d9gd B smed ?
(3) wHHEIfEAd WU w7

(4) TRfa AfFwa fawdt @

(5) avmen feem ST WEfaes gfdfseam  EHTL
(6) TACERYU WS w7

2. WdUsh! SR d gyl I Yde! 200 Vsdid fowr [20]
(1) ©EThe WU HE ? Ul SR == 4.
(2) femecren Sifow  onfor wafeRoTeTd:  ITWHRET == H

(3) fomTera fagde TR W= &
(4) AT RIS AT WEY WS HA

[5501]-2047 5 P.T.O.



3. Wicis! HIVAR Tl T SR 400 @ fo@r [20]

(1) FHENE AU aa-cish  gRlhHAmNEl == .
(2) MY OFWETE BN & ? TF-IRR HeY 9eR WR &

4., WU HIEAR TR Ged[ da fawr [20]
(1) THHI W
(2) fomgeR 99
(3) SUST
(4) fo~mTRdea Afdda fasd
(5) g

n o

(6) MIEMThsl AT GfadrsH.

[5501]-2047 6



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5501]-2048

S.Y. B.A. EXAMINATION, 2019
PSYCHOLOGY
(S-II : Developmental Psychology)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (Any four) : [20]
(i) Explain the post-natal adjustments.
(i1) Explain the language development in infancy.
(iiz) Describe the cognitive development in middle childhood.
(iv) Explain the stress in middle adulthood.
(v) State the signs of aging.
(vi) Explain the physical changes in middle adulthood.

2. Answer the following questions in 200 words each (Any two) : [20]
(1) Explain the types of birth and state the birth complications.
(2) Explain the physical development in infancy.
(3)  Explain the role of gender and career choices in early adulthood.
(4) Explain the daily life of late adulthood.

3. Answer any one of the following questions in 400 words : [20]
(i)  Describe the Piaget’s approach to cognitive development in early
childhood.

(zz) Discuss the threats in adolescence.

P.T.O.



4, Write short notes (Any four) : [20]
(1) Genes and chromosomes
(2) Learning disabilities
(3)  Friendship development in middle childhood
(4) Problems of working women
(6) Unemployment in middle adulthood
(6) Psychological problems in late adulthood.

(TS wUiav)
9% : 9 a™ THUT TOT : 80

1. Eeidais! HORE AR Y99 Toasht 100 <A dredl [20]
(j) THERRK TUENH W HA.
(i) YEERddd e fam T
({ii) T TeIEEdda Y faeE JuiH Fa.
(jv) A YeEddia v T H.
(v) TRUETE AW FAL
(vi) A YeEEdd THRE 9ga T FH.

2. WEicshl HIUAEl M YT YIS 200 V<M Gedl [20]
() SN YHR W HA MU ST STS= WL
(i) INEEddd W fae T .
(iii) TE-Ueeedda famiear AU =ewE fae e .
(jv) SW YEEEdd TAeH Sied e &

3. WCliciush! HIUARI Teh U 400 Y@ el : [20]
() T o= gEeaeaeRddia sieas  fomre geleae 9uiF
(i) fweiueeddia demm=t == .

[6501]-2048 2



4.

digsEd a1 faRl. (wF =R)

(i) SR a9 T

(zx) AYIIT  HAHAT

({ii) T FeAEdda B fawm
(Gv) THG woTN FoEren gEen
(v) TH Weadda ST

(vi) W YeEEdd AFES  THE.

[5501]-2048 3

[20]

P.T.O.



[5501]-2048

(Positive Psychology)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(it) Figures to the right indicate full marks.

1. Answer any four of the following in 100 words each : [20]
(1) What are the limits of positive emotions ?
(2) What is ‘Life above Zero’ ?
(3) What is hedonic happiness ?
(4) What is mindfulness meditation ?
(6) Why are materialists unhappy ?
(6) Explain five factors of personality.

2. Answer any two of the following in 200 words each : [20]
(1) What is subjective well-being ? Explain two traditions of
happiness.
(2) Explain broaden and build theory of positive emotions.
(3) Explain the relationship between gender and happiness.

(4) Explain the nature and role of self-esteem in detail.

3. Answer any one of the following questions in 400 words : [20]

(1) What is resilience ? Describe sources of resilience in childhood,
adulthood and old age.

(2)  Discuss all character strengths given by Seligman and also explain

the measure used to measure them.

[6501]-2048 4



4, Write short notes (any four) : [20]
(1) Positive Psychotherapy
(2) Experience sampling method
(3) Positive effects of trauma
(4) Benefits of marriage
(6) Traditional Psychology
(6) Work and unemployment

(S wUIa)
q5 @ W A THUT TOT : 80
oAl :— (i) | Uvd diefau oTewds S
(i) STEiwel® &k Y= qU U SIffodr.
(iii) TRUEIE T3 TUSH YEAULART TEE.

1. Tefid Yt Yl 100 IS Sw fael (FUdE W) [20]
(1) UHRHS WA= HAlgl HIoer  ?
(2) I WA A WOS hwE ?
(3) ORIHEIHE® SIS US| w7
(4) SINAd &H WU kA ?
(5) Afyffqerardt =g et w1 oARed ?
(6) AU Y=EEE TR FHA.

2. e YAt A%l 200 VS Sw feter (FvE €M) [20]
(1) s ERTE WS & ? SFEQE &M a0 5 &l
(2) YRAS 9eEAEn fawr enfor fAffdt fag@a = w5
(3) fom onfor oMe adial Hoy e &
(4) - WEY M0 qfHen O TR HA.

3. Wid YA Y@l 400 ¥RM S foel (FIVARI Teh) [20]

(1) feuditomsa Bost w2 deaee, Geewen s geraeddie ferdt-
WU Edre Ju

(2) TeftHa I Arsoien Td =i IO ==l R S0 AT AT

[5501]-2048 5 P.T.O.




4. GeqE du fa@ (FURE 9w)

(1)
(2)
3)
(4)
(5)
(6)

[6501]-2048

SEJEs:E1) J-II“H*I\I‘-I":!I{
IV AT gt
AN GhRcHs  giRomd
EEIRERRIPH

‘AI(H(I‘ICI HIAHRITA

HY AN SRR |

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-2049

S.Y. B.A. EXAMINATION, 2019
GANDHIAN THOUGHT
(General-2)
(Social and Educational Thought and Political and Economic Thoughts)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain what is Social reconstruction ?
(2) Explain Gandhiji’s concept of right and duties.
(3) Explain Gandhiji’s views on women education.
(4) Explain Gandhiji’s views about Satyagraha.
(5) Explain in short notion of man according to Ruskin.
(6) Explain briefly Gandhiji’s concept of spiritualization of Politics.

2. Answer any two of the following questions in 200 words each : [20]
(1) Explain briefly Gandhiji’s views on role and status of women
in Indian Society.
(2) Explain Gandhiji’s critique of Communalism.
(3) Explain the significance of Gandhiji’s idea of Ramrajya.
(4) State and evaluate traditional idea of Ashrama in the context
of Gandhiji’s idea of Varnashrama.

3. Answer any one of the following questions in 400 words : [20]
(1) Explain Gandhiji’s idea of Dignity of labour.
(2) Explain and discuss the importance of eighteen point constructive

programme of social change.

P.T.O.



4, Write short notes on any four of the following : [20]

(1) Removal of Untouchability
(2) Concept of Society according to Thoreau
(3) Village Swarajya
(4)  Tribhashasutra
(6) Gandhiji’s critique on Totalitarianism
(6) Ramrajya.
(& wuiav)
% : W q™ THUT T : 80

1. WMol YeEl W YIS 100 VK[ el (Fvee |w) [20]
(1) 9 gReA RS 61 ?
(2) TEASTET gFR MU HAA T Hheudl TR AL
(3) EfeomEadt Mefisien gfewm wWw &
(4) FAREEHET MeSa gfiew T F.
(5) TR Al AfFEHRTT S TR A
(6) TEASHET TSR SALATHBIRIU & Ghoddl deHd oI .
2.  Weld geAEl SW Ydd! 200 v fowl (FivdE e [20]
(1) S e YRAE qaeTda St e 9 s dewd
"oee .
(2) TERSH=T ArFAREd fehl T &
(3) TEiSH= TEUST AT Gheddd Hewd favIe @Al
(4) URUNS STSHEheUl MeiSi= JuisHdheq =a Heuld T &

[6501]-2049

2



3. Woiads! IR TRl M W 400 vI=W foar . [20]
(1) e gugfass= Fehoud HfaeR W &
(2) ANUREGTEaHE 73U fog faurs @ried & Fhea R HEd

< Heod favie R

4, e[ fear foa@ (FodEl 9wR) [20]

(1) sgvaa e
(2) 9= (Thoreau) ¥d THISTEHCYA!

3) UHETST

(4) TSR

(5)  TNESIEN TRl ¥R RIMeaie  2idh]

(6) HITSA.

[5501]-2049 3



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat
No.

[5501]-2050

S.Y. B.A. EXAMINATION, 2019
YOGVIDYA (@rfaem (G-2)
(Yogachisarvangin Baithak)

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :—

(i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]

(2)
(it)

State the objectives of yoga science.

Write the meaning of yama according to Patanjali.

2.  Write short notes on any two of the following : [10]

(@)
(i1)
(iii)
(v)

Anuloma-Viloma Pranayam
Jalneti

Bhujangasana

Dhyanmudra.

3. Answer any two questions from the following in 200 to 250 words

each :

(2)
(it)

(ii1)

[15]
What is asana ? State the types, precautions and benefits.

What are the importance of Patanjal Yoga Science in social
health ?
What is Baudha Darshana ?

4, Attempt any one question in detail : [10]

(@)
(i1)

Explain the importance of yoga science in mental health.
What is Astik Darshan ? Explain Yog Darshan in detail.

P.T.O.



(WS ®aia)

de : 2 dF TeRUuT 1Ot

el :— () §d v diefou sewas ST
(i) ISihele ¥ 3w YU U EFifodr.
({ii) WHHAIS Hed TUSH WITUCART el

1. Gade! SR TehTd 50 &M SR o o
(i) AveTETEr 3fER WAL

(oA

(ii) YaSicd gifdaedr I|=n 1Y fesn

2.  Ecfiete! diew| da w (e §F)
(i) SHaM-faam  gromm
(ii) SteHfd
(fii)  YSTIEA
(fv) Y

3, Wdidysh! HIVEE M Y9 Yot 200 9 250 Y5 ST

(i) 99 WUN %@ 9FF UER, Al 9 W 9.
(ii) HHIfSer ARFA UIdSiad ARTSTETY Heed |
(jii) g <xirfawEl  wfedt @i

4, WCAcUsh! DR Tl YA Ifae SW o e
(i) TAEE ARTIEE IATRTET Hgd W &

40

[5]

[10]

[15]

[10]

(ii) offEd® XM WOS &®E ? ¢ WA ANKRETOS Giow® =@l .

[6501]-2050 2



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [5501]-2051
S.Y. B.A. EXAMINATION, 2019
HISTORY
General Paper II
(History of Civilization : Indian Culture)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

@)
(i1)
(ii1)
(iv)
()
(vi)

State the features of Indian Culture.

Explain the socio-economic life during the Vedic age.
State the causes for the rise of Jainism.

Review the progress of Ancient Indian Painting.
Write a note on Bhakti Movement.

Write the main teaching of Arya Samaj.

2. Answer the following questions in 200 words each (any two) : [20]

(@)
(i1)

(ii1)
(tv)

Write the teaching of Buddhism.

Write the progress in Mathematics from Ancient Indian
History.

Discuss the architecture of Hindu.

State the contribution of Ramakrishna Mission to the Socio-

Religious reforms movement.

P.T.O.



3. Answer the following questions in 400 words (any one) : [20]
(i) Take a review of the salient features of Harappan Civilization.

(ii) Write the progress in science made by Ancient India.

4, Write short notes on (any four) : [20]
(i)  Geographical features of India
(i) Dravidian culture
(i) Cultural contribution of Ashoka age
(iv) Ancient temples
(v)  Muslim Architecture

(vi) Philosophy of Satyashodhak Samaj.

(AE wuiaR)
9% : i q™ THUT TOT : 80
oAl :— (i) Wd WA grefau oeRas eTRd.
(i) SIS Fh TIAE YO O gFifaard.

1. Wed EE G&® 100 S IW ferRl (IRl |r) [20]
(i) YRAE TEhdEr Aferses |
(i) dSfch TEhdidia GmSe-ofe  Sied Tase &
(iii) SF gHreA STATEl hRO W
(fv) UM YRAE  feshe=a1 Id=n  sTeen =
(v) WKl Fesdddl feuwd TR KL
(vi) o AN [ea e 9.
[5501]-2051 2




2. Tofd WEAED IO 200 V=M SWfoRl (FUME |/F) [20]
(i) drg e forewen fer.
(i) YA YR T soled et difedt forar
(iii) Tég wucashor=l wifedt fera.
(jv) YRAA THISTH - Tddid THEHS fHyF=D InEH 9.

3. Weid WAEl 400 v&M W foRl (RIVARD Tw) [20]
(1) T TEhde YgE dfyrsearEr e A
(i) YA YR faaea eoen WdEr mfedt <

4, diegd few foer (HIUEE \w) [20]
(i) wRarE s Sl
(i) sfagE awpdl
({ii) oM Urhfdd  ANEH
(fv) YA AR

(v) TAH TTOEw

(vi) TARMEH THSTE doTH.

[6501]-2051 3



Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
No. [5501]-2052
S.Y. B.A. EXAMINATION, 2019
HOME ECONOMICS
G-2 : Sociology of Indian Family
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(11)

Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(2)
(it)
(iti)
(iv)
(v)
(vi)

Explain
Explain
Explain
Explain
Explain
Explain

the scope of Sociology.

the types of family system in India.

the process of socialisation of the child.

the scope of family organisation.

the importance of marriage in Indian Family.

the nature of child welfare in India.

2. Answer the following questions in 200 words each (any two) : [20]

(2)
(it)

Explain
Explain

the merits and demerits of joint family system.

the causes of family disorganisation in India.

(ii1) Explain the social effects of social legislation in India.

(tv)

Explain

the basic development of Human Race.

P.T.O.



3. Answer the following questions in 500 words (any one) : [20]
(i) Explain the functions of Indian Family.

(ii) Explain the role of Government in child and women welfare

in Indian society.

4, Write short notes on (any four) : [20]
(i) Nuclear family system
(ii) Nature of Indian marriage
(iit) Types of marriage
(iv) Effects of family disintegration
(v) Nature of social legislation

(vi) Nature of women welfare.

(& wuiav)
% : W q™ THUT TUT : 80
ol :— (i) W TN Giefaul eResd SR
(ii) S9Eherd % YO O SRifom.

1. Td YeET 9dt 100 vSid S fagl (Rl 9am) [20]

(1) HANRTSED Al T .
(i) WRAA Hed TGa™ THR TR H
(iii) WTIehl=l  HHIFSIR IR LOM=T Gfsham T2 R

(lv) HT FIL A TR FHA.

(v) YRAE HaMd fooRM Te@ W &

(vi) YRAAA oA SN TWRY TS H.

[5501]-2052 2



2. Eold JEAET Y& 200 IR SW fa@ (HvE ) [20]
(i) THA A Tgdd O-3W TR R
(i) YRAMIA fed ORI &R0 TR &
({ii) WRAIA WS -TIg2hT |HATfSh qRUM  Toe .
(iv) ¥ oemel gayd foe™ e w

3. Welid JEET 500 ¥R W fa@l (FIVART Tah) [20]
(i) YR HIE HwE TR w

(i) YRdrE g Afgel 9 o hedTudial ImeAr=t e T .

4, geq@ fou fam (FoEE 9 w) [20]
(i) AUyfaved sea godt

(i) 9RdE foarM @Ey
(iii) foamM g&R
(iv) A Toeeam aRom

(v) GHIfSe fa9gs™ @&y

(vi) Hfeel HeAUTd WEY.

5501]-2052 3



Total No. of Questions—4+4+4] [Total No. of Printed Pages—9
Seat
No. [5501]-2053
S.Y. B.A. EXAMINATION, 2019
DEFENCE AND STRATEGIC STUDIES
D.S. G-2(A) : Military Geography
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(@)
(i1)
(iii)
(iv)
()
(vi)

State the concept of logistics.

Explain the importance of Diego-Garcia.
State the importance of National Power.
Explain the uses of Geostrategy.

State the concept of Strategy.

Explain the importance of Oil.

2. Answer the following questions in 200 words each (any two) : [20]

(@)
(i)
(ii1)
(iv)

State the characteristics of Jungle Warfare.
Describe the principles of Military Geography.
Explain the elements of National Power.

State the logistics in Plain Warfare.

P.T.O.



3. Answer the following questions in 400 words (any one) : [20]
(i)  Describe the scope and uses of Military Geography.

(ii) Explain the impact of Geography on land warfare.

4, Write short notes on (any four) : [20]
(i) Scope of Geostrategy
(i1) Geostrategic importance of Andaman and Nicobar Islands.
(itz) Principles of Logistics
(tv) Natural Gas
(v)  Characteristics of High Attitude areas

(vi) Grand Strategy.

(W& T UIR)
q%5 : W A THUT TUT : 80
g :— (i) Wd YT Hiefaul Aewds R
(i) 3ATREId 3Tk YIAE gU IO SEifodr.

1. @dd geEl SW TS 100 [ g (FOeE a9n) [20]
(i) YA FAILE Ghoddl HAT.
(i) fem-midam mea oo #.
(i) U2 IR HE@  EL
Gv) WA I WL FH.

(v) S Fhedd l TR HA.

(vi) dA™E HEd TR HA.

[5501]-2053 2



2. Wi g3l W Ykl 200 IsSd fa@r (RIUAEl @) :

(i) A gouROET afdres g
(i) TRY PiarEt T fawe .
(i) U IEE HEh TR HA.

(lv) TEH WRITHA YRaSl IR .

3. Teia YRt SW 400 ¥=M folel (FIUARN Tah)
(i) TERA YhArE A 9 IqEE foRie .
(ii) iarEl YIee’id g T FH

4, dieRE fear fomr (RivdE =@X)
(i) YIS S
(i) gAH 9 fRER Jem yumid wed
(iii) YEd FaI=t qo
(lv) “Efife 19
(v) feurseifea wowm=h SRS

(vi) foema Fgidl.

[5501]-2053 3

[20]

[20]

[20]

P.T.O.



Time

N.B.

[5501]

[5501]-2053

D.S. G-2(B) : Geopolitics

: Three Hours Maximum Marks :

:— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four)
(1) What are the functions of Territorial Water ?

(i1) Explain Geopolitical thought by Karl Houshoffer.

(iii) Explain the concept of Exclusive Economic Zone.

(iv) State the importance of Political Geography.

(v) State the types of Natural Boundaries.

(vi) What are the objectives of Geopolitics ?

Answer the following questions in 200 words each (any two)
(i) What is Buffer State ? Explain its problems.

(i) Describe the basic elements of Nation.

(ii1) Explain the Heartland theory of Mackinder.

(zv) State the functions of Boundaries.

Answer the following questions in 400 words each (any one)
(i) Describe the geographical factors affecting war.

(i1) Explain the Sea Power theory.

-2053 4

80

: [20]

: [20]

: [20]



4, Write short notes on (any four) : [20]
(i) Concept of Frontiers
(i) S.B. Jones
(iizr) Nature of Political Geography
(iv) Objectives of Territorial Water
(v) Importance of Wartime Geopolitics

(vi) Land-Locked State.

(TS ®UIM)
q% : dF A THUT TUT : 80

1. Teid 9El W YEE 100 [ fael (Fe 9 n) [20]
(i) URRe TAREEt & & ?
(i) I FEER A PSR faER T w1
(i) offder ey &=l daheud T &
(iv) USHE e Hed 9.

(v) ofife dme gerR TR
(vi) YT 3fEse wURT ?

2. TOld YN WA 200 VKW fawl (SI0del §F) [20]
(i) Efcd T BN &M@ ? A AR W H
@) T A wew o .
(iii) Wfhetan #HyH fagd T &
(jv) WU *HE G

[5501]-2053 5 P.T.O.



3. Wit YAt IW 400 Vi ol (FvEE WeR) [20]
(i) JgR uRom FOM Gifas wewh FoF wq

(i) W ga=1 fagid wse &L

4. drewa fow fag (FvE E9w®) 201
({) O YRRl Geheddl
(ii) |E. Sl ™
(iii) TSR = &y
(v) YRS SarEEl SfEse

(v) ISHEM YUSHIE AL

(vi) yafted Use.

[5501]-2053 6



[5501]-2053

D.S. G-2(C) : Industrial Security
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) What is Industrial Espionage ?
(iz) What is to be done after fire break ?
(iii) What are the objectives of Industrial Security ?
(iv) Explain the importance of evidence.
(v) What is power of arrest ?

(vi) What are the duties of security department ?

2. Answer the following questions in 200 words each (any two) : [20]
(i) State the duties of Security Inspector.
(i) What are the causes of Fire ? Explain.
(iti) What is Security Lighting ? Explain.

(fv) Explain the scope of Industrial Security ?

3. Answer the following questions in 400 words (any one) : [20]
(i) State the role of Security Department near main gate.

(ii) Describe in brief various types of first aid.

[5501]-2053 7 P.T.O.



4, Write short notes on (any four) : [20]
(i) Bombay Police Act, 1951
(i1) Fundamental Right
(iit) Dry Chemical Equipment
(tv) Court Procedure
(v)  Perimeter Wall

(vi) Search Room.

9% : 9 q™ THUT TOT : 80

1. @id geEl SW YS! 100 W[ g (FoeEl an) [20]
(i) oieifiee SR =S % ?
(i) M ANed Al HE HAS 2
(ii7) oienfir e el ot ?

(iv) YU T W H

(v) 3RF FIEl fhar ThsuamEl JIHER WIS & ?
(vi) & fourT=l ®ded SIodl 2

2. TOld YN W A 200 VW fawl (SI0del gF) e [20]
(i) gren Fgerl sded @
(i) AN 6RO HIUET 7 T R
(i) Y& THNI Fl WIS & ? 9 W &4
(jv) SRR W A T FHA

[5501]-2053 8



3. Tola Y W 400 Wi fo@l (FIVER! Teh) [20]

(i) H& YovigNSEeial Gal faumm=l qffeh g
(i) gHoEREn fafay geRE died[ 9 &

4, dieH@ few fa@ (@R 9w)) [20]
(i) Has Ufew SAtutEm, 1951
(ii) HAYd 3SYRR

(iii) T HigHA ITH
(fv) —AEEE ik
(v) HITN FEdEEr faa

(vi) TSdl HE.

[5501]-2053 9



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat
No.

[5501]-2054

S.Y. B.A. EXAMINATION, 2019
DEFENCE AND STRATEGIC STUDIES

(D.S. S-1(A) : Indian Military System After Independence)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(@)
(i1)

(iii)
(iv)
(v)

(vi)

What are objectives of Indian Defence Policy.

Explain the location and geo-strategic importance of Jammu
and Kashmir.

Explain in brief Tashkent Agreement.

State the problems of Bangla Refugee.

What is Operation Vijay ?

Explain the reforms for Indian Air Forces.

2. Answer the following questions in 200 words each (any two) : [20]

(@)
(i1)
(111)
(iv)

Explain in detail the India’s Military Capability.

Trace the Defence Policy of India.

Explain the causes of 1965 War.

Explain how the Border problem is a crucial issue in India-
China relations.

3. Answer the following questions in 400 words each (any one) : [20]

(2)

(11)

‘Kashmir issue is a crucial issue in India-Pakistan relations.’
Explain.

Describe the performance of Indian Forces in 1971 War.

P.T.O.



4, Write short notes on (any four) : [20]
(i) Indian Army
(i) L.O.C.
(izi) Simla Agreement
(tv) McMahon Line
(v)  Operation Talwar

(vi) India’s Economic Power.

(WS ®aial)
9% : A9 A Tehut ToT : 80

1. Weid YAl W Yl 100 vSid for (@ivaE w|mw) [20]
(1) YRAE TR gRumE 3fesew o ?
(i) SH-hvHE TWHE AN qEEE 7 T HA

(iii) dIvhe HIX ATSHd T H.
(Gv) e freifaaren g9e=n 9.
(v) ATEE faog WIS &E?

(vi) YR =T gHEN TR H

2, Told YAl IW OGR! 200 i@ folel (FI0el |]F) [20]
(i) HRAEN TSR HAT TS h.
(i) R U GRUMET SATeEn EA
({ii) 1965 =A IGHl HRU TE H.
(jv) HH IR WRA-<F GEUel haRul QUK ®I AR? d TR H

[5501]-2054 2




3. el YE SW 400 Y[ fawl (FIUAE W) [20]
() ‘YRG-UfREE GeUd HRHR YT E Uk HoHd WHE R e
.
(Gi) 1971 = JSHldl ARAE EE SarEl kAR fowe w1

4, dieRd few fom (@R @w) [20]
(1) ARG ey
(i) TUTAShE. (yag e )
(iii) TaHen R
(jv) HeHRM IS
(v) SAMEH TR
(vi) YRArEr oTfdes I/ Ame.

[5501]-2054 3 P.T.O.



[5501]-2054

[DS. S-1(B) : Maratha Military System (1630-1818)]

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(@)
(i1)
(iii)
(iv)
(v)
(vi)

State the articles of Treaty of Purandar.

Explain the role of Dadoji Kondadev in making of Shivaji.
Explain the objectives of Karnataka Campaign.

Explain the strategic importance of Forts.

State the Military qualities of Bajirao-I.

State the role of Rajaram in the war of Maratha Independence.

2. Answer the following questions in 200 words each (any two) : [20]

(@)
(i1)
(i11)

(tv)

Describe the Third Anglo-Maratha war.

Explain the causes of downfall of Maratha power.
Describe the geographical and social background of Maharashtra
before Shivaji.

Describe the Maratha Military Organisation under the Shivaji.

3. Answer the following questions in 400 words each (any one) : [20]

(2)
(it)

[6501]-2054

Describe the battle of Pratapgad.
Discuss the role of Santaji and Dhanaji in Maratha War of

Independence.



4, Write short notes on (any four) : [20]
(i)  Guerrilla tactics
(i) Nanasaheb Peshwa
(iiz) Kanhoji Angre
(iv) dJijabai
(v)  Strategic importance of Jawali

(vi) Tarabai.

9% : A9 A Tehut ToT : 80

1. Wefid YeEl W YIS 100 Vi feter (SuiEr um) [20]
(i) YR el hod  @n.
(i) et TS JeHetid SRS Hhieed AT fHwr T w0
(iii) Ak HEMA= Sfese @

Gv) Teraa 9 Wed T &

(v) dfcedl TSE™ TR O EEL

(vi) USIRHE AUSI=A Wia gt YT .

2, Teld el IW U@ 200 R fa@ (FRUAE gM) [20]
(i) S-TE g gge 9uie
(i) AU TOA UAE] HRO W A
(iii) ToEqEwei meRMer=n  Ariifas, arfee  qedyH 9o .
(iv) Tt mERSE fEEvmeea T TR §Eedd 9o .

[5501]-2054 5 P.T.O.




3. Weid WYYl W 400 v ol (FUERl W) [20]
(i) vAUTEdEl Wer favke &
(i) WU WaAgSd daest 9 ¥l Are sEtREr 99 &

4, @ few fa@r (FUEREI 9 R) [20]
(1)  THHE e
(i) RS 9vmEl
(iii) reNST AW
(iv) fTSsiemE
(v) EdE FHER® Hed
(vi) TRIEE.

[5501]-2054 6



Total No. of Questions—4+4] [Total No. of Printed Pages—5

Seat
No. [5501]-2055
S.Y. B.A. EXAMINATION, 2019
DEFENCE AND STRATEGIC STUDIES
(D.S. S-2 (A) : International Relations)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

2]
(i1)
(11i1)
(iv)
(v)
(v1)

Explain the nature of International Relations.
State the functions of diplomats.

State the importance of Disarmament.

Explain the meaning and concept of Cold War.
What is Detente ?

Explain the importance of Realism theory.

2. Answer the following questions in 200 words each (any two) : [20]

(@)
(i1)
(111)
(iv)

What are the sources of International Law ?
Explain the meaning and concept of New Cold War.
Describe in detail the World Trade Organisation.
Describe the New World Order since 1991.

3. Answer the following questions in 400 words (any one) : [20]

(2)

(11)

Explain the role of U.N. in maintaining International Peace
and Security.

Explain in detail the nature and scope of Cold War.

P.T.O.



4, Write short notes on (any four) : [20]
(i) System approach
(ii) Diplomacy
(iit) Non-alignment
(iv) Nature of Detente
(v) GATT

(vi) Soviet Disintegration.

(TS i)
9% : 9 q™ THUT TOT : 80
T :— (i) Wd YA AEAvAE  3Aed.
(i) SSEIHhele 3 YA YO T Iiforan.

1. Treld YeEl S Y& 100 ISid foel (SIvEl =) [20]
() SAAWRE o™ WEY W
(i) TSISEl wE T B
(Gii) TSt @gd 9nm.
(fv) SMaggren o1 onfr Ghedm TR &AL
(v) T (TMERIY) WU & ?

(vi) drgeRE] fagaE Hed T &

2. Tl YAl S Yedsh! 200 vEid for@l (@ivmd gF) [20]
() SR HECAEl STHEIH  HI0 ?
(i) Afed Taggrn 31 STl Fehodd T TR H.
({ii) WMfd® YR goedl Afawr fave &
(jv) 3 G 1991 FAEl Afgd ShTfae Faeen fove w4

3. WElitd UvE S 400 Vi folel. (SRl WeR) [20]
(i) SRS wWad o gRem fehavadial 9ge Ul iy we
<h .

(i) viaggre TWEY U Aw HiowR e H

[5501]-2055 2



4. deHa faor fagr (FoE@E A9w)

(@)
(i1)
(ii1)
(iv)
()
(vi)

[5501]-2055

HTAHE T Ioh I
NSRRI
FAferea

N N
Qdld™ <@y

ﬁ(

Oifegua/difegad Wyrma fose |

[20]

P.T.O.



[5501]-2055

MD.S. S. - 2 (B) : International Security)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) Explain the functions of Diplomats.
(i) What are the types of Balance of Power ?
(itz) State the nature of environmental problems.
(fv) State the concept of Detente.
(v) What are the security problems of post cold war ?
(vi) State the concept of International Security.

2. Answer the following questions in 200 words each (any two) : [20]
(i) Explain the problems of Arms Control & Disarmament.
(it) State the various types of Balance of Power.
(iit) What are the causes and effects of Ethnic conflicts.
(iv) Explain the causes and effects of Terrorism.

3. Answer the following questions in 400 words (any one) : [20]
(i) Explain in detail the causes of Cold War.

(ii) Explain the concept Old and New Diplomacy ? Explain the
difference between Old and New Diplomacy.

4, Write short notes on (any four) : [20]
(i) New Cold War
(ii) Concept of National Security

(iiz) Pollution
(iv) Diplomacy
(v) Concept of Cold War

(vi) Nature of Non-Alignment.
[5501]-2055 4



(WS ®qiay)

9% : W a™ THUT TUT : 80
ol :— (i) WA YT STORId A

1.

(i) SSEIHele 3k YTAE YO T e,

Tefid Yol W UAHt 100 Vs fawr (doadt wmn) [20]
(i) USFAAE ®H TS &

(ji) U AT YeR hiv| 2

(ii) TAEROE TR WEY 9.

(jv) <didEl Hhedd HA.

(v) VAgSRR YWEA THAT DA ?

(vi) ST L&A Hehed T G

el el SW Yol 200 Vi fowl (FoeE dF) [20]
() IEtEEAE emfor AT gHeE T 6

(i) waEde fafgy geR o g

(i) TNy Guoia &R S7for gfRkemy o ?

(jv) TEIAARTT SRO AT YoMy T &

Greflel YAl S 400 vsia o (RiUdEl Tew) [20]
(i) Sfagerl RO FiaER e &

(fi) TN 9 T oAl Geheddl TR HU. A iR W HA

qrerrd a1 fagl (Fivddl =WwR) [20]
(i) TaE sdgs
(i) THE Y& Hhed Tl

[5501]-2055 5



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [55011-2056

S.Y. B.A. EXAMINATION, 2019
SOCIAL WORK (Gen.-II)
(I) Introduction : Fields of Social Work
(II) Population Education
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any one question in 500 words : [16]
(i) Explain the need of Rural Welfare.

(it) Write an essay on “National Population Policy”.

2. Answer any one question in 500 words : [16]
(i) Describe the problems of Growing Population in India.

(ii) Write an essay on “Weaker Section of India”.

3. Answer any one question in 500 words : [16]
(i)  Describe the problems of Indian Labour.

(ii) Describe the anti-social malpractices in Urban Area.

P.T.O.



4, Answer any one question in 500 words : [16]

(i)  Describe the Integrated Child Development Services Scheme
(ICDSS) in India.

(ii) Write an essay on “Food and Housing Problem in India”.

5. Answer any two questions in 200 to 250 words each : [16]
(i) Write a note on “Education”.
(it) Write a note on “Population Education”.
(iit) Write a note on “Problem of Aged”.

(iv) Write a note on “Poverty”.

(TS waiaw)
q% : || A THUT TUT : 80
g — () WA Yy defau oAeavas o
(i) 3SElweld 3k YU O SRifem.
(iii) WEHEE! Hod SUSH WIAUIRl Ued SRl

1. Glicddsl Tal U9 SW 500 ¥ faar . [16]

(1) TTHOT HeAOTE TS W HA

(i) TrEy fag ‘U< g g’

2. WClicush! TRl Y™ S 500 =@ ferer [16]
() YA AhEed deea a9 .

(i) Treiw faer ' vRadiad wAsiR (3Uaf|)  wHgm.

[5501]-2056 2



3. Weiicis! TaT Y S 500 ¥ ferer . [16]
(1) YR REREA 9HEE 90

(i) T8 WA STEHISh g5k auid .

4, WEidds! TRl Y9 SW 500 ¥ fomar [16]

(i) YRS ThicHiseh dled fast Talr deHe avid &

Gi) TreEg fagr “vrada o= 9 fam gue=n’’.

5. Woidds! dF YTl S UdH! 200 d 250 VW fowr [16]
(i) ‘ﬁ:q-[ m—[ “f?‘[m“
Gi) fem famr “‘<orgem foemr’’

(i) few famr ‘‘gsr=n guen’
Gv) fear femr ‘s’

[5501]-2056 3



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5501]-2058

S.Y. B.A. EXAMINATION, 2019
COMMERCE
G-2 : Business Accounting
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(zz1) Use of calculator is allowed.

1. Answer the following questions (any five) : [10]
(a) Concept of Book-Keeping.
(b) Meaning of Real Account.
(¢c) What is Trading Account ?
(d) What are the selling overheads ?
(e) What is Cost sheet ?
(f) Concept of F.I.LF.O.

2. Pass Journal entries for the following transactions in the books of

Himanshu : [20]
Dec. 01 Business started with cash Rs. 75,000
Dec. 07  Purchased goods for cash Rs. 10,000

P.T.O.



Dec.
Dec.
Dec.
Dec.
Dec.

Dec.
Dec.
Dec.

09 Sold goods to Swati on credit

12 Purchased furniture for cash

13  Paid for sundry expenses

14  Received Commission

18 Cash received from Swati in full
settlement

25  Paid rent

30 Paid salary

31 Money deposited into Janata Sahakari
Bank

Or

Rs.
Rs.

5,000
3,000

Rs. 600

Rs.

Rs.

Rs.

Rs.

Rs.

1,000
4,000
1,000

1,500

9,500

Describe various types of subsidiary books with its format. [20]

3. @A)

[5501]-2058

Explain in detail Purchase Procedure.
Or

Prepare Cost Sheet from the following :
Particulars

Raw Material

Productive Wages

Indirect Wages

Direct Expenses

Power

Depreciation on machinery

Director fee

Oil and Water

[15]

[15]
Rs.
50,000
20,000
5,000
7,000
1,000
1,000
1,000
2,000



(B)

[5501]-2058

Machine Repairs 1,000

Bad Debt 2,000
Postages 450
Factory heating 500
Office stationery 1,000
Depreciation of delivery van 800
Postage 300
Audit Fee 800

Prepare a Store Ledger Account from the following transactions
assuming that issues of stores have been made on the basis
of ‘First in First Out’ : [15]

2018
Sep. 1 Received 2000 units at Rs. 40 per unit.
3 Received 400 units at Rs. 35 per unit.
Sep. 6 Issued 1000 units.
8 Issued 800 units.
Sep. 15  Received 1100 units at Rs. 50 per unit.
Sep. 20  Issued 700 units.
Sep. 24  Received 200 units at Rs. 52 per unit.
Sep. 25  Issued 1000 units.
Sep. 28  Received 600 units at Rs. 44 per unit.
Sep. 30  Issued 560 units.

Or
Explain in detail time keeping and time booking. [15]
3 P.T.O.



(a)
(b)
(c)
(d)
(e)
%)

[5501]-2058

Write short notes on (any four) :

Types of Accounts
LIFO

Types of Overheads
Trial Balance

Advantages of Cost Accounting

Limitations of Financial Accounting.

[20]



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat
No. [5501]-2059
S.Y. B.A. EXAMINATION, 2019
EDUCATION G-2
(New Syllabus)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)

3)

(4)

(5)
(6)

Explain the educational importance of heredity.

Write the objectives of secondary education according by Mudliyar
Commission.

Explain the characteristics of emotional development at infancy
stage.

Explain the impact of motivation on learning.

Explain the importance of inclusive education.

Explain the Rousseau’s concept ‘Education according to

Nature’.

2. Answer the following questions in 200 words each (any two) : [20]

(1)

(2)
3)

(4)

What is insight learning ? Explain the merits and limitations
of insight learning theory.

Explain ‘School as a Social Institute’.

Explain the characteristics of physical and emotional
development at adolescence stage.

Explain the educational importance of environment.

P.T.O.



3. Answer any one question in 400 words : [20]
(1) What is forgetting ? What are the causes of forgetting ? Suggest
the remedies to overcome them.
(2) What are the problems in secondary education ? Suggest the
remedies to overcome them.

4, Write short notes in 50 words each (any four) : [20]
(1) Basic education system
(2)  Concept of inclusive education
(3) Social development at later childhood
(4) Thorndike’s laws of learning
(6) Need of education for special need students
(6) Educational importance of retention.

(W& T UIM)

9% : dF A THUT TOT : 80
ol :— () W U Grefau eavad e
(i) 3IEhele 3k YU O SRiferdr.

1. Wid g W TSl 100 v foel (FvhE |m) [20]
(1) oaw= Vafrer weaw T &
(2) TR EmH wiffdeet weafis feomt e fomn
(8) SoaEEdid WEe fasmmEl afite T &
(4) U FFIAER TON GRUME T .
(5) TEEHERM EUE W@ W &

(6) ®HET QT forgomel Hehedwr TR &

2. Wl YAt 3w YAH! 200 V@ foel (FoEEt @) [20]
(1) WieRds T99 ®US S 7 USR] STERM IUie 0 d Tkl
oo .
(2) ‘WMedl Tk wESw T T faum T &
(3) U THRe I vafw foemeEl dfse @ w3

(4) ufifferd= Jgfoe g8 T &
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3. TIeiid HIvaE! TeRl Y 400 ¥k W faar . [20]

(1) foorm =N w@ ? faoRomel RO & 2 faeneata fawRo
T FOAEE U™ gl

(2) weafhs fugurdia g9en ®iven ? ™ g wRoIEE U gEa.

4. YIAR 50 V=@ diedd W et (wvmE W) [20]
(1) Yot frgor ggd
(2) wAGUERT fRerom=t  Heheun
(38) frvewddia AmifSe  faehm
(4) dFER®d I=Ed |
(5) Tovr en srmuran foeneatardr feom=it RS
(6) R Nfore e
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(Education G-2)
(0Old Syllabus)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)

(2)

(3)
(4)
(5)
(6)

Explain the characteristics of language development at infancy
stage of development.

Write the objectives of secondary education with reference to
Mudliyar Commission.

Explain the concept of education according to nature by Rousseau.
Explain the educational importance of heredity.

Explain the impact of motivation on learning.

Explain the educational importance of retention.

2. Answer the following questions in 200 words each (any two) : [20]

(1)

(2)

3)
(4)

[6501]-2059

What is insight learning ? Explain the merits and limitations
of insight learning theory.

Explain the impact of environment on education.

Explain the statement ‘School as a Social Institution’.
What is vocational education ? Explain the importance of vocational

education.



3. Answer any one question in 400 words : [20]
(1)  What are the problems in secondary education ? Suggest remedies

to overcome them.
(2)  What is forgetting ? What are the causes of forgetting ? Suggest

the remedies to overcome them.

4, Write short notes in 50 words each (any four) : [20]
(1) Characteristics of Basic Education System.
(2)  Characteristics of emotional development in adolescence stage
(3) Concept of ‘Sakharshala’
(4) Characteristics of development process
(6) Laws of heredity

(6) Thorndike’s laws of learning.

(TS ')
q% : || A THUT TUT : 80
ol :— () W UYd Uefam seavas e
(i) SSElhele ok Yo O SRifer.

1. W@ YEEEl SW YAwl 100 v foer (Svhel 9w) [20]
(1) dcaEEddd e foemEl afmesl @< &
(2) Wefe@R MMM Wiffideie Aeafgs foeomrh e fomn
(3) wHET fiqd Heheddl TS HU.
(4) SR Yefe Wed W H
(5) U AFIAERIA URUME T AL
(6) U IR AW TR R
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2. Wiefld gEAEl S YS! 200 Vi fawr (RiREl dF) [20]
(1) WSS d® 1997 WUN %A 7 HHGRIA® 18 Ugdd 0 9
Tl W .
(2) ufifeerd=n forgomedian oo wose .
(3) ‘TMeA Uk WIS wea' foum == &
(4) adfgs fogo =woN wE ? oedfae e Wed TR w69

3. Tid HIARI Tkl T 400 I&e@ W faer [20]

(1) WAt fgurdial §9en Sl ? & U HOIEel S g

(2) foomru wus & ? fouRor=t SR @k 7 fawRore e s
HOIES U Gl

4. YARI 50 VKW AR dw faw (FU0E WwW) [20]
(1) woErt Rrgo gt i
(2) HAREWA wEts  foemEeEt  aftres
(3) HIEREMe-Hheq]
(4) fowmufwa=t At
(5) oTgeEme 7o

(6) of-ierEea segad fam.
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Total No. of Questions—5] [Total No. of Printed Pages—10

Seat

No. [5501]-2060

S.Y. B.A. EXAMINATION, 2019
INDUSTRIAL MATHEMATICS
(FMG-2 : Operations Research and Optimization Technique)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(itzr) Use of logarithmic table and calculator is allowed.

(iv) Graph paper will be supplied on demand.

1. Attempt each of the following : [16]
(i) Draw the common region of the following constraints :
X+ Y <6 and X - Y < 3.

(i1) Write dual of the following LPP :
Max Z = X; + X, — 6X,4
Subject to :

3X; + 4X, — 6X5< 7
4X; - 2X, + X53> 10
X, Xy, X3 > 0.

P.T.O.



(iit) Check whether the following transportation problem is

balanced ? If not, balance it :

D, D, D; [Supply

3
5 8 6

0, |_ 800
G

From 0, 500
8 4 6

0, — |— |— 900
Demand| 400 400 900

(tv) What is the optimality condition in assignmet problem ?

(v) Find maximin and minimax of the following game

problem :
Player B
B, B,
Al 5 3
Player A
Ayl 4 2

(vi) Write any two assumptions made while dealing with sequence

problem.

(vit) Explain the term sudden failure in replacement and maintenance

model.

(viii) Explain total float.

[6501]-2060 2



2. (A) Attempt any one of the following : [6]
(i) Solve the following LPP by Simplex method :
Max Z = 2X, + 3X,
Subject to :
X; +3X,< 6
3X; + 2X,< 6
X;, Xy > 0.

(ii) Solve the following transportation problem by VAM :

D, D, D, D, |Supply
10 8 11 7

S, 120
9 12 14 6

S, T | 40
8 9 12 10

S, ] | — 135

Demand| 16 18 31 30

(B) Attempt any two of the following : [10]
(i) Solve the following LPP by graphical method :
Min Z = 3X + 4Y
Subject to :
2X + 3Y > 36
2X + 2Y > 28
8X + 2Y > 32
X, X > 0.

[5501]-2060 3 P.T.O.
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(i1) Find initial basic feasible solution of the following

transportation problem by least cost method :

D, D, D, D, D; | Supply

4 6 8 8

O, 120
10 1 5 30

o, = 1 1 a0
| T U

O, ] |15
1 9 14 18

0, ] ] |_ |_ —1 13

Demand| 40 6 8 18

(itz) Solve the following assignment probelm

cost :

H O Q@ W »

v W X Y Z

3 5 |10 | 156 | 8

4 7 115 |18 | 8

8 |12 | 20 | 20 | 12

5 5 8 [10 | 6

10 | 10 | 15 | 25 | 10
4

for minimum



3. (A) Attempt any one of the following : [8]
(i) Solve the following LPP by Big-M method.
Minimize Z = 60X, + 96X,
Subject to :
2X, + 4X, > 40
3X; + 3X, > 35
X, Xy > 0.
(ii) The following is initial basic feasible solution of transportation

problem. Is it optimal ? If not, find optimal solution :

w, W, W, W,

- 1 2 1 4
!
- 3 |2 2 1
2
4 2 5 9
F, ] _ | |
(B) Attempt any one of the following : [8]

(i) A project has the following activities. Draw the network
and calculate the latest finish time (LFT) :

Activity Predecessor Duration
A — 6
B — 7
C — 4
D A 3
E A 7
F B 4
G C 2
H D 5
E, I E, F 3

-
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(ii) Reduce the following game problem by graphical method

and hence find optimal solution :

Player B
I IT III 1v

Ilg 1 0 -2
Player A

o1 o0 3 2

4, (A) Attempt any one of the following : [6]

(i) Find the sequence that minimizes the total elapsed

time required to complete the following jobs on two

machines :
Job Machine 1 Machine II
A 2 6
B 5 8
C 4 7
D 9 4
E 6 3
F 8 9
G 7 3
H 5 8
I 4 11

[6501]-2060 6



(ii) Find out critical path from zero float activities for the

following network :

(B) Attempt any two of the following : [10]
(i) The cost of machine is Rs. 61,000 and its scrap value
is Rs. 1,000. The maintenance cost found from past experience

is as follows :

Year Maintenance Cost
1 1000
2 2500
3 4000
4 6000
5 9000
6 12000
7 16000
8 2000

When should the machine be replaced ?

[5501]-2060 7 P.T.O.



(ii) Express the following game as LPP for Player A :

Player B
B, B, Bj

Al 5 3 7

Player AA,| 7 9 1

A, |10 6 2

(ii1) Determine the maximum or minimum (if any) of the

function :

f(X,, X,) =X, +2X, + X, X, - X7 - X2

5. (A) Attempt any one of the following : [6]

(i) Reduce the following game by dominance principle and

hence solve it :

Player B
B, B, By B, B

Al 4 4 2 -4 -6

Player A A, 8 6 8 -4 0

A; |10 2 4 10 12

(ii) Examine the following function for extreme points :
f(X,, X,) = 38X} + X5 - 10.

[6501]-2060 8



(B) Attempt any two of the following : [10]

(@)

(i1)

The following table shows the machine time (in hours)
for 5 jobs to be processed on two different machines.

Find the optimal sequence in which jobs should be

processed :
Jobs Machine A Machine B
1 3 6
2 7 2
3 4 7
4 5 3
5 7 4

The data collected in running machine, the cost of which
is Rs. 60,000 are given below.

Determine the optimum period for replacement of the

machine :

Year Resale Value Cost of Spares | Cost of Labour

(Rs.) (Rs.) (Rs.)

1 42,000 4,000 14,000

2 30,000 4,270 16,000

3 20,400 4,880 18,000

4 14,400 5,700 21,000

5 9,650 6,300 25,000
[5501]-2060 9 P.T.O.



(iti) Draw a network from the following activities and find

critical path and duration of the project :

Activity Duration
(Days)
1—2 4
1—3 8
1—4 6
2—5 2
3—5 12
4—6 10
5—6 14

[6501]-2060 10



Total No. of Questions—5] [Total No. of Printed Pages—6

Seat

No. [5501]-2061

S.Y. B.A. EXAMINATION, 2019
MATHEMATICAL STATISTICS
General-I1
(Discrete Probability Distributions, Statistical Methods and R-Software)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

1. Attempt each of the following :
(a) State whether the following statements are true or false : [1 each]
(i) Test Statistic is independent of unknown parameter on
parent distribution.
(i) When number of arrivals have Poisson distribution, then
inter-arrival service times follows exponential distribution.
(iii) The coefficient of multiple determination measures the
strength of linear relationship between response variable
and independent variable.

(iv) Short term fluctuations in time series is known as cyclical

variations.
(b) Choose the correct alternative : [1 each]
(i) The mean of Binomial distribution B(n, p) left truncated
at x = 0 is :
np
(@) np ®) 7"
np np
(c) (1_q)n (d) 1_qn

P.T.O.



111
(iz) Suppose X = (Xy, X9, X3) - MD (4,5,1,1), then E(X;)

s
() 2 b) 1
() 3 (d) g

(iit) Type I Error is defined as :
(@) Rejecting Hy when it is true
()  Rejecting Hy when it is not true
(c)  Accepting Hy when it is not true
(d) Accepting Hy when it is true
Gv) If X —» NB(%, p), then the value of £ is :
(a) Always integer (b) Any real number
(c) Positive real number (d) Positive integer
(¢) Answer in brief : [2x4=8§]
(i) Give two real life situations where Negative Binomial
distribution is used.
(iz) Find the value of Ry 95 if ry9 = 0.6, ryg9 = 0.4.
(ii1) Interpret the cases when N.R.R. = 1 and N.R.R. > 1.

(fv) Define the term queue and waiting time.

2. Attempt any four of the following : [4x4=16]
(a) A medicine is claimed to be effective in 90% of the cases.

A medical practitioner doubts that it is less effective than

claimed. A random sample of 200 patients treated with this

medicine showed that 170 were cured. Test whether the claim

can be rejected at 5% l.o.s.

[6501]-2061 2



®)

(c)

(@)

®)

(c)

[5501]-2061

Write a note on Auto Regressive model of order 1 ie. AR(1)
model.

Define Gross Reproduction Rate (G.R.R.) and Net Reproduction
Rate (N.R.R.). How are they computed ?

(d) Let X » Pm = 1.5). Write R commands to evaluate the
following :
IH PX =1)
(I PX > 2)
dII) P@E < X < 7)
(IV) Draw a random sample of size 10 from the distribution
of X.
(e) Explain M/M/1 : FIFO model. State the formula for the average
number of customers in the queue.
H If Xy, Xy, X3) > MD(n, py, pg, p3), then show that the
partial correlation coefficient ri9 4 is equal to -1.
3. Attempt any four of the following : [4x4=16]

Explain the concept of null hypothesis and alternative hypothesis
with suitable example.
Derive the expression for multiple correlation coefficient Ry 95
in terms of total correlation coefficients.
Give output of the following commands in R :
@ >x=1:5
> 2% x + 5
@) > x = rep2, 4)
> x
(itizt) > x = c4, 6, 8 5, 5, 5, 7, 3)
> unique (x)
(tv) > x = c(12, 15, 14, 19, 22, 15)
> x[-5, —6].

3 P.T.O.



(d)

(e)

)

4. Attempt any two of the following :

(@)

®)

(c)

[6501]-2061

A company manufacturing electric bulbs claims that the average

life of bulbs is 1500 hours. A random sample of 150 bulbs

shows that the mean life is 1490 hours. The standard deviation

of the life of bulbs is known to be 256 hours. Test the company’s

claim at 5% level of significance.

Let X = (X1, Xg,errevvrenn. X,) = MD@, pi, pgyereveereenn. D)

find the marginal distribution of X,.

Find mean of Binomial distribution left truncated at x = O.

(2)

(i1)

(2)

(i1)
(@)

[2x8=16]
Compute Crude Death Rate (C.D.R.) and Standardized
Death Rate (S.T.D.R.) for the following two towns. Take

the population of Town A as the standard
population : [4]
Town A Town B
Age Group Population No of deaths | Population No of deaths
0-5 12,000 200 18,000 300
5-30 35,000 400 45,000 450
30 and above | 24,000 500 31,000 700

Define the following terms :

(D
(ID

Estimator

Parameter

(IITI) Critical region
(IV) Null hypothesis.

Explain Holt-Winter double exponential smoothing method

in time series analysis.

Explain the terms Test Statistic.

Fit the trend line to the following data on sales in different

years. Also estimate the sales for the year 1996

4




(d)

(it)
(2)

(i7)

Year Sales (Thousand Rs.)

1990 14
1991 17
1992 22
1993 21
1994 29
1995 36 [6]

Give a situation where trinomial distribution is applied.[2]
Define partial correlation coefficient. If ry9 = 0.6,
rogg = 0.5, rig = 0.7, then compute rqg 3. [4]
A manufacturer claims that only 5% of his product is
unsatisfactory. A random sample of 500 items was inspected
and 30 items were found unsatisfactory. Does this justify

the claim ? Use 5% level of significance. [4]

5. Attempt any one of the following :

(@)

[5501]-2061

(@)

(i1)
(ti1)

Explain the procedure for testing Hj, : P; = Py against
H; : P; # Py, where P; and Py are the population
proportion of the two populations. The sizes are n; and
ny of random samples, taken from these two populations.
Also construct the confidence interval for P; — Po.[6]
Show that X 93 is uncorrelated with X, and Xg3. [5]
Two balanced dice are thrown. What is the expectation
and variance of number of trials until the scores of two

dice agree for the 10th time. [5]

5 P.T.O.
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(2)

(11)

(ii1)

(tv)

Derive the equation of least square regression plane of
Y on X; and X,. [6]
A random sample of 200 bolts manufactured by machine
A and 100 bolts manufactured by machine B showed 19
and 5 defective bolts respectively. Write a code in R to

test the claim that B is better than machine A. [4]
Out of 2000 residents in a certain area, 250 were found
to be earthquake affected. Can we accept the claim that
there are less than 10% earthquake affected residents ?

Use 1% as the level of significance. [4]
Explain the term ‘residual’. [2]
6



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat
No. [5501]-2062
S.Y. B.A. EXAMINATION, 2019
ENGLISH (General)
Paper 1II
(Study of English Language and Literature)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed :— (i) Rainbow : An Anthology of Short Stories

N.B. :—
1. (A)
(B)

Ed. Board of Editors, Orient Blackswan
(i) Linguistics : An Introduction
Ed. Board of Editors, Orient Blackswan
(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

Attempt any one of the following in about 100 words : [8]

(i) Define the term character. Explain the different types
of characters in the short story.

(i) Comment on the significance of setting in the short
story.

Attempt any one of the following in about 100 words : [8]

(i) What are the three questions that the king seeks answers
for ? Explain.

(i) Analyse the character of mother in the short story ‘Mother

of a Traitor’.

P.T.O.



2. Write short notes on any four of the following in about 100 words

each : [16]
(i) Phonemes and Allophones

(ii) Weak and strong forms

(iti) Pure vowels in English

(iv) Rising tone

(v)  Stress shift in derived words

(vi) Plosives in English.

3. Attempt any two of the following in about 100 words each : [16]

(i) Comment on the themes portrayed in the short story ‘Lawley

Road’.
(it) Attempt a character sketch of Kabuliwallah.

(iii) Write the story of ‘The Open Window’ from Framton’s point

of view.

(iv) Analyse the character of Bob in the story ‘After Twenty

Years'.

4, Write notes on any two of the following in about 100 words
each : [16]

(i) Morphemes and Allomorphs
(zt) Prefixation and Suffixation
(ii1) Coinage

(iv) Lexical and Functional Morphemes.
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5. Write notes on any two of the following in about 100 words

each : [16]
(i) National varieties of English

(zi)  Multilingualism

(ii1) Indian English

(iv) Difference between British English Vocabulary and American

English Vocabulary.

[5501]-2062 3



Total No. of Questions—35] [Total No. of Printed Pages—2

Seat

No. [5501]-2063

S.Y. B.A. EXAMINATION, 2019
SPECIAL ENGLISH
S-1 : Appreciating Drama
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Texts Prescribed :— (i) ‘The Merchant of Venice’ by William Shakespeare.
(i1) ‘A Doll’s House’ by Henrik Ibsen.
(iii1) ‘The Old Stone Mansion’ by Mahesh Elkunchwar.
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer any four of the following questions : [16]
(1) What is Comedy ? Give examples.
(2) Explain the plot as the main element of Drama.
(3) Differentiate flat and round characters.
(4) Write a note on setting.
(6) What is conflict ? Explain.
(6) Explain in brief the three unities in Drama.

2. Answer any one of the following questions : [16]
(1) Draw a character-sketch of Portia.
(2) Examine ‘The Merchant of Venice’ as a tragi-comedy.

3. Answer any two of the following questions : [16]
(1) Examine Nora Helmer as the protagonist of the play ‘A Doll’s
House’.
(2) ‘A Doll’s House’ is a realistic play. Illustrate.
(3) Explain the significance of the title ‘A Doll’s House’.

P.T.O.



4, Answer any two of the following questions : [16]
(1) Discuss the theme of degeneration and destruction in ‘Old Stone
Mansion’.
(2) Attempt a character-sketch of ‘Bhaskar’.
(3) Comment on the setting of the play ‘Old Stone Mansion’.

5. Answer any eight of the following questions : [16]

(1) Explain Shylock’s character with its types.

(2) Does Shakespeare handle unity of time in ‘The Merchant of
Venice’ ? Explain.

(3) What is the theme of the play ‘The Merchant of Venice’ ?

(4) Comment on the end of the play ‘A Doll’s House'

(6) Discuss the minor characters of the play ‘A Doll’s House’.

(6) Who is the antagonist in the play ‘A Doll’s House’ ? Why ?

(7)  Comment on the unity of place in ‘Old Stone Mansion’.

(8) Write a brief note on the major characters of the play ‘Old
Stone Mansion’.

(9) Explain in brief the role of Vahini.

(10) What is the symbolic significance of the tractor in ‘Old Stone

Mansion’ ?
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Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5501]1-2064

S.Y. B.A. EXAMINATION, 2019
ENGLISH
Special Paper II
(Appreciating Poetry)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Text Prescribed : Auroral Musings
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(a) Do you think that the poem “Sonnet 130” is against love ?
Give reasons for your answer.

(b) How is the poem “Broken Heart” different from the other
love poems that you have read ?

(¢c) Elaborate the themes of the poem “The Coronet” a temptation
of fame and power and need for humility.

(d) Consider “The definition of Love” as a fine example of metaphysical

poem.

P.T.O.



(e)

(@)
b)

[6601]-2064

Analyse the different emotions portrayed in the poem “On His

Blindness” starting with self-pity.

(f) Death is a major theme in Gray’s poetry. How is the theme
of death handled in the poem “Ode on the Death of a Favourite
Cat” ?
2. Answer any four of the following : [16]
(a) Justify the title of William Wordsworth’s poem “The Tables
Turned”.
(b) S.T. Coleridge is called a poet of imagination. Evaluate this
description using ‘Kubla Khan’ as an example.
(c) Elaborate the elements of nature described in the poem “Ode
to the West Wind”.
(d) Comment on Keats’ use of supernatural elements in the poem
“La Belle Dame Sans Merci”.
(e) What are the themes of the poem “Dover Beach” and how
are they related to the times of the Mathew Arnold ?
(f/ Tennyson’s poem “Ulysses” is about adventure on one level
and death on another. Do you agree ? Give reasons for your
answer.
3. Answer any two of the following : [16]

Describe the chief characteristic of Romantic poetry.
Coleridge’s “Kubla Khan” is a poem of imagination. Explain

it.



(¢) Discuss the characteristic of a ballad as seen in John Keats’

“La Belle Dame Sans Merci”.

4, Answer any two of the following : [16]
(a) How does Walt-Whitman prove that the soul is like a spider ?
Explain.
(b) Do you agree with the view that optimism and pessimism are
interwoven in the poem “Dover Beach” ? Discuss.
(¢c) Is the poem “The Blessed Damozel” a spiritual or

passionate ? Give reasons for your answer.

5. Explain with reference to the context any four of the
following : [16]
(@) This is my son mine own Telemachus,

To whom I leave the sceptre and the isle—

Well-loved of me, discerning to fulfil

This labour, by slow prudence to make mild.

A rugged people, and thro soft degrees

Subdue them to the useful and the good.
(b) I made a garland for her head,

And a bracelets too, and a fragrant zone;

She look’d at me as she did love,

And made sweet moan.

[5501]-2064 3 P.T.O.



(c)

(d)

(e)

)

[6601]-2064

A noiseless patient spider,

I mark’d where, as a little promontory, it stood isolated,
Mark’d how, to explore the vacant, vast surroundings,

If launched forth filament, filament, filament, out of itself,
Ever unreeling them—ever tirelessly speeding them.

In Xanadu did Kubla Khan

A stately pleasure-dome decree;

Where Alph, the sacred river, ran

Through caverns measureless to man

Down to a sunless sea.

A slumber did my spirit seal,;

I had no human fears;

She seemed a thing that could not feel

The touch of earthly year.

(I saw her smile) But soon their path

Was vague in distant spheres :

And then she cast her arms along

The golden barriers,

And laid her face between her hands,

And wept (I heard her tears).



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-2065

S.Y. B.A. EXAMINATION, 2019
PHYSICAL EDUCATION (Gen.-II)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

(iiz) Draw neat diagrams wherever necessary.

1. Write answers in 50 words each (any two) : [5]
(i) Write about various steps of Suryanamaskar.
(1) List down the jumping events in Athletics.

(zz1) List down the basic skills in Handball.

2. Answer the following in 100 words each (any two) : [10]
(i) Importance of Sports Tournaments in Physical Education.
(i1) Write briefly about Circuit Training Method.
(iit) Write briefly about seat-ups test.

3. Answer the following in 250 words each (any two) : [15]

(i)  Define physical fitness and list out the components of Health
Related Physical Fitness.

(ii) Write down the History of Modern Olympic Games.
(iiz) Importance of Yoga in day today life.

P.T.O.



4, Answer the following in 500 words (any one) : [10]

(i) Draw a neat diagram of Handball ground and explain the basic

fouls in Handball game.

(i) List out the training methods and describe weight training

method in detail.

(& wuiav)
q% : 2 AW THUT TUT : 40
o — () WA URA Hiefdau Aewed .
(i) SoEIHkeld 3% YU IO I

(iii) STEYIRATHR goh 3Tehdl  hIeIE!.

1. @elid Y= Y&t 50 sSid S foer (e M) [5]

(i) EIIHERR A Tgden g fora.
(i) Tt wide Seren yeREr At fem
(iii) doeafad A Weokdladl HAYd HieA=l a&T H.

2. Wil YT YAl 100 Wedid SR fol@l (RIUQRl @) [10]
() IR feomdid wiel Wy Osa favg wa.
(i) Wehie I a1 GO Ugdeca diesd wifedl foa

(iii) THe-3T@ FHHeEd g WHifedl .
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8. Woid Ul Ut 250 Vs S foel (Rl d@F) [15]

(i) YRINE Ygoddl Al Qi SRAYSd ggadd Hdeh T hl.
(i) oNYHe® oAfdaias Teral sfaed Afawr o

(jii) <HAfed SoFd Irme Hgcd T2 .

4., Telda YT YAH 500 VM SW @l (FIUEAE W) [10]
(i) Toedld A W HEHEN gaw Mhdl Higd JAYd IHRE  FUH
.

(i) fafaw gfergor ggde Il <o R gRTemr ggdieaga dfosaX wrfedt

fetar.
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S.Y. B.A. EXAMINATION, 2019
MATHEMATICS

MG-2 : Discrete Mathematics and Linear Algebra

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
1. Attempt each of the following : [16]
(@) Construct a truth table for the following statement :
- @ A q
(b) Write the truth value of 3x (x2 < x) if the domain consists
of all real numbers.
(c) State the rule of multiplication.
(d) State Inclusion-Exclusion principle of three sets.
(e) Define subspace of a vector space V.
If W=1{x v € R +y + 1 = 0} a subspace of R ?
Justify your answer.
(f) Define ker T and Range (T) for a linear transformation
T : V - W, where V and W are real vector spaces.
(g) Define orthogonal vectors in an inner product space. Show
that the set of vectors {(2, 0), (0, 2)} is orthogonal in V = R2
(Euclidean inner product).
(h) Find angle between &z = (1, 1) and v = (-1, 1) in a Euclidean

inner product space R2.

P.T.O.



2. (A

(B)

3. (A

[6501]-2066

Attempt any one of the following : [6]

(@)

(11)

Give the proof of De Morgan’s laws and absorption laws
by using truth tables.

A family has 2 boys and 3 girls. There are 5 Boy’s schools,
8 Girl’s schools and 3 Coed schools. In how many ways

each of five children will go to different school ?

Attempt any two of the following : [10]

(@)

(11)

(ii1)

Prove that if n is an integer and 3n+2 is even, then
n is even.

How many different strings are formed by rearranging
the letters of the word RIEMANN ?

A fair coin is tossed 10 times. Find the total number
of outcomes. How many outcomes have exactly 6 heads

and 4 tails ?

Attempt any one of the following : [8]

(2)

(11)

Prepare a truth table and verify that the following
implications is a tautology :

(@ b AP -9l > q

® > A@->nr > @ —>r)

Find the number of solutions of the equation x; + x9
+ x93 + x4 = 17 where xq, x9, x3, X4 are non-negative

integers such that x; < 3, x9g < 4, x3 < 5 and x4 < 8.

2



(B)

4. (A

(B)

[6501]-2066

Attempt any one of the following : [8]

(@)

(11)

If B = {ug, uyg, ...... , u,} is a basis of vector space V,
then show that every set with more than n vectors from
V is linearly independent.
If T: V> W be a linear transformation from an
n-dimensional vector space V to a vector space W, then
prove that :

rank (T) + nullity (T) = dim (V) = n

Attempt any one of the following : [6]

(@)

(i1)

Let V and W be two vector spaces. Let T : V —» W
be a linear transformation.

Prove that :

(a) ker (T) is a subspace of V

(b) Range (T) is a subspace of W.

State and prove Cauchy-Schwarz inequality.

Attempt any two of the following : [10]

(2)

(i1)

(ii1)

Show that the set of vectors {(1, 2, -3), (1, -3, 2),
(2, =1, 5)} is a basis of the vector space R3.
Let T : R3 - R3 be a linear transformation given by
T, v, 2) = (- x —y + 2z, x — 4y + 2z, 2x — by).
Find the coordinate vector of u = (1, 3, 2) with respect
to basis {(1, 0, 2), (2, 1, 0), (1, 0, D)}.
If w and v be two orthogonal vectors in an inner product
space V, then pvove that :

[z+T| P+ |+ 117] P

3 P.T.O.



5. (A

(B)

[6501]-2066

Attempt any one of the following : [6]

(2)

(11)

In any inner product space V and for # and v in V. Show
that <u, v> =0,iffandonlyif | |z + v || =]||& — v |].
Let R3 be the Euclidean inner product space. Use Gram-
Schmidt process of transform the basis {(1, 0, 0),

3, 7, -2), (0, 4, 1)} into an orthonormal basis.

Attempt any two of the following : [10]

(@)

(i7)

(4i1)

If Wy and Wy be two subspaces of a vector space V,
then show that W; n Wy is also a subspace of V.
Define orthogonal projection of a vector u onto v in
an inner product space V. Let R3 be a Euclidean inner

product space and w = (1, 2, 3) € R3. Find orthogonal

1 1
rojection of # onto w=|—, 0, —= |
) (ﬁ @J
Check whether the map T : R3 —» RS given by
T(x, y, z) = (x2, x+y, x+2) a linear transformation. Justify

your answer.
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S.Y. B.A. EXAMINATION, 2019
MATHEMATICS
(MS-1 : Problem Course Based on Papers MG-2 and AMG-2)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer the following : [16]

(e¢) How many ways are there to roll a die six times and obtain
a sequence one 1, three 5s and two 6s ?

(b) Determine whether the following is tautology :

@ Aq — A

(¢) Show that S=1{(1,1, 1), (1, 1, 0), (1, 0, 0)} is linearly independent
in R3.

(d) Let P, be a vector space with inner product :

1
<p, g> = fp(x).q(x) dx
-1

Find |P|| for P = 1 — «x.

(e) Let f(x, y, 2) = x3% + yz + 2z3. Find Vf(x, y, z) and
vfa, 1, 0).

(/A Find the extreme points of the function :

fx, y) = x* — 3%y + y°.

(g) Show that the function f(x, Y, 2) = nyeZLT+ x2e27+ x2yezlg 18
irrotational at all points in R3.

(h) Evaluate :

2 —1—

—%|.

lim | (%2 +1)i +€'j +
" +1

t—-1

P.T.O.



2. @A)

(B)

3. (A

[6501]-2067

Attempt any one of the following : [6]
(a) Test the validity of the following argument :
If T like Mathematics, then I will study.
Either I don’t study or I pass Mathematics.
If T don’t graduate, then I don’t pass Mathematics.
Therefore, If I graduate, then I studied.
(b) A fair coin is tossed 10 times :
(i) Find the total number of outcomes.
(i1) How many outcomes have exactly 6 heads and 4 tails
(ii1) How many outcomes have exactly 4 heads in the first
6 tosses ?
Attempt any two of the following : [10]
(a) How many permutations of the 10 digits either begin with
the three digits 987 contains the digits 45 in the fifth
and sixth positions or end with three digits 123 ?
(Use principles of Inclusion-Exclusion).
(b) Function f given by :

xy if |y[<|x|

flx, y) = .
—xy if |y|>]x]|

Find f;cy(O, 0).
(c) Obtain the shortest distance of the origin from the plane
3x — 2y + z = 4.

Attempt any one of the following : [8]
(@) Find the volume of the sphere x* + y® + z* = ¢* using triple
integration.

b) If g=flx-y,y—22-x), then show that :

a_g+a_g+a_g:()_
ox dy 0z



(B)

4. (A

(B)

[65601]-2067

Attempt any one of the following : [8]

(a) Find the area of the surface cut from the bottom of the
paraboloid x? + y> —z=0 by the plane z = 4.

(b) Let V = R3, the vector space of ordered triples of real
numbers. If W = {(x, y, 2)/2x + 3y + 4z = 0} is subset
of V, then show that W is subspace of V.

Attempt any one of the following : [6]

(@) Let f =4xi — 2y%] + z?k. Verify Gauss divergence theorem
for the function 7 over the region bounded by the cylinder
x> + y* =4 between the plane z = 0, z = 3.

(b) Using Stokes theorem, evaluate the line integral

<f)exdx+2ydy—d2, where C is the curve x?2 + y2 = 4,

C
z = 2.
Attempt any two of the following : [10]

(@) Prove that F =2xzi +2y2%j +(x? +2y’%2-1Dk is a
conservative field and find a potential function for F.

(b) Using Green’s theorem, show that the area bounded by
1
a simple closed curve C is given by EI(Xdy — ydx) hence
C

find the area of the ellipse x=a cos 6, y =bsin 6,0 <0 < 27
(¢c) Let f =-12z7 + 3xyj + 18yzk and C be the triangle ABC,
where A(6, 0, 0), B(0, 4, 0), C(0, 0, 2) traversed counter-

clockwise. Evaluate :

g|'>f.d7.
C

3 P.T.O.



5. (A

(B)

[6501]-2067

Attempt any one of the following : [6]

(a) Determine the dimension of and a basis for the solution

)

space of the system :
x; — 4xy9 + 3x3 — x4=0
26y — x9 + Oxg — 3x,= 0.
For % = (x,, x,), ¥(y;, ¥,) in R2?, define
<X, y>=y(x +2x5) + y,(2x; + 5x,)

show that <,> defines an inner product.

Attempt any two of the following : [10]
(@) Let R? have the Euclidean inner product. Use Gram-Schmidt

()

(c)

process to transform the basis {#, #,} into an orthonormal
basis, where u, =(1,0), u, = (3, -5).

Let T : R3 — R2 be a linear transformation given
by :

Tx, v, 2) = (—x —y + 2, x — 4y + z, 2x — by)
then find the matrix with respect to the standard basis
B ={e,, &,, e;} where, ¢, =(1,0,0),e, =(0,1,0), e =(0,0, 1).
If T : R® — R? is a linear transformation given by
T, v, 2) = (x +y — 2, x — 2y + 2z, 2x — 2y + 22).
Find basis and dimension of ker(T) and R(T).
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S.Y. B.A. EXAMINATION, 2019
STATISTICS (GENERAL)
(Statistical Prerequisites)
(Application of Statistics and Theory of Probability)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory
(ii) Figures to the right indicate full marks.
(iti) Use of calculator and statistical table is allowed.

(iv) Symbols and abbreviations have their usual meanings.

1. Attempt each of the following :
(A) State whether the following statements are true or false :
[1 each]
(i) P(Q) = 1 is one of the axioms of probability model.

n P,
Gi) "G =

r!

(zzz) N.R.R. can exceed GRR.

(fv) In binomial distribution mean is equal to variance.

P.T.O.



(B)

[5501]-2068

Choose the correct alternative : [1 each]

(2)

(i1)

(ii1)

(tv)

Secular trend in time series is of nature :

(a) Increasing

(b) Decreasing

(c) Stagnant

(d) All of the above

X takes values 1, 2, 3 with PX = 1) = 0.2 and EX)
= 2.2. Then PX = 2) is :

(@) 0.5

(b) 0.1

(c) 0.3

(d) 04

The multiple correlation coefficient lies between :

(@) -1 to 1

®) 0 to 1

(c) —oo to oo

(d) 0 to

The probability of drawing one white ball randomly from
a bag containing 6 red, 8 black, 10 yellow and 1 green
ball is :

(@) -1/25

®) 0

() 1

(d) 14/25



(C) Answer in brief : [4x2=8]
(i) State additive and multiplicative model of time series.
(iz) Compute R, .5 for the following data :
rig = 0.7, ris = rog = 0.5.
(iti) Define :
(@) Sample space
(b) Mutually exclusive events.
(fv) Suppose A and B are two independent events defined
on sample space Q, then show that A’ and B are also

independent events.

2. Attempt any four of the following : [4x4=16]
(a) If the variable X denotes the maximum of the two numbers,
when a pair of unbiased die is rolled, find :
(i) probability distribution of X
(i) PIX < 3]
(iii) PIX is even]
(b) Define Binomial distribution. If X — B(n, p) and E(x) = 5/3,

var(x) = 10/9, then find the value of q.

[5501]-2068 3 P.T.O.
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(¢c) Define Poisson distribution with parameter m. Also give
for real life situations where Poisson distribution is
experienced.

(d) Define :

(1) CDR
(i) CBR
(iii) ASDR
(iv) GFR.

(e) State and prove addition theorem of probability.

(/) Let A and B be two events defined on Q, P(B) > 0. Prove
the following :

@) PAJA) =0
(@) If B ¢ A, then P(A|B) = 1.
3. Attempt any four of the following : [4x4=16]

(a) Define :

(1)  Multiple correlation coefficient.
(it) Partial correlation coefficient.
(b) Let A and B be two independent events defined on a sample

space Q. The probability that at least one event of A and
B occurs is 0.7, while the probability that A occurs is 0.5,

determine the probability that B occurs.



(c) Let (X, Y) be discrete bivariate random variable with joint

p.m.f. :
kxy, x=1,2,3
P(x, y) = x=1,2,3
0, otherwise

@)k
(ii) Marginal p.m.f’s of X and Y.
(d) Define NRR in demography. Also interpret the following
NRR :
(i) NRR =1
(it) NRR < 1
(iti) NRR > 1.

(e) Compute 5 yearly moving average for the following data :

Year Annual Sales
(in lakhs)
2001 3.6
2002 4.3
2003 4.3
2004 34
2005 44
2006 54
2007 34
2008 24

(fA Define the following terms :
(z) Discrete random wvariable

(ii) Probability mass function.

[5501]-2068 5 P.T.O.



4, Attempt any two of the following : [2x8=16]
(@) From the following data compute STDR, for population A

and B :
Age Group District A District B Standard
No. of No. of No. of No. of Population

Persons Deaths Persons Deaths

(in ’000) (in ’000)
0—10 5 35 3 33 3000
10—50 10 45 10 100 7000
50 and above 5 90 7 84 6000

(b) Explain various components of time series.

(¢) The number of cars crossing a bridge during a certain interval
has approximately a Poisson distribution with mean 4. Find
the probability that during a randomly chosen interval of
time :

(i) No car will cross the bridge
(ii) At least 3 cars will cross the bridge
(iit) At the most 5 cars will cross the bridge.

(d) (@) Define Permutation and Combinations.

(ii) In a basket here are 5 mangoes and 4 oranges. If any
3 fruits are to be selected from these, find the number
of possibilities in which :

(A) exactly 2 mangoes are selected
(B) no mango is selected
(C) at least one mango is selected

(D) at least two mangoes are selected.

[5501]-2068 6



5. Attempt any one of the following :
three variables X, X, and X, :

(@)

)

[5501]-2068

Given the following data on

X, =68 SD.X) =
X,="10 S.D.Xy) =
}_(3 =74 SD(X3) =

1.0
0.8
9.0

I'12
13

To3

[16x1=16]

0.6
0.65

= 0.7

(z)  Obtain equation of plane of regression of X; on X,

and X3.

(i) Obtain the estimate X; when X,

75 and X5 = 76

(1z7) Find the partial correlation coefficient ryq ;.

(lv) Find the mutliple correlation coefficient R, 5.

The joint probability distribution of (X, Y) is as given

below :
Y
X 0 1 2
-1 0.1 0.2 0.3
1 0.05 | 0.15 0.2
Find :

(i) EX) and E(Y)

(zz) Var(X) and Var(Y)

(zi1) Corr(X, -Y).
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S.Y. B.A. EXAMINATION, 2019
LOGIC AND METHODOLOGY OF SCIENCE
G-II : Formal and Relational Logic
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following : [20]
(1) Symbolize any four of the following :
(i) Doctors and Lawyers are college graduates.
(Dx : x is a doctor, Lx : x is a lawyer, Cx : x is a
college graduate)
(i) Sanskrit is an Indian Language.
(Lx : x is language, S : is Sanskrit)
(iit) Only women are nurses.
(Wx : x is woman, Nx : x is nurse)
(iv) John loves Mary but Mary does not love John.
(Lxy : x loves y, J : John, M : Mary)
(v) If anything is broken, it must be repaired.

(Bx : x is broken, Rx : x must be repaired)

P.T.O.



(2)  Symbolize the following prepositions using the symbols given

in bracket :

(2)

(i1)

(ii1)

(tv)

(v)

Everything attracts everything.

(Axy : x attracts y)

Whoever visited the building was observed.

(Vx : x visited the building, Oxy : x observed y)
Every dog has its day.

(Dx : x is dog, Yx : x is a day, Bxy : x has y)
There is a book on my desk.

(Bx : x 1s a book, Dx : x is a desk)

All who draw circles, draw figures.

(Cx : x is a circle, Fx : x is a figure, Dxy : x draws y)

(3) What is propositional function ? How we get proposition from

propositional function ?

(4) Explain multiply general proposition with example.

Answer any two of the following : [20]

(1) Prove validity of the following arguments (any two) :

(@)

(11)

[5501]-2069

1. (x) (Hx o> Mx)

2. Hs / .. Ms

1. (x (Hx o Gx)

2. St

3. Ht/ .. (3x (Sx - Gx)



(i) 1 (x) (Bx o Sx)
2 (x) (Sx o ~Dx) / .. (x) (Dx o ~Bx)
(v) 1. (@x) (Cx - Tx)
2 (x) (Cx o Ux) / .. (Ix) (Tx - Ux)
(2) Prove any two theorems with the help of the axioms given
below :
Axioms :
@ (pvp)Dp
(@) ¢g>(pve
@) (pve) >(gv p)
@) [pvi@vn]olgv(pvnr)
@ (@o>r>o[pve>d(pvr)]
Theorems
@ = (o>~p>~p
@) — ¢g>2(p>q
(@i) — (@P>3$~q9)>@>D~p)
) — (@>r>o[(p>ge>(@>7).
(3) Explain existential instantiation and universal generalization

with example.

(4) What is invalidity ? Explain the process of invalidity.

3. Answer any one of the following : [20]
(1) What is relational logic ? Explain types of relational logic in

detail.

[5501]-2069 3 P.T.O.



(2)  (a) Demonstrate the invalidity of any fwo of the following

arguments :
i L (x) (Ax D Bx)
2. Bn / . An
i) 1. (x) (Cx o ~Dx)
2. ~Cj / . Dj
(i) 1. (x) (Mx o Sx)
2. (x) (Wx > Mx) / . (x) (Sx D Wx)
(tv) 1. (x) (Ax D Bx)
2. ~Ap / .. ~Bp

(b)  Prove the validity of the following arguments (any two) :

@ 1. (@ (y) [3x) (Ayz > Ayx)]
2. (y) 3z) Ayz / .. (3x) (y) Ayx
(i) 1L x) [Ex o (y) (Fy o Gxy)l
2. (3x) [Ey - (3y) ~Gxyl / .. (3x) ~Fx
(tir) 1. Sai
2. (x) (Sxy D ~Syx) / .. ~Sia
Gv) 1. (x) (Pax D Qxb)
2. (Ix) Qxb o (dy) Dby / .. Pax D (3y) Dby
4, Write short notes on any four of the following : [20]

(1) Singular proposition

(2) Variable and constant
(3)  Universal instantiation
(4) Free variable

(5)  Identity

(6) Need of symbolic logic.

[5501]-2069 4



(W@ TUTE)
9% : 9 q™ THUT TOT : 80
ol :— () WA TR Giefau AeRad IR
(i) 3SElhel® 3 YO U SRifom.
({ii) WSHHIS T TUSH WIAUCART Ul

1. TSAURl HIUEE ST SO : [20]
(1) wud oo o= o &ed Teadsl 9 fauam fa=ifed
E U

(i) ERT 9 Tehid YSHTET Y.
(Dx : x T, Lx : x T%d, Cx : x TGHAIN)
(i) G&hd & 9RdE Wl SR
(Lx : x 91, S : 9&Hq)
(i) W o gfEmiie 9.
(Wx : x T&&, Nx @ x qi=iia)
(fv) WM IR A Kl 90 B SR YW ®I AR
(Lxy : x @ y @ U9 &, J : 94, M : ™)
(v) S HEN Hed W d e hal URIS.
(Bx : x Hied, Rx : x T&W hal UEMN)
(2) wua fooen famE=n am w61 weia foum fawifed w0
(i) §d T gA SHRfYd .
(Axy : x 3THfd y)
(i) S IV SARCHE el @T=AER Ay daal .
(Vx : x SARAE® Tal, Oxy : x 7 y o @AY aa)

[5501]-2069 5 P.T.O.



(iii) I HA feod  SAEdl.

(Dx

: X A, Yx @ x Tk fgo¥, Bxy : x =1 9dl y)

(jv) WA SHER T TEH .

X : x g%, Dx : x d9h)

(v) S Age HEdd o SAhdl  HIedwd.

x : x dge, Fx : x 3&hdl 376, Dxy : x Hdl y)

(3) foaurmed wuS *E ? faumwerd faum e w8 Yw s ?

(4) <gEEHEEE] faum 3QRIOmEE e wA

GOk IR eF Ye=l S famr [20]

(1) Treladst g JFaa Gg &

@ 1
2.
(1) L
2.
3.
i) 1.
2.
(Gv) 1
2.

(x) (Hx o> Mx)

Hs / .. Ms

(x) (Hx > Gx)

St

Ht / .. (3x) (Sx - Gx)

(x) (Bx O Sx)

(x) (Sx > ~Dx) / .. (x) (Dx > ~Bx)
(Ix) (Cx - Tx)

x) (Cx o Ux) / .~ (3 (Tx - Ux)

(2) Weficus! HIVHR g JHY Jarae sTeR fag & e

AT

i) (pvp Dop

[5501]-2069



@) g>(pvy

@) (pve) >(gv p)

) [pvigvn]olgv(pvr)
W (@o>r>o[pve>d(pvr)]

‘Jﬁ'& :

@ = (o~p>~p

@ = ¢>5(p>9

(@ii) — (@P>3$~q9>@>D~p)

) — (@>o>r>o[(p>ge>d(@>d7).

(8) el SR d Yol HM=NSol SSemge T &l
(4) FIYA RUS HI 7 AJYd=l UfRdar TOER T &

3. HIUAR TH J¥E SW feml [20]
(1) YHAYamET dhITS WS HE 72 GoydrE] dohIierd YeR Tiaar
o .

(2) (a) DR FATA FIFIA@ GG HA

@ 1. (x) (Ax D Bx)
2. Bn / . An
@) 1. (x) (Cx o ~Dx)
9. ~Cj / - Dj
@) 1. (x) (Mx D Sx)
2. x (Wx o Mx) / .. x) (S5x D Wx)
(Gv) 1. (x) (Ax D Bx)
9. ~Ap / - ~Bp

[5501]-2069 7 P.T.O.



(b) HUAR I AR Joaar g wU

@ 1 (& (@ (Ayz > Ayx)]
2. (y) 3z) Ayz / .. 3x) (y) Ayx
(@) 1. (x [Ex o (y) (Fy o Gxy)l
2. (3x) [Ey - Qy) ~Gxy]l / .. (3x) ~Fx
(i) 1. Sai
2. (x) (Sxy D ~Syx) / .. ~Sia
(@v) 1. (x) (Pax D Qxb)
2. (3x) Qxb o (Hy) Dby / .. Pax O (Jy) Dby
4. HIUAE AR digE[ dw fewr [20]
(1) TewerdHl faum

(2) =R e =R

(3) WEfA®  IZTEIORIT

4) TR =W

(5) Ueh&HUdl

(6) TTehfdeh THIMST TS

[5501]-2069 8



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [55011-2070

S.Y. B.A. EXAMINATION, 2019
SOCIOLOGY
Group A : G-2 : Population and Society
Or
Group B : G-2 : Social Welfare and Social Legislation in India
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iii) Attempt Group ‘A’ or Group ‘B’

Group A : G-2 : Population and Society
1. Answer the following questions in 100 words each (any four) : [20]
(1) State the feminist perspective in Population Studies.
(2) Recent trends in collection of Population Data—Adhar.
(3) State the definition and meaning of fertility.
(4) State the concept of Population Education.
(5) Family Planning Policy-1961.

(6) State the socio-cultural factor of population dynamics (any one).

2. Answer the following questions in 200 words each (any two) : [20]
(1) Explain the importance of Population Studies.
(2)  Discuss the meaning and importance of National Sample Survey.
(3) Explain the growth of population since 1901.

(4) Explain the need of population education in India.
P.T.O.



Answer the following questions in 400 words (any one) : [20]
(1) Discuss the definition and types of migration.

(2) Elaborate the pre-independence population policy in India.

Write short notes on (any four) : [20]
(1) Marxist perspective

(2) Census

(3) Infant mortality

(4) Poverty

(6) Family welfare

(6) Sex education.

OR

Group B : G-2 : Social Welfare and Social Legislation in India

1.

Answer the following questions in 100 words each (any four) : [20]

(1) Write the concept of Social Justice.

(2) Explain the Fundamental Rights.

(3) State the works of NGO.

(4)  Write the Sexual Harassment of Women at Workplace Prevention
Act, 2013.

(5) Write the PESA Act, 1996.

(6) State the meaning of Bonded Labour.

[6501]-2070 2



2. Answer the following questions in 200 words each (any two) : [20]
(1) Explain the characteristics of Welfare State.
(2) Write the constitution provision to safeguard of scheduled
caste.
(3) Explain the issues of Adivasis in India.
(4) Write the UN Declaration of the Rights of Persons with

Disabilities.

3. Answer the following questions in 400 words (any one) : [20]
(1) Evaluate the Mid-day Meal Scheme for children in India.
(2) Explain the types and causes of violence against women in

India.

4, Write short notes on (any four) : [20]
(1)  Child trafficking
(2) Meaning of Social Welfare
(3) PCPNDT Act, 1994
(4) Fundamental Duties
(5) Domestic Work Act, 2006

(6) Role of Civil Society.

[5501]-2070 3 P.T.O.



(AE wuiav)
q% : || A THUT TUT : 80
g — (i) e ‘e femar T ‘T TR TR yeedleR drear.
(i) | yv Grefam oevEad R
(iii) ISRl 3% YA gO IO SRifom.
(lv) TRUEE T TUSH YAULIRT TRTE.

T ‘3 ¢ G2 : (CNRETAT IUT FHTS)
1. Gl e SW yEs 100 [ fos (FoE 9n) [20]
(1) g @ SHa]! gRIeH 9.
(2) TRUEA Hifed! HhoHdid FHEREH  JaB-3THR.
(3) AN =R Swfr st wWEm.
(4) <hge fieom=t HhedT @Em.
(5) Hea friem dRo, 1961
(6) TRUEA TAEMTY AT -Ghdih ¥k T (IR Ueh)

2. Woiid ¥t S Ykl 200 vsIid fawl (FivdEl dF) [20]

(1) dndEn JAIEE g TR 6.
(2) UEE TN gdeoma e afn wew fame WL

(3) 1901 UNH YRA=AT WRUEAd dciell 9@ TR

(4) YRAIA dAhEEa Y=l STevdhal T .

3. Wi eEl IR 400 IE@ @l (RUEE @) [20]

(1) TIAOU=T A Al ghR A 9= .
(2) YRAA @AY H@BA Aha e gR0 T .
[6501]-2070 4




4. g AW far (FHUME \w) [20]

(1) WEHAR! TR
(2) SO
(3) Ivw 7Y
(4) <G
(5) A HAM
(6) <ifiten foreon.
fepar
T ‘T G2 : (YRATE |IHISER  hed ol 3fUT i)
1. @eid Yol 9@ 100 I&E[ S g (Rv6el |w) [20]
(1) wmEfSs =t Jwed  fermt.
(2) HAYd HATYRR TE H.
(3) NGO (foR wTo&™E Feeq«dt) HE AT
(4) wmren fowmh fomt dfe omeMt J@um @R 2013 fown
(5) 1996 =1 W (PESA) wM&E&l H.
(6) oSferrer e @M.
2. @id JEAEl gE@ 200 E[ IW TRl (FidEl 1) [20]
(1) HeAR T dfymse e &

(2)
3)
(4)

[5501]-2070

SIgfad SiEe= Hedldsh el T e fawed forr.
YRA  SAfGemd= Y39 T .
S Al TFRT SEaet gt (UNO) =ioon fofa.

5 P.T.O.



3. Ta UeaEl 400 M SW @l (FvER @) [20]

(1) YRAA oM e ALg 9o deHd JogHad .
(2) vRada o forg= SR YR 9 SR W &
4, dewE foo fag (FoEE@ ww®) e [20]
(1) drerhrn fawa
(2) GmifSi  shedmomr Y
(3) fam frae =it yfqeaw @@ (PCPNDT) 1994
(4) HAYd HaA
(5) HT hHErEdE 2006 = hIEGT
(6) AN GHSET offien.

[6501]-2070



Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
No. [5501]-2071
S.Y. B.A. EXAMINATION, 2019
SOCIOLOGY
(S-1 : Foundations of Sociological Thought)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(11)

Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
(3)
(4)
(5)
(6)

State
State
Write
Write
Write
Write

the social impact of French Revolution.

the definition and meaning of Social Fact.

the
the
the
the

concept of Ideal Types. (Max Weber)
colonial background in India.
Indological Perspective. (G.S. Ghurye)

concept of sanskritization. (M.N. Srinivas)

2. Answer the following questions in 200 words each (any two) : [20]

(1)
(2)
3)
(4)

Discuss the Marx’s theory of class struggle.
Explain the theory of Social Action. (Max Weber)
Explain the development of sociology in India.
Elaborate the theory of caste by G.S. Ghurye.

3. Answer the following question in 400 words (any one) : [20]

(1)
(2)

Explain the Law of three stages. (Auguste Comte)
Elaborate the theory of religion by Dr. B.R. Ambedkar.

P.T.O.



4, Write short notes on (any four) : [20]

(1) Enlightenment
(2) Dominant Caste
(3) Indian Nationalism (A.R. Desai)
(4) Interpretative Sociology (Verstehen)
(5)  Positivism (Auguste Comte)
(6) Alienation (Karl Marx).
(W& i)
q% : || A THUT TUT : 80

(i) WU Hed TUSH YU UgMEl.

1. Oeid UEE &S 100 IE[ SW Rl (S 9 R) [20]
(1) ha Togehldn dMses  aRomm  fem
(2) e deg gren 1Y onfor =men  fam
(3) W deR I TSN YU Hehedd foran
(4) YRAS JERdaREr qedyH  fora.
(5) yrAtaEn gfedM AR Aifedl  forar
(6) TEhdreROTEl Hdheud fol. (@A gifreard)
2, Told YAl Y@ 200 K[ SWfaw (RO gF) [20]
(1) ved=n o g9d fagaet == &
(2) guifees fpd=n fag@a == &0 (F8 9a)
(3) HRAde FHSETSEET faw™ ws w4
(4) Stwa. g3 I+ diffdeen S fagia fove s

[6501]-2071
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3. Weid YeE 400 VM SW fa@ (HI0ER Tew) [20]
(1) dF sEwgmEn 99 W< &4 (I i)
(2) T &l M. AeeHX A Hifideen ewer faga fove w5

4, dGieq@ feur foml (FoER WR) : [20]
(1) wsie[
(2) "YE S|

(3) WRdE TsgaR (TR QEE)

(4)  STAYUTCHe/3TAeI e TSRS (U5
(5) YO (AT Hixd)

(6) STl (ShTel HAEH).

[5501]-2071 3 P.T.O.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-2072

S.Y. B.A. EXAMINATION, 2019
SOCIOLOGY

Special Paper II

[Indian Society : Issues and Problems]
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) What is displacement of indigenous people ?
(2) Write the meaning of criminalization of politics.
(3) Define unemployment.
(4) State the meaning of civil society organization.
(6) Give the meaning of religious fundamentalism.

(6) What is sex selective abortion ?

2. Answer the following questions in 200 words each (any two) : [20]
(1) Describe the meaning and causes of social problems.
(2) Explain the causes of caste inequality in India.
(3) Elaborate the state policy to resolve social problems.

(4) Discuss the causes of Juvenile delinquency.

3. Answer any one of the following questions in 400 words : [20]
(1) Explain the aspect of gender discrimination.

(2) Define poverty. State the nature and causes of poverty.

P.T.O.



4, Write short notes on (any four) : [20]

(1)

White collar crime

(2) Women trafficking
(3)  Youth and suicide
(4) Psychological problems of Aged
(5) Religious minorities
(6) Environmental degradation.
(W& wUTaR)
9% : i q™ THUT T : 80

1. Telads! IR IR GIAET GAR 100 K[ S AR e [20]
(1) Tfeh/geta e fatame = & ™ ?
(2) USHROTE TR g fogl
(3) SRS =AEA HA
(4) T @S HeeAEn o1 foan
(5) wfHeh Wodwoacran 31ef AT
6) T fem w1vua =S ®E ?
2, Wil HIvE 9 YA Y& 200 VS| Sw forer [20]
(1) wmfee ggeen ad 9 ®R0 fave &
(2) HRAMIA Sl faewd=t wRU TR w7
(3) wHIfS FHE HiefauaEe TR fave .
(4) EIATR= HROT= == &

[6501]-2072
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3, Wciads! HIUERI TRl U §AR 400 ¥=M SW fa@l . [20]

(1) femyEmET ®Ro W S

(2) <Rt e &4, e WeY A R0 T H.

4, Jgedd fear fo@ (SR |\mw) [20]
(1) weulEm T
(2) dHfgen fawa

(3) gasw IV STcHEHA
(4) JE=N AEEE GHEN
(5) e  STeUHEA

(6) TR BT,

[5501]-2072 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5501]-2073

S.Y. B.A. EXAMINATION, 2019

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

General Paper II

[(Outline of Political, Social and Economic Institutions of

Time :

Ancient India) (600 B.C. to 1200 A.D.)]
(2013 PATTERN)

Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
(3)
(4)
(5)
(6)

State the organic theory of the state.

Explain the importance of Ancient Ministry.

State various types of courts in Ancient Times.

Take a review of the life of women in Vedic period.
State in brief the importance of Ancient Sacraments.
Write the aims and objectives of education in Ancient

India.

2. Answer the following questions in 200 words each (any two) : [20]

(1)

(2)
(3)
(4)

State the importance of sources useful for the study of Political,
Social and Economic Institution of Ancient India.

State the salient features of Ancient Indian Republics.
Write in detail the demerits of Varna and Caste system.
Take a review of India’s Foreign Trade during Ancient

Times.

P.T.O.



3. Answer the following questions in 400 words each (any one) : [20]

(1) Take a review of Sabha and Samiti as Ancient Indian Public
Institutions.

(2) State the nature of marriage institution in Ancient India and

state it’s various types.

4, Write short notes on (any four) : [20]
(1) Monarchical state
(2) Theory of kingship under the Guptas

(3)  Sarthavaha

(4) Punchmarked coins

(5)  Ashram system
(6) Ancient weight.

(AE wuiav)
q% : || dE THUT TUT : 80
g — (i) Wd YA AEvAE  3Aed.
(ii) SoEhEl® ik UeAd qul U geifadn.

1. @eld geEt S gdst 100 v fagr (Fve |w) [20]
(1) TErEn dfgm faga |
(2) YA HhHeer Wed fave @
(3) URM wleria = fafgy ger 9.
(4) Ol Si-Sfledr=n  sTeen =i
(5) UEM U@HRE Hed oieddd 9.
(6) U vRadlal Rregomst =g 9 3fese foEn

[65601]-2073 2
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2. e JEAEl IW USRI 200 VR fAw (FORR EE) [20]
(1) YNH 9RdE TS, 9mfser 9 T 9ear=a dAvEE 3uged
e |
(2) UEN ARG TOSAEl 3@ dfvrsed |
(3) @ul T SdiegerEd™ W Wi forl.
(4) U RISl WRAAT TS ARl el B,
3. Eid YEAEl SR TIR! 400 VK[ TRl (SRR Th) [20]
(1) A YRAdS diehgeen Wud |9 A |iiden wwu 9 e
SATerdl  #41.
(2) U 9Rddia foeeaede @y 9 faaweren fafay yeret ==t
.
4. dieRd few fo@r (HIUEET @X) [20]
(1) TSR T
(2) 7@ Teue fagi
(3) wddrE
(4) oRd ol
(5)  omeM T
(6) UHM oM.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No [5501]-2074
S.Y. B.A. EXAMINATION, 2019
MATHEMATICAL PRE-REQUISITES (Gen-II)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

(itzt) Use of logarithmic table is allowed.

1. Attempt any ten of the following : [20]

2
(1)  Simplify y=—.
x

(i1) Determine log 0.764.
(iit) State the degree of homogeneous function 2z =8x* — 3y%.
(iv) Define interest.

d
W) TIfy = 6x3 — Tx2 + 4x, find d—z.

(vi) Define definite integral.

(vir) Solve :
j\/; dx.

(viii) Define integrating factor.

P.T.O.



(ix) Define order of differential equation.

(x) Find the degree of the differential equation :
dy ?
— | +3yx=0.
&wj 7

(xt) Write linear differential equation.

(x1z) Solve :

2
Ixzdx.
1
(xtii) Solve :
D _ 15,
dt
2. Attempt any two of the following : [10]

(i) Write the rules to find integrating factor.

(zz) Find the first and second derivative of :

1/2

y = 6x"% + 2x® + 8x.

(iii) At what interest rate will money trible if compounded continuosuly

for 8 years ?

(iv) Use natural logs to solve y = 300 (0.58).

3. Attempt any two of the following : [20]
(i) Using substitution method, evaluate :
lex(xz + 3)*dx.

(zz) Solve :

dy
LY 6y =18.
ar 7

[5501]-2074 2



(ii1)

(tv)

(@)
(i1)

(ii1)

(tv)

[5501]-2074

Solve the following difference equation :
5y, + 2y, ; —140 =0, y, = 30
Check the answer using ¢t = 0 and ¢ = 1.
Determine the interest needed to have money double in 6

years when compounded semiannually.

Attempt any two of the following : [30]

Explain Lagged income determination model.
For the given data, find the level of income y, for any period
and the warrented rate of growth :
I, = 266 (y, — y,.1), S, = 0.16y,, y, = 9000.
Solve :
12y + 7t + 6) dy + (Ty + 4t — 9) dt = 0.
Show that :

4 0 4
J.(8x3 +9x2) dx = J-(8x3 + 9x2) dx + J.(8x3 + 9x?) dhx.
4 —4 0



Total No. of Questions—5] [Total No. of Printed Pages—6

Seat

No. [55011-2075

S.Y. B.A. EXAMINATION, 2019
STATISTICS (Descriptive)
(General-II)
(Sampling Techniques and Statistical Process Control)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(itzzt) Use of calculator and statistical table is allowed.
(fv) Symbols and abbreviations have their usual meanings.

1. Attempt each of the following : [4x1=4]
(a) State whether each of the following statement is true or false :
(i) ATI of single sampling plan and double sampling plan
is always same.
(ii) Selection of units in systematic sampling is based on equal
probability.
(iit) Sample point above UCL in p-chart is known as high-
spot.
(iv) The average in process is studied by R-chart.

(b) Choose the correct alternative in each of the following :[4x1=4]
(i) Suppose N = 40 and n = 5, then number of possible
samples in systematic sampling is :

(@) 20 b) 8
(c) 200 d) 4
(ii) The c-chart is used to study process under control related
to :
(a) average (b) dispersion
(¢) defects (d) defective

P.T.O.



(c)

(@)

()

(c)
(d)

(e)

()

[6501]-2075

(iit) The sampling procedure used to infer about characteristics
related to population with complete enumeration is :
(@) SRS
(b)  Stratified Random Sampling
(c) Systematic sampling
(d) All of the above
(fv) In statistical process control the consumer’s risk is :
(a) Rejecting good quality lot
(b) accepting good quality lot
(c) rejecting bad quality lot
(d) accepting bad quality lot
Attempt each of the following : [4x2=8]
(@) State the unbiased estimator of population mean
(b) Explain the term ‘Specification limits’.
(c) What is Stratification ?
(d) Differentiate between ‘SRSWR’ and ‘SRSWOR’

Attempt any four of the following : [4x4=16]

State control limits for constructing p-charts when standards
are unknown.

Derive an expression for Average Total Inspection (ATI) in
case of Single Sampling Plan (SSP).

Describe the method of stratified random sampling.

Define Cp and Cpk for a stable process. Distinguish between

Cp and Cpk'
The following data give yield (in quintal) of a crop in 24 plots :
14, 19, 20, 24, 23, 15, 24, 21, 22, 19, 18, 17,
15, 14, 16, 22, 24, 21, 23, 22, 23, 15, 16, 20.
Draw all possible systematic samples of size 6.

For single sampling plan with N = 3000, n = 50, ¢ = 2, find

the probability of producer’s risk for AQL p = 1%.
2



3. Attempt any four of the following : [4x4=16]

(@)

)

(c)

[5501]-2075

In a stratified random sampling with two strata, the following

data are available :

Stratum Size
1 400
2 600
3 500

Compute sample sizes under proportion allocation, if the total
sample size is 150.

In SRSWOR, prove that the probability of getting specified
Eth unit in a given rth draw is same as the probability of
getting that %kth unit at 15t draw.

If 10 samples each of size 50 inspected and number of defective

recorded. Compute control limits for p-chart using the following

data :
Sample No. Defectives
1 8
2 6
3 2
4 4
5 1
6 3
7 5
8 7
9 4
10 2
3 P.T.O.



(a)

®)

(c)

[6501]-2075

(d) Describe the construction of OC curve in single sampling plan.

(e) Consider a population of 5 units with values 5, 6, 8, 9, 3.
Write down all possible sample of size 2 without replacement
from this population and verify that E[y]=Y.

(/A In a population of 1000 units, population variance is 81. What
should be the size of the sample selected by SRSWOR from
this population so that 95% of the sample means may differ
from population mean by not more than 5 ?

4. Attempt any two of the following : [2x8=16]

State an unbiased estimator of population mean related to

stratified random sampling. Also, obtain the expression of its

variance under proportional allocation.

(i) Explain the purpose and use of SQC. Write a note on
offline process control. [5]

(i1) Write a note on assignable causes and chance causes
of variation. [3]

Number of defects per sample is noted as below :

Sample no. No. of defects
1 3
2 1
3 2
4 8
5 0
6 1
7 1
8 4
9 2
10 1

4



Find 3oc—control limits for c-chart. State whether the process
is under statistical control with respect to defects. Justify your
answer, draw chart.

(d) A p-chart indicates that the average is 0.2. If 50 items are
inspected each day, what is the probability of detecting a shift
of 0.04 :

(i) on the first day after the shift,
(ii) by the end of the third day after the shift.
5. Attempt any one of the following : [1x16=16]

(@) A machine is set to deliver the packets of a given weight.
Ten samples of size five each were examined and the following
results were obtained :

Sample No. Mean Range
1 43 5
49
37

51

© 00 N o Ot ok~ LW N
&

W
J
(e I =2 T © <R~ N BN BRG] B @)

—
(e

47
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Comment on the state of control by computing 3c—control limits.

Justify your answer by drawing chart. (Given Dg = 0, Dy =

2.115, Ay = 0.577).

(z)  Obtain the sample size ‘n; under Neyman’s allocation.
Hence, derive the expression for variance of unbiased
estimator using this allocation.

(ii) Describe the seven process control tools of SPC.



Total No. of Questions—5] [Total No. of Printed Pages—5

Seat

No. [5501]-2077

S.Y. B.A. EXAMINATION, 2019
APPLIED MATHEMATICS
(AMG-2 : Multivariable Calculus-I and Multivariable
Calculus-II)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Attempt each of the following : [16]
(¢) Find domain and range of the function :
flx,y) =y - =x.
(b) Find :
x? — xy
li —_
&, 00,0 Jx =y
(¢c) Find :
ow |
= if w=x2+y?> and x = ¢, y = %
(d) Find :

lim [(cos £)i + (sin t)J].

t——
4

(e) If f(x, Y, 2) = (x? - y)L_ + (xy — y2)7, then find curl(]?).
(f) Evaluate :

14y
J.J.dx dy.
0y

<

P.T.O.



&)
(h)

2. @A)

(B)

[6501]-2077

State Stokes’ theorem.

Define length of a smooth arc.

Attempt any one of the following : [6]

@ Let [t =—2 if (x, y) # (0, 0)
x2 +y

= 0, if (x, y) = (0, 0)
Show that f is not continuous at (0, 0) but f,(0, 0) and

G(O, 0) exists.

. x—y
; lim —— ; ;
(b) (i) Evaluate, 59500 % + 3’ if exists.

(ii) Find the directional derivative of f(x, y) = 2xy — 3y*
at point Py(5, 5) in the direction & = 47 + 3j.
Attempt any two of the following : [10]
(¢) Find and classify all the stationary points of the
function :
flx, y) =3x*(y =D+ y*(y = 3) + 1.

(b) Sketch the region of the integration and evaluate the

integral :
J.J.x sin y dy dx.
00
) 0z 0z .
(¢) Find =— and —=— if z = 4e*|ny. Where x = u cos v,
ou dv
y = u sin v.



3. (A

(B)

4. (A

[5501]-2077

Attempt any one of the following : [8]
(a) Using differential, find approximate value of (2.01) (3.02)2.
(b) Suppose that f(x, y) is a real valued function on defined
on a neighbourhood of (x,, y,). If f(x, y) is differentiable
at (x5, y,), then prove that :
(@) f.(x v, and ]‘;(xo, yo) both exists.
(iz) f(x, y) is continuous at (x, yg).
Attempt any one of the following : [8]
(a) Let 7(¢) be a differentiable vector function of ¢, then 7

is of constant magnitude if and only if f@;() for

all t.

(b) State Green’s theorem and use it to find the outward
flux for a field £ and curve C, where f = (x — ¥)7 + (y — x)j
and C : square bounded by x = 0, x = 1, y = 0,
y = 1.

Attempt any one of the following : [6]
(@) Find T and N for the circular motion, 7(#) =t#i + tzf.
(b) Let F=Mi + Nj + PE be a vector field whose components

are continuous throughout an open connected region D in

space. If there exists a differentiable function f such that

o - o = of -
F=Vf =£ l +£] +£k, then prove that for all points

B
A and B in D the value of IF.dr is independent of the
A

path joining A + B in D.

3 P.T.O.



(B)

5. (A
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Attempt any two of the following : [10]

(@)

(b)

(c)

Prove that F = (y*cos x + 2°)i + (2y sin x — 4)] +(3x2> + 2)k

is conservative and find a scalar potential function f

associated with F.

Evaluate the integral of f(x, y, z) = xy + y + z over

the curve C, where C is given by :
Ft)=2ti + +(2-20k,0<t<1.

Show that 2xyzdx + xzzdy + x3ydz is exact and

evaluate :
(-1,2,2)
(2xyzdx + x2zdy + xydz).
(1,1,1)
Attempt any one of the following : [6]

(a) Use Stokes’ theorem to evaluate IF.dF if F=@+yi+
C

)

(2x — 2)] + (y + 2)k and C is the boundary of the triangle
with vertices (2, 0, 0), (0, 3, 0) and (0, 0, 6).

Use divergence theorem, to find the outward flux of F
across the boundary of the region D.

Where F = (x® — y2)i + (y? — zx)j + (22 — xy)k and D : the

cube bounded by planes x = a, y = b, z = c.



(B) Attempt any two of the following : [10]

(@) Find the unit tangent vector to the curve 7(¢) = (cos® ¢)j +
(sin®t)%, 0 < ¢ Sg. Also, find the length of the curve.

(b) Find the work done by :
F = 3x% + (2xz — y)j — zk along the curve 7(¢)=ti +
t?j + 3%k, 0<t<1 from (0, 0, 0) to (1, 1, 1).

(c) Evaluate the integral of F =x% - xyj from O(0, 0) to
P(1, 1) along the parabola y2 = «x.

[5501]-2077 5



Total No. of Questions—35] [Total No. of Printed Pages—8

Seat

No. [5501]-2078

S.Y. B.A. EXAMINATION, 2019
APPLIED STATISTICS
Gen. II : Application of Statistical and Theory of Probability
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iii) Use of statistical tables and calculator is allowed.

(iv) Symbols and abbreviations have their usual meaning.

1. Attempt each of the following : [1 each]

(a) State whether each of the following statements is true or
false :

(@) If Aq, Ag, ...... , A, form a partition of Q, then A, NB,

A,nB,...,A nB form a partition of B.
(i1) Vital statistics deals with study of births, deaths,

marriages etc.

(@zir) If EX) = 10 and Var(X) = 50, then E(2X + 12) is
equal to 32.

(@v) For 1<r<n,

P.T.O.



®)

[6501]-2078

Choose the correct alternative in the following : [1 each]

(@)

(11)

(4i1)

(tv)

The partial correlation coefficient lies between :

A -1to1
B) 0 to 1
(C) —oo to o
D) 0 to oo

Moving average method is not suitable for :

(A) removing rhythmic variations

(B) projections

(C) estimating seasonal variations

(D) none of the above

If correlation coefficient between X and Y is zero, then :
(A) X and Y have same distribution

(B) variance of X and Y are equal

(C) there exist no relationship between X and Y
(D) there exists no linear relationship between X and Y

If random variable X has binomial distribution with parameter

n and p, then :

(A) mean < variance
(B) mean > variance
(C) mean = variance

(D) mean < variance



(c)

Answer in brief :

(i) Explain permutation and combination.

[2 each]

(i1) Define time series and give any two illustrations of time

series in different fields.

(iit) Explain crude birth rate (C.B.R.).

(iv) Explain complete independence in case of three events.

2. Attempt any four of the following :

(@)

®)

(c)

[5501]-2078

[4x4=16]

Explain concept of random experiment and probability model.

The following are the quarterly sales in thousands of rupees

for different years. Compute seasonal indices for these data

using method of simple averages.

Year
Quarter | 2007 2008 2009 2010 2011 2012
I 36 36 36 41 42 43
II 40 42 40 47 45 47
ITI 35 38 38 39 43 44
1\Y 37 49 41 46 46 48

Explain notion of multiple correlation coefficient and partial

correlation coefficient.

P.T.O.



(d)

(e)

()

(@)

[6501]-2078

The editor of a Statistics journal wishes to use the sample

data calculations provided below to determine regression equation
that predicts the total typing hours (X,) for article drafts.
An independent variables, she used the number of words in
the draft (X;) (expressed in ten thousands) and an index (Xjg)

for level of difficulty on scale from 1 to 5.

X, =4, X,=8, X,=3

c:=8, 0.=88, o.=4
7'21 = 03015, 7'13 = —07071, 7'23 = 0.4264
Find the regression plane of Xy on X; and Xs.

An article manufactured by a company consists of two parts
A and B. In the manufacturing process of part A, 9 out of
100 are likely to be defective, similarly 5 out of 100 are likely
to be defective in the process of part B. Calculate the probability
that the assembled parts will not be defective.

Write a note on seasonal variations and cyclical variations in

a time series.

Attempt any four of the following : [4x4=16]

Explain the following terms :
(i) event

(ii) elementary event

(iti) certain event

(fv) 1impossible event

(v) complementary event



®)

(c)

(d)

(e)

)

[5501]-2078

Compute ri39 and Rqy9g3, given that :
r12 = 07, r13 = r23 = 0.5.

Explain the concepts of additive and multiplicative models in

the analysis of time series. Compare their utility.

A random experiment results in an integer outcome between
1 and 10. All numbers are equally likely. Let A be the event
that an odd number occurs and B be the event that a number

divisible by 3 occurs. Obtain :
() PA|B)
Gi) P®B|A)
(iii) P(A'|B)
Gv) PA|B)
) PQA'|B)

Fit a trend line to the following time series by the least square

method :
Year Production

(in tonnes)

2009 12
2010 20
2011 28
2012 32
2013 50

Obtain trend value of production for 2016 and 2018.

Explain classical definition of probability and state its limitations.

5 P.T.O.



4, Attempt any two of the following :

(@)

®)

(c)

[6501]-2078

[2x8=16]

Define conditional mean. The joint p.m.f. of X and Y is :

Y
X 0 1 2
-1 1/6 0 1/12
1 1/4 1/3 1/6

Find :
() EY|X = 1)

Gi) Var(Y|X = 1)

Define Poisson distribution. State any two real life situations

where the distribution can be applied. In the inspection of

tinplate by a continuous electrolytic process 12, imperfections

are spoted every hour on an average. Find the probability

of sporting one imperfection in 10 minutes and at most 2

imperfections in 15 minutes.

Define probability mass function (p.m.f.) of a discrete random

variable (r.v.). Let three cards are drawn at random successively,

with replacement, from a well shuffled pack of 52 playing cards.

Getting a card of diamonds is termed as a success. Obtain

the probability distribution of the number of successes.



(d) Explain in detail Gross Reproduction Rate (G.R.R.). Calculate
G.R.R. for the following data and interpret :

Age group No. of women Female births Mortality rate
15—19 16000 160 0.09
20—24 15000 225 0.10
25—29 16500 330 0.11
30—34 14000 210 0.12
35—39 16000 144 0.13
40—44 12000 90 0.14

5. Attempt any one of the following : [1x16=16]

(@)

[5501]-2078

(@)

(11)

Explain need of vital statistics and various methods of

obtaining vital statistics. [8]

Two beads are selected at random without replacement
from a bowl containing 4 blue, 1 red and 2 black beads.
Let X denote the number of red beads drawn, Y denote

the number of black beads drawn. [8]
Find :

(z) the joint p.m.f. of (X, Y)

(i) obtain the marginal p.m.f.s of X and

(z1z1) calculate PX < Y).

7 P.T.O.



(b) (1) Explain in brief standardized death rate. Compute S.T.D.R.
by indirect method for the following data :

Age group 0—10 10—20 20—60 60—100
Standard population 300 500 1500 200
Local population 200 750 1200 350

No. of deaths in standard

population 9 3 12 10

The total number of deaths in local population is 35. [10]

(ii) A student prepares for an examination by studying a
set of 10 problems. He can work 7 out of 10. If the
professor chooses randomly 5 of the 10 problems for the
exam, what is the probability that the student can work
at least 4 of them ? [6]

[6501]-2078 8



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat
No. [5501]1-2079
S.Y. B.A. EXAMINATION, 2019
PHILOSOPHY
(Alternative Course)
General Paper-I1
(Philosophy of Indian Saints)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]

(1)
(2)
3)
(4)
5)
(6)

Explain the characteristics of a Saint.

Explain the concept of ‘Guru’ by Saint Basaveshvara.
Elaborate ethical and social aspects of Guru Nanak’s Philosophy.
Explain the criticism of social inequalities by Saint Tukaram.
State the concept of ‘Maya’ with reference to Bahenabai.
Elaborate synthesis of Prapanch and Paramartha according to

Ramadas.

2. Answer any two of the following questions in 200 words each : [20]

(1)
(2)
3)
(4)

Explain Saint Kabir’s concepts of Bhakti and Sahaja Yoga.
Elaborate Saint Dyandeva’s concept of ‘Vishvatmaka Deva’.
Explain Guru Nanak’s concepts of ‘Hukum’ and ‘Bhai’.

Explain the concepts of Bhakti and Karma accorting to Bahenabai.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Explain the nature and role of Bhakti movement in medieval
India.

(2) Explain fully Saint Tukarama’s concepts of True Dharma and

Pakhanda.

4, Write short notes on (any four) : [20]
(1) Basavesvara’s concept of equality between men and women
(2) Nirguna Bhakti—Saint Kabir
(3) Omkara—Guru Nanak
(4)  Chidvilasavada
(6) The concept of Pativratya by Bahenabai
(6) Sahanapana.

(TE wuiaR)
9% : 9 a™ THUT T : 80
el :— () 9d WA Gefau eRasd S
(ii) ISAIhSle 3k TEAE YO U SFifaar.
(iii) WeHEd TB TUSHT WeAUfAHT TR,

1. Welicis! HIEE aR YeEl el 100 K[ W faer [20]
(1) HarEt @& fove &
(2) T SHAvERE! ‘TE’ HheUd T .
(3) TEAMRSN dEdME Afde 9 g fawHdada fewr T &
(4) Td JEREE g foumaedia fewr s &
(5) WA dAfgUarEdl AIEEA WA Heheddl @
6) U= 9 Td I §HY YASHM Saoiedl HeEeR == A

[6501]-2079 2



2, Eeldus! HIUAR G FEEE YS! 200 VS SR OfaRl [20]
(1) Hd He=r o 9ol 9 FesEi Hoheddl W &
(2) Hd FHcart ‘fovarwe <@’ & Heoud wfawR fave wa.
(3) TEAHSEl ‘gRA’ T ‘9’ Hhedw AiOwR fave &
(4) Hd AfEUMEEST YR F HH Tk l TR H.

3. Weliaide! HIER Tel Y9M 3T 400 i@ fofer e [20]
(1) WP ARAMA Wkl Foododid @ed o YfHeel Amfasell == 6.

(2) Td THERMEE A gHiEl 9 UReE Heheddl dfawR fove &

4, gieHE few fag (W 9R) [20]
(1) SHoveRE Si-7% FaMHdel Hhed
(2) o vedi—dq weiX

(3)  HiPR—IEAHH

(4) TagfaamerR
(5) dfgunersget Uifdocd HehodH
(6)  TRTOTYOT.

[5501]-2079 3 P.T.O.
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(G-2 : Introduction to Applied Ethics)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
(3)
(4)
(5)
(6)

What is capital punishment ? Explain.

State Aristotle’s classification of friendship.

State Hippocratic Oath and its relevance.

What is the role of media in democracy ? Explain.
Briefly explain the concept of Anthropocentrism.

Explain traditional view regarding to the family.

2. Answer the following questions in 200 words each (any two) : [20]

(1) What is Sustainable Development ? Explain.

(2) Discuss the ethical issues concerning freedom in media.

(3) Describe briefly ethical issues related with experimentation of

animals.

(4) Why does conflict arise between friendship and duty ? Explain.
3. Answer any one of the following questions in 400 words : [20]

(1) Elaborately discuss arguments for and against Abortion.

(2)  Explain the nature of corporate social responsibility. Differentiate

[6501]-2079

narrow and broad views about corporate social responsibility.

4



4, Write short notes on (any four) : [20]
(1) Doctor-patient relationship
(2) Media and violence
(3)  Non-voluntary euthanasia
(4) Corporation as a moral agent
(5)  Eco-centrism

(6) Feminist view of marriage.

(W& T UTE)
9% : i a™ THUT T : 80
el :— () 9d WA Giefau seRasd S
(i) 3ISEhSle 3k TAE YU U Fifdar.
(iii) TSUEE B TUST YeAdTAH TR,

1.  @ea JeE SW O YEwR 100 v fagl (Fve 9 n) [20]
(1) TIES BN HE? W FHA.
(2) sfiled=n = affetu fave &
(3) feudifshed=it wMe 9 @ wea @
(4) TIHRIMEIA JORATEENET il SO ? TR HA
(5) HHGhEAAEE HhHeUAl Twqol T .
(6) wHAGEHET URURE giehor T H.

2. wTElid YEAEl IW U@ 200 V[ fo@ (FORE @F) [20]
(1) ¥R fashE =oS HE? WL H.
(2) UORMEANE @iaA gaden Afas e == &
(3) IR WANTeA Afde Hediel Wiew@au == &
(4) Tt oTfor wdew W WeW wESREn gEN O E w2 T &
[56501]-2079 5 P.T.O.




3, Wciadsh! HIVERE TeRl U W 400 =@ foar . [20]
(1) T uaEed=n e a fadd gieerst dfasR ==l &
(2)  SENTEHETSAT WIS SRR WEy A ST g1 s streerit
qeHid WAl o ATYH Grehvmdial f=al ¥ &

4, dreqd feor fag (Fvdd@ =mw) [20]
(1) SlR-TU Fay
(2) wreEm smfur fgan
(3) -Ufsh ToomRu
(4) EEEE : Uk Afaskehdi
(5) AR fsdaER
(vi) foaregsdter SitemRl gften.

[6501]-2079 6



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [5501]-2080
S.Y. B.A. EXAMINATION, 2019
PHILOSOPHY
(S-1 : Introduction to Indian Philosophy)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
1. Answer any four in 100 words each : [20]
(1) State in brief philosophical thoughts in Upanisadas.
(2) Explain with illustration nature of Upamana-Pramana.
(3) Explain in brief Bhuta-Chaitanyavada.
(4) State and explain in brief Dvadasanidana.
(56) Explain in brief Trigunas.
(6) Elaborate Prabhakar’s theory of error.
2. Answer any two in 250 words each : [20]
(1) Explain the nature of God according to Nyaya and state the
proofs for existence of God.
(2) Elaborate fully Vedanata’s doctrine of three levels of real
(Trisatta).
(3) Explain fully Satkaryavada of Samkhya.
(4) State and explain the nature and kinds of dravyas accepted
by Jainism.
3. Answer any one in 500 words : [20]

(1)

(2)

Critically discuss the nature of purusarthas accepted/rejected
by Charvakas.

State and explain four Noble truths.
P.T.O.



4, Write any four notes in 150 words each : [20]

(1)
(2)
(3)
(4)
(5)
(6)

Extra-ordinary perception

Sammvara and Nirjara

Nature and kinds of Bheda according to Madhva
Anupalabdhi Pramana

Tanmatra and Mahabhutas

Classification of Indian Systems.

(WISt ®aIa)

9% : 9 q™ THRUT TTOT : 80

(iii) W3 ZUSH UYAUlAR] TRE.

1. RV AR Yl 100 ISid SW ol : [20]

(1)
(2)
3)
(4)
5)
(6)

USRI difcares faeR diesmma 9.
SUHE YHIUM TEd HRE TR H.
YA-JagaR e T H.
BRI digehd T .

o faga diedm W= &

JUTRY  HIHTHehT= Yoo,

2. HIUEE Q=] YAl 250 IeIid I T [20]

(1)

(2)
3)
(4)

[6501]-2080

MECYHER 3™ e TR Hed ARGy 399Ul fagiare!

feoiel  gfokaare &L
dgr ey e faga gfewr fave wa.

= [N fa =~ LN ~ .
SAQRIAIA Al Radedl  gedld Ay afor SR HU[A &5 ol

2



3. RIUERE TRl U™ 500 &M S A : [20]
(1) = TIAM WihRerel 0T TrepReiedr ematet fafheas ==l .

(2) ¥R AFEE WA W H

4, HUERI TRTR YAh! 150 @ fear = . [20]
(1) 3Tclifher ga&
(2) GeR smfor fsi1
(3) WEEEE WA WS WEY S YEHR
(4) STl gHMO
(5) TN ewfor R
(6) YR T TR

[5501]-2080 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5501]-2081

Time

S.Y. B.A. EXAMINATION, 2019
PHILOSOPHY

(Special II : Introduction to Western Philosophy)

(2013 PATTERN)

: Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]

(1)
(2)
(3)
(4)
(5)
(6)

Explain Heraclitus’s views about the nature of reality.
Why is Descartes called a dualist ?

What is absolute idealism ?

State in brief St. Aquinas’s views about the nature of God.
Explain Plato’s concept of form.

How does Locke distinguish between primary and secondary

qualities ?

2. Answer any two of the following questions in 200 words each : [20]

(1)

(2)

3)
(4)

Discuss Aristotle’s notion of substance and its significance for
his metaphysics.

Explain the way in which Kant synthesizes rationalism and
empiricism.

How does Plato explain the relation between forms and particulars ?

Give an exposition of Hume’s views about knowledge.

P.T.O.



3. Answer any one of the following questions in 400 words each : [20]

(1)  Elaborately discuss St. Augustine’s views about God’s relation
with the world and man.

(2) Discuss Berkeley’s immaterialism in detail.

4, Write short notes on any four of the following in 50 words each : [20]
(1) Tabula rasa
(2) “Man is the measure of all things”
(3) Theory of fourfold causation
(4) Noumenon
(6) Spinoza’s monism

(6) Plato’s concept of soul.

(W& TUTa)
9% : i a™ THUT TUT : 80

1. Teiicisl IR |/ Y9l S TSl 100 V=i faw [20]
(I) IOl WEUEEdd fleeed 9 faeR ww #A
(i) <whd I fgavoEt &1 Wed W ?
(iii) ‘oo fugR’ WS wE ?
(jv) ZTAT=A WEUEEad dd ifeaam I faur diedda mwen
(v) WA A ABR' F Gheu T W H.
(vi) TAfHE ST S TUIYHIT Al HI YRR Hleh w7

2. WU HIVAEl dF UIET SW YoH! 200 Vg fael [20]
() SRl a=t =3 & wogw oo <= SR e Aew
= ==l A
(ii) e HIM YR FlgaQ MU AIHGER qd THARO Had 2 d
e h.

[6501]-2081 2



-

(iii) R owf faftre a% adiad §6Y @S9 W HEd 2
(jv) YA I& FHAfOEFS foER T w4

3. Wladsel HIUAE Tewl U9 SR 400 vgid ferer . [20]
(() TR S ST HHE AARN R GeY SR Aeed= Hd SR
g foem=n ==t %L

(ii) Whol IqrAT STSSdREl Gfa&R 9= .

4, WEAUHRT FUAE ARTR TR 50 VSid Al aa fagr ;o [20]
(@) ‘Tgen uEr’
(i) ‘wra ¥\ Ud e ufEm e R
(i) =qdY HRUaEn g
(fv) STHaTdd &
(v) oA T TEHdEarR

-

(vi) R AT ST HHEI

[5501]-2081 3



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat
No.

[5501]-2084

S.Y. B.A. EXAMINATION, 2019
MATHEMATICS

(MS-2 : Number Theory and Computational Geometry)

Time :

(2013 PATTERN)

Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt each of the following : [16]

(@)
(b)

(c)

(d)

(e)

()

@)
(h)

Prove that (a, a + 2) = 1 or 2 for every integer a.
Does the congruence equation 20x = 4(mode 30) have a solution
in integers ? Justify.

Show that 3 is a quadratic residue modulo 13.

For what real number x, is it true that [a, b] = [x] + 3 ?
Write the transformation matrix for reflection through the line
y = X.

Write a matrix of orthographic projection on the plane
X = 0.

Define foreshortening factor.

Write the parametric equation of a Bezier curve with three

control points.

P.T.O.



2. (A

(B)

3. @A)

[6501]-2084

Attempt any one of the following : [6]

(a) Prove that if g is the greatest common divisor of b
and c¢, then there exist integers x and y such that
g = (b, ¢) = bxy, + cy,.

(b) Show that 7|3***! + 2"*2 for all positive integer n.

Attempt any two of the following : [10]

(a) Find the value of d(180), c(180), u(180), w(180).

(b) What is the last digit in the ordinary decimal representation of
3400 9

(c) How many solutions are there to the congruence equation

x2=-1 (mode 61) ? Justify.

Attempt any one of the following : [8]

(a) If F(n) = Zf (d) for every positive integer n, then show
d|n

that f(n)= Y wd) F(ﬁj
dln d

(b) If x, y, z is a Pythagorean triple, then prove that at

least one of x, y, z is divisible by 5.

2



(B)

4. (A

(B)

[5501]-2084

Attempt any one of the following : [8]

(@)

()

Let L be a straight line with equation y = mx + k. If

L is transformed to the line L* by a 2 x 2 transformation

a b
matrix [T] :[ ] Then prove that equation of L* is
c d
y* = m** + k* where m* = b+ dm and k* = k(M]
a+cm a+cm

Write an algorithm for reflection through an arbitrary plane

in space.

Attempt any one of the following : [6]

(@)

®)

Find concatenated transformation matrix to create the rear
view of an object.

Rotate the line segment between the points A[2, 4]
and B[5, 7] about the point C[3, 1] through an
angle 60°.

Attempt any two of the following : [10]

(@)

®)

(c)

Define perspective projection. What are the properties of
perspective projection ?

If Byl2, 1], B[4, 4], By[5, 3] and B4[5, 1] are vertices
of a Bezier polygon, then find P(0.7) on the curve. Also
find P’(0.3).

Show that the combined two-dimensional transformation first
reflection about X-axis and then about the line
y = —x 1is identical to rotation about the origin by an

angle 270°.
3 P.T.O.



5. (A

(B)

[6501]-2084

Attempt any one of the following : [8]

(@) Let p be a prime no. Then prove that x* =1(mod p) if
and only if x = 1(mod p).

(b) Let p be an odd prime. Then show that :

o (553

(ii) If @ = b(mod p), then (;)=(;}

Attempt any one of the following : [8]

(a) Write an algorithm to generate uniformly spaced 10 points

2 y2

i —+—==1
on the ellipse > 25

(b) The A ABC with vertices [3, —1], [4, 2], [2, 1] is first
rotated through 90° about the origin and then reflected
through Y-axis. Find the vertices of transformed

triangle.
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Time : 2

S.Y. B.A. EXAMINATION, 2019
(Vocational Course)
COMPUTER APPLICATION-III
(2013 PATTERN)
Hours Maximum Marks : 40

N.B. :— (i) Draw a neat labelled diagram wherever necessary.

(ii) Figures to the right indicate full marks.

1. Answer the following (any four) : [20]

(@)
(b)
(c)

Explain any 5 Mathematical Functions with syntax and example.
What is R.D.B.M.S. ? What are the advantages of R.D.B.M.S.?
What is the difference between SQL and PL-SQL ?

(d) What is E.R.D. ? What are the advantages of E.R.D. ?
(e) Explain Primary key and Candidate key.

2. Write short notes on (any four) : [20]
(a) 'Triggers
(b)  Group by Having Command
(c) Database Constraints
(d) Data types in Oracle

(e)

[56501]-2085

Update Command.
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Time :

S.Y.B.A. EXAMINATION, 2019
FUNCTIONAL ENGLISH
(VOCATIONAL STREAM)

Paper III

(Advanced Writing Skills and Introduction to

Electronic Media)
(Theory)
(2013 PATTERN)

Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

1. (A

(B)

(i1) Figures to the right indicate full marks.

(i) Write five meaningful words using letters from the word
‘knowledge’. [5]
Or

(i) Describe your friend using five adjectives. [5]
(i) Identify the register of the following paragraph and identify
its markers : [5]
The pollution of our environment can come in many different
forms. Some of it is invisible but it is happening all round
us. The main cause of air pollution is the burning of fossil
fuels like coal and oil. Two of the unseen air pollutants
are sulphur dioxide and carbon monoxide. The first comes
from power stations and home heating; the second from
motor cars. Even a tiny amount of sulphur dioxide can

harm plants and crops.
P.T.O.



2. (@)

(11)

3. (A

[5501]-2086

Air pollution can cause damage to thousands of kilometres
of vegetation. At the present time, forests in Norway and
Sweden are suffering from the effects of acid rain. This
is caused by sulphur dioxide from industrial chimneys in
Britain and the rest of Europe mixing with water vapour

over Scandinavia and then falling as acid rain.
Or
(i) Identify the style of each of the following sentences : [5]
(1) Silence, please !
(2) We are greatly honoured by your visit, sir.
(3) Let me pay for your tea today.
(4) On behalf of our college I welcome all the delegates
and participants on this occasion.

(5) Is it not our responsibility to keep our house clean

and our campus as also our country ?

Write a letter of application for the post of Assistant Manager
to Bajaj India Ltd., Pune. [5]

Or

You want to be a member of a public library of your city
for which they need your personal information. Write your

bio-data providing the same.

The principal of your college has formed a committee to know
various difficulties and expectations of the students of the college.
As the chairman of the committee, submit your report to the

Principal with reference to the following points : [10]
— Improvement in study room

—  Smart classroom



(B)

4. (A

(B)

(®)

[5501]-2086

— Canteen facilities

— Improvement in Gum facilities

— General cleanliness

— Appointments of class representative
— Celebration of days and youth festival.

The students of your department visited the Gram Panchayat/
Nagar Parishad that had implemented ‘Swachhata Abhiyan’
successfully. Write a report on your visit. [10]

As a compere of ‘Annual Prize Distribution’ of your college,
prepare the script of your compeering using the following
points : [10]

— Opening of the programme

— lighting the lamp

— felicitation of the guests

— Introduction of the Chief Guest

— Prize distribution

— speech of the chief guest

— Vote of thanks

Attempt any two of the following : [10]
(i) Is radio still a popular media ? Justify your answer.
(it) Write a note on the contribution of radio in social awareness.

(iii) “A radio artist needs to have a supreme mastery over
voice modulation.” Comment.

Attempt any two of the following : [10]

(i) Which programme of TV can help us in developing our
communicative competence in English ?

(iz1) Give the characteristics of TV as an audio-visual media.

(i) Which is your most favourite TV programme ? Why ?

3 P.T.O.



(@)
(i1)
(ii1)
(iv)

(v)

[5501]-2086

Attempt any three of the following : [15]

Discuss the popularity of TV as an entertainment media.
Write a note on the difference between TV and Radio interviews.
What is a social role of TV as a mass media ?

“Connecting people to the outside world instantly makes electronics

media so popular.” Explain.

Which medium, Radio or TV, would you prefer to motivate

young voters to vote in the next election ?
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S.Y. B.A. EXAMINATION, 2019
TRAVEL AND TOURISM MANAGEMENT

(Vocational Stream)
Paper III : (Tourism Marketing and Travel Agency Operation)
(2013 PATTERN)

Time : 3 Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (Around 50 words each). [10]
(i) Role of IATA
(it) Travel agency
(ii1) Importance of Packages

(iv) Elements of marketing

2. Write short notes on any four (Around 100 words each) : [20]
(i) Health certificate as travel certificate
(it) Marketing strategy in tourism industry
(iti) Tourism management
(iv) Railway services and facilities in India

(v) Format of an itinerary.

P.T.O.



3. Answer any three (200-250 words each) : [30]
(i) Different steps of cost calculation in tour package
(i1) Rental car/vehicle
(iii) Types of accommodation

(fv) Travel concession in roadway transportation

(v) What is UFTA ?

4, Answer in detail any one (Around 500 words) : [20]
(i) Different modes of transportation

(ii) Linkages of tourism with catering/nutrition.

[5501]-2087 2
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S.Y. B.A. EXAMINATION, 2019
RIS B C R ) I ML

TIAUA-11I

(v 7Bl # wer, faamua weRiar qer srae)

(2013 PATTERN)

g ;3 He qutich : 80

&

oAl :— () |t e aifraed €

1. (3)

(em)

(i) Tfedt 3R for@ wu si% wed & quis 21
(i) faum ‘&1’ qen fourm ‘9’ & SW @ @ Sw-Yhae # fafew)

faumr ‘e’
freafafed # @ fdl & W feufoel fafee - [10]
(1) =AU 959 &1 @&y
(2) fosmmm @ @™

(3) TS IfytEE, 1976

(4) food & YER|

Tfeert soielte U fesee &1 R 4 Jugn o W fa

STEAGEIE 1 SIYM HIMA i Y@ & gL I & FYAT AR

SHITIT | [6]
IreraT

A SoReieh, 26 f@mst AW, g0 411030 & 3R ¥ 10 MeoReX

iR 10 M WA & fou fefaw Sfear W fa g =1 smRw

T3 fafe)

P.T.O.



2. (31 ffafed 4 ¥ <l @9 w9 & SW waw § fafew - [9]
(1) R e iR -t o # F1 dAR® T 2
(2) = ux & s fafew)
(3) U % TWEY &l TR HiSC|

(4) oIeRE fFd Fed § 2

(am) fAfatea fom W fommm &1 9@ @R &iNT [7]
(1) o gleet
(2) TS HHe|
faamr ‘=’
3. (91 frAfafed sg=ss &1 & # ogaR sivT . [7]

Srecft Sdiel. Wia-Wiard, T6-TM™ Sied JEd. WY TedhR SR 3/ d

W T THUR AR TEed Yidiel Ssd Ydele JHdl. W @ 3569

YAdhToar=Al HEHR A0 S 3AUH URIUal o8 A el 0 i

TEGT 7 ST oodH IO Ydhled TE W W, FH o AN Al

MM d THeER aal, W= IEON, dh W M€ AT Hall
ared, d sfded THeiel UchRall. Holl Sfaemmd Thfd  fHeerd. g
d TS v feueuarErdt .

(am) f=fafed sig=e wfd-weiem & fogdi &1 wam & g i 9
fafew . [7]
focan of &1 o7 woqul & 1 =fgw) 3§ fogmneffst o= & fram
H b &Y Ted wen TRl fSu foomet w1 W osue ovH

[6501]-2088 2




4, (31)

(am)

(®)

[6501]-2088

T ¢ fouw fow =9=9a w@ § w0 fawme™ W sl o' &
T W ag wW o= fogwel W 9 Wl oM S sk focmnef
fm S & et & M R, 3Md ARI-TR W el TEE &
T IR w FO WA H USSR AT HAI-ART W Fd @ W
T foemedt #1 eumAty @ @ wifew) s foewnef sremEER @@
T 9 focnefi-sna &1 wefhd A ¥ A 7 IEEEE B T A focmnef
# & fgw o Afgw IR onfoew fowm & & & Twar

AUk Helfdedad H ‘Hfeen fgq’ omaifsa feean o 3@ wed #
AEeR & fou fOd IR wifsw) [6]

(1) Bearer

(2)  Deadlive

(3)  According to priority
(4)  Defendant

(5) Financial stability

(6) Identification mark
(7)  Duty on

(8) Squad.

freafafed & @ f&d urer & faw ot witafyes o fafew (5]
(1) serEr T

(2) fasird

(3) YXMER

3 P.T.O.



(4) UgIH fo=
(5) Tehd I
6) Tesa

(7) HHE
(8) &g M|

5. frafafed & @ fesl @9 w feufrt fafeg . [18]
(1) TSIl 1 &y
(2) AR & YFR
(3) WfqHeNerehdl & IO
(4) WAEHER g€ & Y
(5) 9§ fo=fa |

[6501]-2088 4
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S.Y. B.A. EXAMINATION, 2019

(Vocational Course)
COMPUTER APPLICATION-IV
(2013 PATTERN)
Time : 2 Hours Maximum Marks : 40

N.B. :— (i) Solve any four questions.
(ii) Draw a neat labelled diagram wherever necessary.

(iiz) Figures to the right indicate full marks.
1. Write short notes on : [10]
(1) Waterfall model
(2) Spiral model

2. What is Pseudo Code and Structured English ? [10]

3. What are Decision Tree and Decision Tables ? What is the difference
between Decision Tree and Decision Tables ? [10]

4, What is Data Dictionary ? What are the uses of Data Dictionary ? [10]

5. Explain System Development Life Cycle with diagram. [10]

6. Explain Data Flow Diagram (D.F.D.) with all required
components. [10]

[5501]-2090
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